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1. 13.00 23.21%
REEIC] 18.50 33.03%
SIREIES] 13.50 24.16%
EIRESI 11.00 19.60%
INT — 56 100%
2 gedl & UHRAR AHIR —
3. =T geq gfrerd PESING] RER]
1. | TGS 16 Vs 8 31.37 23
2. | Raa = 10 s 5 19.61 12
2. aléaqaq Hdb 8 1 8 15.69 15
3. | TRIAD 12 1.5 18 23.53 65
4. | SrEISTRT g 3 3 9 5.88 35
5. | MeaTH® 2 4 8 3.92 45
IR 51 56 100 195
fdhey AT : W8 '@ 9 'S H B
3. fawg avg &1 PR —
sl [EERIEES PR | Tfaerd
1 | EXCEPTION HANDLING IN PYTHON 5 8.93
2 | FILE HANDLING IN PYTHON 3 5.36
3 | STACK 55 9.82
4 | QUEUE 55 9.82
5 | SORTING 65 11.61
6 | SEARCHING 65 11.61
7 | UNDERSTANDING DATA 5 8.93
8 | DATABASE CONCEPTS 6 10.71
9 | STRUCTURED QUERY LANGUAGE (SQL) 5 8.93
10 | COMPUTER NETWORKS 2 3.57
11 | DATA COMMUNICATION 35 6.25
12 | SECURITY ASPECTS 25 4.47
Total :- 56 100%
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.3 I SPIS /ST SPIg Skl S CEICH SHIYANT / STfaefaa PrereT / Ffeteer IRT
1 EXCEPTION HANDLING IN PYTHON 12) | (1)
2(2) 1.5(1) 5(6)
2 FILE HANDLING IN PYTHON 7(1) 1(1) 1.5(1) 33
3 STACK 12) 1.5(1) 3%(1) 5.5(4)
4 QUEUE (1) | %) 1.5(1) 3*(1) 5.5(4)
5 SORTING 7A(1) | (1) 11) | 1.50) 3%(1) 6.5(5)
6 SEARCHING %) | %) 1.5(1) 4=(1) | 6.5(4)
7 UNDERSTANDING DATA (1) 1.5(1) vi(1) 1D 1.5(1) 5(5)
8 DATABASE CONCEPTS (1) vy | 1D 4*1) | 6(4)
9 STRUCTURED QUERY LANGUAGE (sQL) | %(1) vy | 1D | 150) 1.5(1) 5(5)
10 COMPUTER NETWORKS (1 | 1) 4(1) 2(4)
11 DATA COMMUNICATION (1) way | 1M 1.5(1) 3.5(4)
12 SECURITY ASPECTS (1) 1.5(1) v4(1) 2.5(4)
T 7(14) | 3(6) 3(2) 12) | 24) | 88) | 755 75(5) | 6(2) 31 | 82 | 56(51)
13(22) 18.5(19) 13.5(7) 11(3)
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together in continuity.



Tug — (30)
SECTION-(A)

(1) (i) -« UIITH DI I B AT error KA & AT EXCEPION Bovvrrorerreroe

(@) Created (¥) Asserted

() Triggered (%) Raised

When an error occurs during the execution of a Program, an exception
is said to have been .........cccceveuneennee

(a) Created (b) Asserted
(c) Triggered (d) Raised

(i) Readlines( ) HUS ATTH TTT Bovvrrrororrressen

(31 String (&) List
() Dictionary (<) Tuple
Readlines( ) method return ...........cccveveeneeeeenne...
(a) String (b) List
(c) Dictionary (d) Tuple
(iii) Stack H T elements®I TOP H Siled &I Ped B |
@& POP (&) PUSH
(@) INSERT () (a) (and (b) both
.............. adds a new elements at the TOP of the stack.
(a) POP (b) PUSH
(c) INSERT (d) (a) (and (b) both

(iv) AT Storage fSarsw =

(31 Hard disk (@) SSD

(%) Pen drive (%) all of the above
Commonly used storage devices .

(a) Hard disk (b) SSD

(c) Pen drive (d) all of the above

(v) =1 # 37 STere) & T § —

(31) ST IR AT & HO Ue] PI UM HRar € | 5 Al aee 91 el
AT 7 |

(@) g ARNe Igqed & forw SeT &l S8 H_ATL 9941 3R \Ug far I = |

() IE il M MR iR Sifeerar &1 8 Ahdr 2|

(]) SURIad T |

V2

2

V2

V2

V2



Which of the following properties belong to the database?
(A) A database is a representation of some aspect of the real world also called mini
world.
(B) It is designed, built and populated with data for specific purpose.
(C) It can be of any size and complexity

(D) All of the above.
(vi) SQL # e wHIvs | <add HUE & 0N Bl gl Sff Fohall & | Vs
@1 Alter Table () Modify Table
(&) Change Table (%) Hide Table
In SQL, which command is used to change a table's storage characteristic?
(a) Alter Table (b) Modify Table
(c) Change Table (d) Hide Table
(vii) A computer Network- Vs

(37) I HFYCR D BISTI 3R IHD TCHI B FIT ¢ |
(@) I8 TR I §RT IRER IS 8 T |
() FHTEA! IR FARIT BT AT B B AT <l = |
(T) SRIad |47 |
A computer Network-
(A) It is a collection of hardware components and Computer?
(B) It is interconnected by communication channels.
(C) Allows sharing of resources and information

(D) All of the above
(viii) Bandwidth @71 #7a7 7T &— )
(31 Byte per second (¥) Bit per second
(9) Hertz () Amperes
Bandwidth is measured in -
(a) Byte per second (b)) Bit per second
(c) Hertz (d) Amperes
(ix) Malware @1 g ax Sl fBefl HHa0T & A & ufdafa a1 dae 781 995 = | Ya
(31 Trojans (¥) Worms
(¥) Rookits (%) Virus
Identify the malware which does not replicate or clone through an infections
(A) Trojans (B) Worms
(C) Rookits (D) Virus
(x) ............................ TUdh UIg object g Sl Udh error BT TR HdT B | Va
(37 Interpreter (&) Compiler
() Exception (%) Module
..................... is a python object that represents an error
(A) Interpreter (8) Compiler

(¢) Exception (D) Module



(xi) Stack 3TTHROT BT B

@ FIFO (@) LIFO
) FILO (<) LILO

Stack follows :-
(A)y FIFO (8) LIFO
() FILO (o) LILO

(xii) Stack 3R Quene TMI AN &1 & foly fhd ST WA & ITANT fHaAT ST |
(@) Stack (¥) Array
(&) Quene (¥) Deque

Which data structure can be used to implement both stack and quene
(a) Stack (B) Array
(©) Quene (D) Deque

(xiii) 579 &7 I & AlfIdT § UH 2 Slot H map B & df $H H&T of1dl ¢ |
(@) collision (&) Sorting
(7 Searching (%) Merging

When two elements map to the same slot in the hash table its is called.
(@) collision (&) Sorting
(7 Searching (%) Merging

(xiv) fHdl @ & GUB DI [T 92T 9+ @+ I gAaRerd &1 1 Ufdhar
HT el ST 2 |
(@ Searching (&) Sorting
(7)) Rearranging (3) Merging
The process of placing or rearranging a collection of elements into a particular
order is known as

(A) Searching (B) Sorting

(¢) Rearranging (D) Merging
(xv) JMAR TR IWINT BT dlell storage device

@n SSD (&) Pen Drive

(@) HDD (%) All of the above
Commonly used storage devices,

() SSD (8) Pen Drive

(¢) HDD (D) All of the above
(xvi) F=forRaa & | SIF9T 9e BICT caad 2 |

(31) WAN () MAN

(& LAN (%) None of the above
Which of the following is the smallest network ?

(A) WAN (8) MAN

(¢) LAN (D) None of the above

Q2. Fill in blanks
(i) ...................... search fbdl 91 elements &1 ‘Es‘ﬁ@ ﬁ:ﬂ, Udh R H Udh
A B elements &1 STE BT © |
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(ii)

(iii)
(iv)
(V)

(vi)

(vii)
(viii)

(ix)

...................... search checks the elements of a list, one at a time, without
skipping any elements.

Bl faey 9 H T@l & WUT B YA FARAT BRA DI AT Bl o EZENIGI
g Ya
The process of placing or rearranging a collection of elements into

a particular order is known as ..........cccceeeveeevuveennnen.

Front 3R Rear &1 SUIRT ...ooocooooee BT /AT AT 3 H fBar e 2 !
Front and Rear are used to indicate begining and end of ...............
.............................. Udh Python object g I Ud error ®I gaTal = Ya

....................... is a python object that represents an error.

...................... Udh YHMH dT U8 % Sl data base @I SUIRT T maintain B & %—I’Q

STANTHAT BT FeH I ¢ | )
A ... is a collection of programs that enables users to rate mantain and use a
database.

fooedY e & IS fARIYdT foreign key ® | IfS I8 {H) 90 Have H .......... key 8 %
An attribute in a relation is foreign key if it is the .............. key in any

other relation.

FTP 316 BT 3 & oo . Ya
The term FTP stands for ................. :

......................... HF I3 edd BT AU 2 | Ya
........... is a collection of many separate networks.

VOLTE @7 31ef 8 Ya
VOLTE stands fOr ........cccceevviiiiiiiiiieeeeee,

...................................... Ud legitimate software g o Udh IR il 8l 5 & 9TS virus

Pl INE B HAT 2 | Vs

................ looks like a legitimate software which once installed acts like a virus.

Q3 ¥ I vl & SR fafag |

Answer the following questions.

(1)

(ii)

(iii)

(iv)

Python # ID Error Exception Goxe HIefH P S B P 1
How to catch ID Error Exception in Python ?

Python # &9 Open () &1 SUANT &F HA & ? 1
When we use open () methods in Python ?

Data file ¥ Data @ Bytes(n) &I fAfde AT BT g & foIv fd ®waRM &1 SUART fhar
T B | 1
Which Method is used to read a specified numbers of bytes(n) of data from a
data file.

forell e § BT @ A AL § & wE 2 [90, 120, 110, 115, 85, 90, 100, 110,
110]. B3 & SHarg &1 ARIT T Mean ST HIFTT | 1




Q4

Q5

Q6
Q7
Q8
Q9

Assume that height (in cm) of Students in a class are as follows [90, 120, 110,
115, 85, 90, 100, 110, 110]. Find Mean or average height of the Class.

Database schema @1 87
What is Database schema?

(vi) SQL # & update statement & JART ¥ ofd & ?

When we use Update statement in SQL ?

(vii) Computer network & ®I3 Ui AT foIRay |

Write any five components of computer network.

(viii) Transmission Media @1 8ra7 € ?

What is transmission Media ?

gug — (4)
SECTION -(B)

Catching an exception &I A=Y |
Define the term Catching an exception.

1 foRg BUT (a) T (b)H T IR & ?
(a) p =open("Practice. txt", "r")
p. read (0)
(b) With open("Practice. txt", "r'") as p:
X =p.read( ).

What is the diffence between the following set of statements (a) and (b) ?
(a) p =open("Practice. txt", "r'")

p. read (0)
(b) With open("Practice. txt", "r") as p:

x = p.read( ).

Stack WR Y ST FH+1 dTel ATRT AR T 27

What are the basic operations that can be performed on the stack?
Deque ScT 23U {6 UBR ¥ SR ST €I8U ¥ 37T & 2

How is queue deque data type different from deque data type?

T foReE I 3faRIE! A H HHdE DI & (oY 99l Aic YIRH o |
Write a bubble sort algorithm to sort a list in descending order.
Collision @1 87

What is collision?
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Q10 Structured data 3iR unstructured data # 3R ferRay | 15
Differentiate between Structured data and unstructured data.

Q11 vs w<re & A T &1 amowe (Q(ifesrass #) 34, 34, 27, 28, 27, 34, 34
fear rar 81 9 9amE @1 standard deviation SiTd ST | 15
Consider the temperature (in Celsius) of 7days of a week as 34, 34, 27,

28,27, 34, 34. Find the standard deviation temperature.

Q12 Single Row Function 3R Aggregate Function # &3 31 3R ferfay | 15
Write any two difference between Single Row Function and
Aggregate Function.

Q13 3w SQL Statement T 3T3CYC %I'@'Q | 15
(a) SELECT POW (3,4) (b) SELECT LENGTH ("INDIA")
Write the output produced by the following SQL Statement.
(a) SELECT POW (3,4) (b) SELECT LENGTH ("INDIA")

Q14 HTTP w fewoft farRey | 15
Write short Note on HTTP.

Q 15 Dos 3R DDos 3ic® # 3R fofRau | 15
Differentiate between Dos and DDoS attack.

Qg — (|)
SECTION -(C)

Q16. Stack &1 STINT &RD U6 ReT & Rad # foras &1 v wim forlRey | 3

Write A program to reverse a string using stack.

arerar / OR

((@4+3) * (4/2) ) + 2 SWRI AeafeRT B1 SYLNT B §U | Stack data structure BT STINT
PP PISH! B e B oIy RO X =0T gfshar fwand |

( @+3) * (4/2) ) + 2 using above Expression show step by step process for

matching parentheses using stack data structure .

Q17. Python ¥ v g forRau s R palindrome & AT 81 | 3
Write a Python program to check whether the given string a palindrome or not
using deque.

arerar / OR
Quene 3R stack @1 eI BN |

Compare and contrast queue with stack.



Q18. T® &I H Y & AT BTF &I A STl ST 8 | U Y ford ST UAd A &l
RIET HH H TR PN |
During admission in a course, the name of the students are insert.
Write a programe to store every name in ascending order.

3rerar / OR
fsfT List @ ascending order § ®Hag &= & folU selection sort & algorithm fore |
Write a selections sort algorithm to sort a list in ascending order.
Tug — ()
SECTION -(D)

Q19 Linear €9 UUTH &7 IUANT R g Swilde deg 8 &I af g List [42, -2, 32, 8,
7,9,42,3,8,44] 5 @ol | I8 DI Position [G@RIATT 3R $A®BT a1 31 EFTT?
Use the Linear search program to search the key with value 8 in the list
having duplicate values such as [42, -2, 32,8, 7,9, 42, 3, 8, 44]. What is
the position returned? What does this mean?

31erq1 / OR
U% Num List H 7 elements® [8, -4, 7, 7,0,2,9] £ Num Lisy § 5 17 @I 2 |
Linear 9 YeTIRH HT WINT A gJ $HD WU ford |
Assume that the num List has seven elements [8, -4, 7, 7,0,2,9] so n=7.
We need to search for the key num List =7. Write The step by step process
of Linear search using Algorithm.

0.20 DBMS & §& 3@ERN & quiF BTy |
Describe Key Concepts of DBMS.
3ferar / OR
Relation @ 9 Hgqel Ul &7 quiF HIF |
Describe Three important Properties of a Relation.

4
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3aer — 3 gv¢ 15 fAde quries — 56
1, I5aYT TG IAPIR —
%4 SEGED SICRIN gfarera
1. SISl 13.00 23.22%
PRECEL 18.00 32.14%
3. | srfyafad 14.00 25.00%
4. HifeTdhd 11.00 19.64%
ART — 56 100%
2. Uodl b JHRAR JPIR —
3. Rereal) geq gl BT | Y BT | G
1. El?\j'f%r% 16 Y 8 14.29 31.37 23
2. | Rad == 10 Y 5 8.92 19.61 12
2. \?HI?IEIQ?IQ Hb 8 1 8 14.29 15.69 15
3. | TERTHD 12 1.5 18 32.14 23.53 65
4. | ISR UH 3 3 9 16.07 5.88 35
5. | faeTH® 2 4 8 14.29 3.92 45
T 51 56 100 100 195
fdmey AT : @vs ' 7 'S H B
3. fawg avg &1 PIR —
Eaksl [EERICES PR | Tfarerd
1 Querying and SQL functions 20 35.71
2 Data handling using pandas-I 8.5 15.71
3 Data handling using pandas-II 8 14.29
4 Plotting data using MAT PIOT LIB 7.5 13.39
5 Internet and WEB 6 10.72
6 Societal Impact 6 10.72
Total :- 56 100%
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. IeIY IhTS /SU SDlS Elki a9 SFIART / 3fefad DT / Aifeteherl AT
i i 1% 1Y
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Yrs — I

SECTION-A
(i) saL ¥ count function @I FEIT < B | iz
(A) Values (B) Distinct Value
(C) Group by (D) Columns

The count function in SQL returns the numbers of

(A) Values (B) Distinct Value
(C) Group by (D) Columns
(il) SELECT ROUND (153.678, 2) < & &1 RS 81T ? Y
(A) 153.6 (B) 153.67
(C) 153.68 (D) 153.7

What will be returned by the given query ? SELECT ROUND (153.678,2)

(A) 153.6 (B) 153.67
(C) 153.68 (D) 153.7
(iil) R digital foot print fHhd® §RT I9=IT ST AHhaT & | Ya

(A) Visiting any website  (B) Sending email
(C) Positing online (D) All of the above
Our digital foot print can be created by -

(A) Visiting any website  (B) Sending email

(C) Positing online (D) All of the above
(iv) PANDAS & 37ef 8 Y
(A) Panel Data (B) Panel data system

(C) Pandas Data Structures (D) Pandas NumPy Data Structure



PANDAS stand for.
(A) Panel Data (B) Panel data system

(C) Pandas Data Structures (D) Pandas NumPy Data Structure

(v) H=IMRI & e | Heg AT S B & (oY e werd &1 WA fdhar Sir 21 Y
(A) Mean () (B) Median ()
(C) Mode () (D) Count ()

Which function is used to find the middle numbers from a set of numbers ?

(A) Mean () (B) Median ()
(C) Mode () (D) Count ()
(vi) Plot ST ARSI AR -1 & oIy WART fhdr STar € 98 © Y
(A) Bar (B) Line
(C) Histogram (D) Box plot.

Plot which is used to given statistical summary is

(A) Bar (B) Line
(C) Histogram (D) Box plot.
(vii) Matplotlib wATfeT AATdsNT & ? Y
(A) 1D (B)2D
(C) 3D (D) All of above
Matplotlib is .......... plotting library
(A) 1D (B)2D
(C) 3D (D) All of above
(viil) 99 UST g 99T BT SYANT R g1 Sl & 7 Y
(A) XML (B) JAVA

(C)C (D) HTML



Web pages is created using language

(A) XML (B) JAVA
(C)C (D) HTML
(ix) fefStea ug forg wufed g & ? Y
(A) Temporarily (B) Permanently
(C) For 7 days only (D) For 3 days.

Digital footprints are stored ..............

(A) Temporarily (B) Permanently
(C) For 7 days only (D) For 3 days.
(x) FreforRad § 3 {59 topology # Acdd @I GRI oWl H del drell Udb ddbdi
Sl Bl & | Y
(A) Star (B) Bus
(C) Mesh (D) Tree

Which of the following topology contains a backbone cable running though the whole
length by the network .

(A) Star (B) Bus
(C) Mesh (D) Tree
() — B B ST fom /a1 galRia &= @ fore fear Sirar 2 Y
(A) Showing (B) show
(C) Display (D) screen
.................. Function is used to display figure chart.
(A) Showing (B) show
(C) Display (D) screen
(xii) fSHTee ®Y A plot () TP ... e g4 & | Y
(A) Histogram (B) Bar graph

(C) Line Chart (D) Pie Chart



By default plot () function plots a............. :

(A) Histogram (B) Bar graph
(C) Line Chart (D) Pie Chart

(xiii) Aggregate function Bl & — Y
(A) Max () (B) Min ()
(C) Sum () (D) All above

Aggregate functions are

(A) Max (B) Min
(C) Sum (D) All above
(Xiv) Record I TN B+ & U SUART foham S aTeT HHTS @ | Y
(A) Update (B) Add
(C) Update all (D) Nun of above

Perform's pattern the command used for modifying the record is -

(A) Update (B) Add
(C) Update all (D) Nun of above

(xv) RABTH A UT G & U I A sqL®! I8 BT SYANT fhdr SIrar g | Y
(A) Maximum (B) Most
(C) Upper (D) Max

Which SQL keyword is used to retrieve a maximum value ?

(A) Maximum (B) Most
(C) Upper (D) Max

(xvi ) Fr=ferRaa % & SQL aggregate function ® | iz
(A) LEFT (B) AVG

(C) JOIN (D) LEN



Which of the following is a SQL aggregate function ?

(A) LEFT (B) AVG
(C) JOIN (D) LEN
Q 2 (i) [T 1 Sicad H & HAYSR DI FHal Al T ... %

The main computer in any network is called as ............... .

(1) J— HIRIEI JANIRHT Ugd & B 7 | %

..................... is the act of unauthorized access to a computer.

(iii) TP SU NI U saL3rfaafad 7 1 O™ .......... U 3T SQLHIT H I@T AT 7 | Z
A Sub query is an SQL expression that is placed ................. another SQL Statement.

(iv) Select query T .o clause 5 URYIH H ®del Swal Uldddl &1 TIT B Bl

AT <l & S U fAfdss o @l g1 el & | vz
The ............. clause of select query allows us to select only those rows in the result that satisfy a
specified condition.

() 36 BT SYART ATfTdmT #H BT record BT AaHd Bt & forv fovar Sirar 21 %%
The term ............... is used to refer a record in a table.

(0 P— g BT SYART ATfeTdT H B field B FafHd dx & forv foar Smar 21 %
The term .......... is used to refer to a field in table

(vii) fr=fT dler % P AR foreign key & IfT a8 fHdl) o=y dder & .. ol gl Y
An attribute in a relation in foreign key itis the ................ key in any other relation

1) J— & SUART data frame  LATH A URId &1 & fog foar s 81 %
................. is used to display the minimum valus from the data frame.

(S — Td computer & SIl 3 UIITH AT HFYE HI HAY & HRAT & | )
A is computer that provides serious to other programs of computers.

(x) Digital foot print ............... Y ¥ GBI B T iz

Digital foot print are stored .................. .



Q3 ¥ W gl & SR o |

Answer the following questions

(i)

Table

1

Name

Unite test

Maths

Science

S. St.

Hindi

English

Arvind

1

15

22

25

22

21

| vl & oIy SRfI=s §RT UTa <IAcH 3 UGRIA & & oY statement ol |

Write the statement to display the minimum marks obtained by Arvind in limit test for all subject.

(i) Missing value ¥ 30 &1 9T & 2

What do you understand by the term missing value.

(iii) "Rajasthan” ¥req # 3R STd &)1 BT SQL statement fored |

Write SQL statement to count alphabets in word "Rajasthan”

(iv) D1 SQL RewT war™ bl <) 1 RT & I I 9ull T g & dTg,

Ret oxa & SuanT fhar rdr 2 |

Which SQL string function is used to returns the given string after removing trailing white space

characters.

(v) Pandas &I §9cial &’ & oy ®Hie g ford |

Write command line to install Pandas.

(vi) Legend &T IT S23T & ?

What is the purpose of a Legend ?

(vii) [ topology H dddI ®del BT & Wil Q¥ "cdd H daldl © ?

Which topology contains a backbone Cable running through the whole length of the network?

(viii) 'Cyber Crime' & T Holeld & ?

Wwhat is meant by the term 'Cyber Crime'?

1




Wus q
Section B

Q4. SQL command & I~ 33CYC foTed | 1%

Write the output produced by the SQL Commands;

SELECT POW (3,2)

Q5. SQL TR | I~ 3M3cye ford | 1%

Write the output of the following SQL queries
SELECT RIGHT('SCIENCE!, 4);

Q6. Series @ IMMHR H 3T AT THSI © ° 1%
What do you understand by the size of Series?
Q7. Dataframe, 2D array ¥ & UdR 1 § ? 1%

How is it Dataframe different from a 2D array ?

Q8. SQL R ¥ Ieu~ 3r3cye forg ? 1%
Write the output the following SQL queries SELECT LENGTH ("Gurpreet") ?

Q 9. Data frame. quantile () @I TR &R | 1%
Define the terms Data frame.quantile()

Q10. Pandas fSS[eTeTgoe &I uiR9INT & | 1Y

Define Pandas Visualisation.

Q11. SQL TR ¥ I~ 3M3cye ford ? 1%

Write the output of the following SQL queries
SELECT RIGHT ("SCIENCE" 3)

Q12. JeTSS 3R 99 Ul H 3R g8y ? 1Y%
Differentiate between Website and web page.
Q13. VolP SHsIa ? 1Y%

Explain VoIP ?



Q14. Copyrights 3R Patents # 3f<R a3V | 1%
Write the differences between Copyrights and Patents .

Q15. Phishing 3iR Fraud, §—#al # 3R fe1lRay | 1%
Write the difference between Phishing and Fraud Emails.

YUs Y

Section C
Q 16. Single row function 3R Aggregate function H ®Is &I 31X feTfRay | 3

Write any two difference between Single row function and Aggregate function.

317dT / OR
HTAT 0T A MY AT FH 2 |

What do you understand by Cartesian Product ?

Q17.4T8 AIE & Ic &R Bl UR9INT & | 3
Define Plotting Pie chart.
3721d1 / OR
Plotting scatter chart &I IRYTYT & |
Define Plotting Scatter chart
Q18. Y& IEIEXVT ®I Al F Group by @1 @RI &I FHSIY | 3

Explain the concept of Group by with help of an example.

3721d1 / OR

Data analysis H AT U HecqUyUl JTHRN R 2
Why estimation is an important concept in data analysis?



YUs

Section D
Q19. 4
Table: Student
SCode SName SMarks SSubject

S01 GURPREET 82 ENGLISH
S02 ARVIND 54 MATHS
S03 MANDJ 45 COMPUTER
S04 RAVINEDRA 65 ECONOMICS
S05 NARESH 38 BIOLOGY
S06 SAKSHI 89 BIOLOGY

(A) student AR g1 |
(B) |l BT YR &N |
(€) WRON BT BTAT & I HAGAR TSR &N |

Table: Student

SCode SName SMarks SSubject
S01 GURPREET 82 ENGLISH
S02 ARVIND 54 MATHS
S03 MANDJ 45 COMPUTER
S04 RAVINEDRA 65 ECONOMICS
S05 NARESH 38 BIOLOGY
S06 SAKSHI 89 BIOLOGY

(A) Create Student table.
(B) Display the total number of student.
(C) Display Student Name in Ascending Order.

37e1dT / OR
Using the sale table from CAR SHOWROOM database
SALE
INVOICE Carld Cust ID | Sale Date | Pyment Emple Sale Commiss
No Mode Price
1001 D001 C0001 | 14-09- Online. E004 63247 10,000
2022
1002 S0001 | C0002 | 12-12- Credit Card | E001 590312 12,000
2021
1003 S002 C0003 | 15-01- Cheque EO010 604000 11,000
2022
1004 D002 Cc0004 | 11-11- Bank EOQO07 569982 11,000
2022 Finance
1005 EO001 C0005 | 01-02- Credit card E002 639310 11,500
2022
1006 S002 C0006 | 20-02- Bank EO0O07 620214 12,500
2022 Finance




famr arferar &

(A) T® TEDH §RT WGl T3 BRI & A&IT USRI DI |

() Il UTE® 1 faeh!l dTfeTdT | o A 3ff¥id HR WGl § df WAl T8 BRI & ATEH I8 S

3R AT yafRid |

Sale table from

Using the sale table from CAR SHOWROOM database

SALE

INVOICE Carld Cust ID | Sale Date | Pyment Emple Sale Commiss

No Mode Price

1001 D001 C0001 | 14-09- Online. E004 63247 10,000
2022

1002 S0001 | C0002 |12-12- Credit Card | E001 590312 12,000
2021

1003 S002 C0003 | 15-01- Cheque EO010 604000 11,000
2022

1004 D002 cooo4 | 11-11- Bank EO0Q7 569982 11,000
2022 Finance

1005 EO001 C0005 | 01-02- Credit card E002 639310 11,500
2022

1006 S002 C0006 | 20-02- Bank EO0Q7 620214 12,500
2022 Finance

(A) Display the number of cars purchased by each customer from the Sale table.

(B) display the customers Id and numbers of Cars purchased if the customer purchased more
than one car from Sale table.

Q20.

TABLE : PRODUCT
ltem Company Rupees USD
TV LG 12000 700
TV VIDEOCON 10000 650
TV LG 15000 800
AC SONY 14000 750

a1 TS AR Uisde & ot fforRad urserd code foTRau |

(A) SWRIGT AIfTBT & fTT data fram 999 & T |
(B) LGTV & IAfTHTHIS BT TR B & o1y |




TABLE : PRODUCT

ltem Company Rupees USD
TV LG 12000 700
TV VIDEOCON 10000 650
TV LG 15000 800
AC SONY 14000 750

Assuming the given table: Product. Write the Python Code for the following
(A) To create the data Frame For the above table.
(B) To display the maximum price of LG TV.

3ferar / OR
fr=1 aRafya T |
(i) Aeg (i) 9gtd (iii) AT et

Define the terms: (1) Mean, (ii) Mode, (iii) Standard Deviation.
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1, Igaed B IAPIR —
.. SEED PR PIRN
Bkl 32 40
PRECEL 24 30
3. | SEIYART / stfefaa 12 15
4. | DI /HAifeTddT 12 15
AT 80 100
2 gel & UHRAR ABAR —
9. = | ufd g (et @) | Gt @) | WA
1. | =TS 15 1 15 18.75 29.40 15
2. | Raa v+ 7 1 7 8.75 13.72 7
3. | SIfeTEeRTHD 10 I 10 12.50 19.60 20 @
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st fava ag PR | ufcerd
1 | N 99med : ddbfedd, URUT 3T+ favy & wU | fdar 06 7.5
2 | yqE HgTi<id [aaReRY 10 12.5
3 H?IIHIr'\‘ICb RIS 10 12.5
4 | oIS oflh YIIMA- Ud fdehi_y e 08 10
5 | MRAI YR AN uREd 08 10
6 | i feuReT va e 10 12.5
7 | O e 06 7.5
8 | dIH® U= 08 10
9 | RAR Y ARl g 08 10
10 | UIAITeh GEIR Td TarR 06 7.5
IR 80 100
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faewra
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9 | WRAT YR "YUl H5 | 2() 2(2) 40* | 8(s)
10 | WIS GER T Td@R | 2() 4(2) 6(4)
ART 15| 7 | 10 24 12 12
(15) | @) | (10) (12) @) () 80(51)
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fva—ate Tema
Subject - Public Administration
DHe—12
(@ws—"3")
SECTION-A
g 1 03 GUC 15 fAAe quTies : 80

et & fore wm= e —
GENERAL INSTRUCTION TO THE EXAMINEES:
1. TR FdUM 19 U UF U ik ifardd: ford |

Candidate must write first his/her Roll No. on the question paper compulsorily.

2. T g9 B At 2 |

All the questions are compulasory.

3. Q% U BT SR & g IR GRS 7 & ford |

Write the answer to each question in the given answer book only.
4. FF gl # T=IR®S WUs 8 I W4l & SR U A1 8 fordd |
For questions having more than one part the answers to those parts are to be written

together in continuity.



g0 1 i & T sgfieedia geal & @8l Reed &1 au7 HR SR gRasr d fifag |
Write the correct answer to the given multiple choice question in the Answer booklet.
(i) i gemed & g gxia fordl 18°?
(@) & O e (d) g faed
(%) S U fAelid (<) ofR ferd
Who wrote the book “Principal of public Administration?
(A) Frank J. Goodnow (B) Wodro Wilson
(C) W.F. Willoubhy (D) Luther Gulick
(i) R Ifeid & fPRigaser & IR MR 4p # wnfie =12 27
(31) Se= (@) ufshan
(|) =afaa (@) e
Which of the following is not included in Luther Gulick’s departmentalization base on 4p ?
(A) Purpose (B) Process
(C) Person (D) Planning
(i) = ¥ 9 GOR ufshar &1 98 B9 87

(31) TITH—» AT —p ATH —p UTID T —p TlaIfsHAT
@) G — AETHA_p  UTADHAT —p UfIfHIT—> FTRTH
() AT — UTIDHAT —p TRIHIT—» TRTD —p AT
(@) ur<aemdt — ufaforar—s fdfar — T8wE —p g
Which of the following is correct sequence of communication process?
(A) Sender—» Message —Medium  Received  —Heedback
(B) Message —»Medium —Received —Peedback -Sender
(C) Medium — Received — Feedback  —8ender  Ivkessage
(D) Received —» Feedback — Sender —Message IMedium
(iv) oI Sl TR & Jaocd™ § U ANiaeid 97

(31) Sy el @) Rt
(A) Bt gl (@) faerd

Who was the main guide in the revival of comparative public Administration?
(A) F.W. Taylor (B) Riggs
(C) Feral Heady (D) Willoubhy

(v) ®Ifcea @& sefems # i 27 1
(31) 15 3MferHRor (&) 180 U
() 60003 (T) SWRIaT a4

Which of the following is include in Kautilya's Arthshastra?
(A) 15 Adhikaran (B)180 Prakran
(C) 6000 Shalok (D) All of the above
(vi) TSR ART WRTG ARRATH BT 7TSH Ha gall ? 1

(@1) 1 STeRT 2014 (@) 15TTaRT 2015
() 1 ST 2016 (@) 1 ST 2017



When was National Institute for transforming India formed ?
(A) 1 January 2014  (B) 1 January 2015
(C) 1 January 2016 (D) 1 January 2017

(vii) T faer gRve & Tl | fAd 8l 87 1

(31) WRA & yI=HAT  (d) TN & qREEA
(@) ARA T Igufd () AT AN & Aey
Which of the following is not include in the member's of national development council ?
(A) India’s Prime minister (B) State’s Chief Minister
(C) India’s President (D) Member's of NITI Aayog
(viii) “TR&R faT 8 FU= 87 1

SIIPERSIS] @) faerrd
() TR AT () difc
“Government is finance” Who gave this statement ?
(A) Loyed Jorge (B) Willoubhy
(C) Hover Commission (D) Kautilya
(ix) ¥RT ¥ MY Folc YoTell I Y/ Hd A 85 1

(31) ST 1860 (@) ®HRaT 1860
(|) STa™l 1861 () ®HaNl 1861
When did the modern budget system start in India
(A) January 1860 (B) February 1860
(C) January 1861 (D) February 1861

(x) 9T “IERd DI T P MR 87 $UT 87 1
(31) T ¥Efd (@) ar= 9
(@) <. aie () Ta. \rge
“Recruitment is the foundation of stone of all personnel administration” who gave this
statement
(A) Glanne Stale (B) waren Benis
(C) C.Barnard (D) H. Simon

(xi) ARA W AP HaRl H Gell URART aer &1 RS fha iy @1 RwRe o gan? 1

(1) =ft. Pt (@) dfel Ta. YUed!
(4) Waplel HHCT (%) BIaT B
Open Competitive examination in public services was started in India. On the
recommendation of which committee ?
(A) Lee Commission (B) Paul H. Applebee
(C) Macale Committee (D) Hota Committee
(xii) “ATHIITE FAGT ATbdd B HIFEG & HAT 87 1
(@) @ifs gae (@) Sifel a-Te 3
([@) ¥ "R () g9 HiRkwA
Who gave the statement “Bureaucracy is the price of Parliamentary democracy?
(A) Lord Hivert (B) Jorge Barnard Shah




(xiii)

(xiv)

(xiv)

(C) Ramge Myore (D) Herbart Morison

fremedier ug b uafa &1 27 1
(@1) faems @) TSt
(@) FHrE faevs (]) SWRIad H 9 BIg 81
What is the nature of the post of district magistrate?
(A) Specialist (B) Generalist
(C) Generalist Specialist (D) None of the above
3N TUS TH SHIS BT RAMGAT fHaa SrjerT ) &) 7g? 1
(@) Ufel T4 Ul () @. HareH
(@) TS IRATr () SO, AR
On whose recommendation was the O&M unit established ?
(A) Paul H. Applebee (B) K. Santhanam
(C) A.D. Gorwala (D) G.S. Aayangar
S R AR BRI FHY B TS 7Y 1
(31) 1960 @) 1961
() 1962 (<) 1963
When was K.Santhanam Committee established
(A) 1960 (B) 1961
(C) 1962 (D) 1963
ffaRaa ot § Raw el @ g difog—
Fill in the blanks in the following sentences-
i) 7 IRERG TG Rigrl & e U9 & deEdl” & dsT o | 1
called traditional administrative principles as proverbs of public
administration .
i) SRBAT TR o I & <RI e A forar w7 1
The word bureaucracy is derived from the --------------- word bureau .
iil)  STAT HFERR BT o RIETT BHaR) &1 AHRIAS AT TR AMETRT 2 | 1
Douglas mcgregors --------------- theory is based on negative beliefs of employee.
iv) s TR WeE &7 IULH YANT Uh R A8 o gRT 1955 # fam T | 1
The term development administration was first used by on indian scholar --------------- in 1955 .
V) ATTDE oo H Urgg € b 99 Ual ga el § eiRerer &1 wrag R |Gl © (1)
Article  ----------m---- provides that the state can make provision for reservation in post and
appointments .
Vi) ORI H AT @ Ry ) BRada ot o @aven o gs 1 (1)
Three tier panchayati raj system started in rajasthan on the recommendation of --------------- .
vil)  WRA BT UG URIET R “URAM® TIH BT oo # Refa 21 (1)

India's premier training institute administrative staff college is located in --------------- .

ffaRaT sift IgoRI® Uedl & SR U ufdd # forfag |



Answer the following very short type question in one line
(i) T olip uged & 3E B—dhd 8 |
What are the 3E in new public management ?
(ii) T SAb ITEA & IR U el Bl qaqigd ?
Tell the four main goals of new public administration.
(iii) “TarsT” T 8 ?
What is grapevine .
(iv) wemafe e o d1g &1 Ry foafay ?
Write any two problems of administrative development ?
(v) IRT ¥ IRIeT IRART Farg b=y = | A forRag?
Write the name of all India services in India . ?
(vi) TR AT f9RT &1 UiRg & &R 2 ?
What is the main function of state planning department .
(vii) gTc SrfeIf o & T aref g ?
What is meant by budget enactment ?
(viii) RT H Foic e orfeus & ded Ud (a1 Sl & ?
Under which article the budget is presented in india ?
(ix) YISTIfO® BRUTferdT I T M3y 8 2
What is meant by political executive?
(x) AMTIS—fIRIvs f9are & 7 e HRY 9d18d ?

Give two main reasons for generalist specialist dispute?

(Tos—"9")
SECTION-B

frfeRaa ergerIeT® weal & S faRay |

Write the answer of the following short question.

4. STl IRBR I T FAT AT § 7
What do you understand by entrepreneurial government?

5. qMAG—dTfha / BT TRIGR F7 & FHsE |

Explain what is legal authority.
6. 3MqaTe T Rigla aaT 2|

What is the principle of exception?
7. 84S WIgHT gRT 94 T 0799 & bRl & IR § qadrsy ?

Explain the types of decisions mentioned by simon .

8. TAARAT Bl 3IfAdHed 3@ feog Ifafdfy & e a ?

Explain the "Design Activites" of Herbert simon .

9. he R & AR TAAHS Al URITAT B Yl B Iocid B |

Mention the trends in comparative public administration according to fred riggs .

10. AT YOI Y T fA9g Sargy |

Explain the main features of parliamentary system ?

1)

1)

1)

1)

1)

1)

@

@

@

@

@

@

@



11. NI AT I AT W P9 TeR A ® dasy | )

Explain how NITT aayog is different from planning commission .

12. UTaherd /1AM Affd & &1 &R 7 | )
What are the functions of the estimate committee .
13. AR TRIETT & R arcad § ? )
What is the meant by foundational training in public services .
14. g Uemafe GuR SR &1 W E RSN aarsy | @)
Explain the main recommendation of the second administrative reform commission .
15. JTORAT H JeId GoR 2] 6 T vt & e #§ fofay | )

Write briefly about the efforts made for administrative reforms in Rajasthan .

(@os—"4")
SECTION-C
far=forRag <rel SO weAl & SR forRau |

Write the answer of the following long answer.

16. Foigd &1 AT fAaedT Afed 1 2 We X T 48 9099 H yemaiTe o 4 Suanfi
Aisd 2| 3)
Explain what is bounded rationality model /administrative man model of decision making, Is it
useful model in administrative decision making at present .
S

YR T 2 59 Y9 gl Gelu § g I8 ASAAD dRIGIAd & o ®Ii aedd
gl

What is motivation briefly mention its main principles why is it necessary for organizational
efficiency.
17. TAPRT TIET RIT 2, S9! SUTRIdl & IR H foaR o aHssy | 3)
What is developlment administration . Explain in detail about its usefulness?
34T

I Ueras Ud JRmaie [Adr | i 9 ovs &1 4y 3, IR | |\sisy |
In development administration and administrative development there is a relationship between
chicken and egg . Explain in detail .
18. YR YOINIE &1 WS Ud oy Alaa 9 FeiRd 8 fawR 9 |9=msy | 3)
The organization and form of indian administration is determined by the constitution. Explain in
detail .

areran
TRAT yemaq fafewr favrad &1 uRumg 8 ®o9 R ysrer sifery |

Indian administration is the result of british legacy. Throw light on the statement .

19. ¥l UfhAT § Y ol AAT AART HI YHdHT TR YD SIfery | @3)

Throw light on the role of union public service commission in the recruitment process .



Adl

AR YIATeh |a1 H UfRieor & fafi=1 =Rl &1 |etg ¥ qard 8¢ W dY & qiRieror e
AT B BRIGAT H FEAT 7 |

Briefly explain the various stages of training in the Indian administrative service and explain that
training helps in the efficiency of public services .
(@-Ug—“a’ l)
SECTION-D
frafofaa feeners gt & SR fefag |
Answer of the following essay type questions.

20. AT Ha fAIRYRT Tq I faRURT Th—goR @ R 7, fade iy | (4)

Human relation ideology and classical ideology complement each other discuss .
3T

Uoed Al gRT fhd T Bl TR B—$hF & §996] SUATRTT &I e [ada
PIRTY |
What are the Hathorne experiment done by elton mayo and critically analyze its achievements .
21, IR INT & IgaI B 9AK gU 314 T A BRI H SHD! AHerdl BT AT D
qATHT N | (4)
Explaining the objectives of NITI aayog critically evaluate its success in planning work so for .
I

RIS | el s &1 S &d fhar Siar & 39 Afde g9raemell a9+ & foly g
A |
How is the work of district planning done in Rajasthan ? give suggestions on how it can be made
more effective .
22, ANTR® AMTBR U3 T & 70! AP DI AT BRI Y $AD! YA 91 Bg G=Ia aIfo] | (4)
What are citizen charter indicate its role and give suggestion to make it effective .
SIEI

AT — fI2us U g¥R & ORI T8 [Reb € B Bl WK PR gU QI & HEHl Bl I8
I =g [IaR oRgd |
Generalists - Specialists are complementary and not opposed to each other, clarify the statement
and present ideas to improve the relationship between the two.
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e — 12
fary —37f e
3afr — 3 gve 15 e quTids — 80
1' Y g—ﬂ J -
%9 SEGEP SICRIN gfarera
1. | 3= 25 31.25
EEELE] 27 33.75
3. | STFOAT / it 17 21.25
4. | PIITA /HifeTpd 11 13.75
IRT 80 100
2. Ul & YHRAR IR —
®. | U B UBR | YT DI | b Ul | ol | Ulawd | ufawd | Guifdd
4. Rred| g9 IFd | (B | Gl P | AR
)
1. | IS 15 01 15 18.75 | 29.41% 22m
2. | Raa wm= 7 01 07 8.75 13.73% 10m
3. | arfceTgaRIeT® 10 01 10 12.50 | 19.61% 20m
4. | TLIRIHD 12 02 24 30 23.53 36m
5. | SrESTRT U 04 03 12 15 7.84% 32m
6. | FrgemaT®-| 03 04 12 15 5.88% 75m
IRT 51 80 100 100 195
famen Iror
3. fawg avg &1 APIR —
st [ERRIEES! PR | Tfaerd
Yus—37 : FHRE JAIS: T IR
1 | gHfe srevmrs 08 10
2. | gar 3R dfebT 08 10
3. | 3mg 3R ISR 08 10
4, | G¥PNI golc 08 10
5. | Qell srelegaren 08 10
Grs—q : Afe v e uRay
1 | fe aiems ta aRed 06 75
2. SUHIIAT UdaIx 12 15
3. | ST TAT ANTd B S[GEROMY 12 15
4. | qoi gfereagt 10 12.5
IRT 80 100




DET — 12 vy — e quiis — 80
P, e 3PE /ST B Bkl e ST / 3rfaafad P19 / Aifetapdr AT
4.
THfe e uRed 9 I 1) | |1 1(1) 1(1) 3(1)* 8(6)
T BT RGih
qaT AR dfbr 1(1) 1(1) 2(1) 4(1y* 8(4)
M 3R ISR & feriRor 11 | 1) 2(1) 2(1) 2(1) 8(5)
SCINIENCRC ISP EICIS| 1(1) 1) | 1D | 1(D) 1(1) 3(1)* 8(6)
el ffaRAT—FHRE 3feiergeel () |11y 1(1) 1(1) 4(2) 8(6)
fte iR uRe 1(1) () | 21 1(1) 1(1) 6(5)
SUATHIT & FdeR BT RIgr 11y | KD 2(1) 1(1) (1) | 2(1) 4(1)* 12(7)
JATGA AT AT 1(1) 1(1) 2(1) 3(1)* A()* | 12(6)
1(1)
Ul UrugT doI TR H e 1) (1 | 2a1) 1(1) 21) 3(1)* 10(6)
55) | 4(4) | 8(4) 77 | 2(2)| 5(5)| 105) | 3(1) 1| 63) | 6(2) | 4(1) 31) | 8(2) | 80(51)
ART 8(8)
ECTt RS 1 | H Uep IriaR® fdbey B | Alc— PISd H dIEY B HE&T 3t I ger HNiax gt & dd 2 |
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Subject:-Economics
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e & forv wm= e —
GENERAL INSTRUCTION TO THE EXAMINEES:
1. el dueE 79w U UH X ATEB Ifardd: fored |

Candidate must write first his/her Roll No. on the question paper compulsorily.

2. I 3T B A 2 |

All the questions are compulasory.

3. U YT BT IR &l g IR GRAST 3§ &1 ford |

Write the answer to each question in the given answer book only.

4. R gl # aR® @vs § 99 991 & IR Db A1 & ford |
For questions having more than one part the answers to those parts are to be written

together in continuity.
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SECTION-A

90 1 §gfddedid We (Multiple Choice Question)
(i) M 3o & SH& & ©9 # fd ST 38—

(1) Rwer @) o
(%) Renre GIRINE
Who is known as the father of morden economics-
(A) Smith (B) Keynes
(C) Ricardo (D) Marshall
(i) AT 519 BT Ufdhel 28—
(1) o (@) =T
(%) o () AT

the return of human labor is-
(A) Rent (B) Interest
(C) Profit (D) Wages

(i) 791 & & T AR Hifad G 8-

(31) My @) M,
(&) M3 (3) Mq
Which of the following is the aggregate monetary resource-
(A) My (B) M2
(C) M3 (D) Mq
(iv) FET T & oy a1 &t A6 AT ol 28—
(61) 9 () i
(%) s (=) =S

Demand for money the speculative motive depends on-
(A) Bank (B) Profit
(C) Income (D) Interest
(v) Ife AH=T IUHET WgfT 0.5 B I WA 9d UgRi sRf—
(@1) 0.25 @) 05
(a) 1 (g) 075
If marginal propensity consumption is 0.5 then marginal propensities saving will be trend-
(A)0.25 (B) 0.5
O 1 (D) 0.75
(vi) ke # fo=fra 9 @) srafdy 2—
@ 1 SR & 31 foawR @) 1 Selts & 30 A
() 1 3WeT & 31 A/ () 1 93 ¥ 30 WA
The period of financial years in India is-
(A) 1 January to 31 December (B) 1 July to 30 June

(C) 1 April to 31 march (D) 1 May to 30 April
(vii) ART H IRI—HAT PR B AN fHAT TIT—

(31) arue 2017 (@) @3 2017

(|) S 2017 (]) g 2017

When was goods and service tax implemented in India-



(A) April 2017 (B) May 2017
(C) June 2017 (D) July 2017
(viii) T & @ @rOR @ @ 99 A8} -
(31) IERAT T rATd (@) axgail @1 Fafd

(|9) 31 qarr 9 (|) =R YT
Which of the following is not an item of trade account-
(A) Import of goods (B) export of goods
(C)Aand B (D) Transfer Payment

(ix) St 3refeme & Sy fhar Sirar g—
(31) Wt B HT (@) Th BH & FIeR
(|) axg ®! DHHEd @) J T
Micro economics is studied in-
(A) Taste of Consumer  (B) Behavior of a firm
(C) Price of Commodity (D) All these
(x) TR AT BT b 9\ A ST SIaT 8—

(31) T @A (@) snfdfe arTa
() sfa orTd (®) A= AT
What is opportunity cost known as-
(A) Total Cost (B) Economic Cost
(C) average Cost (D) marginal Cost

(xi) goic X@T ¥ e & fow STRerR aRe 28—
(31) SUHTEAT B M () g3l BT DA
() o1 gT § (@) S8 | BIg Tl
The factor responsible for the shift in budget line-
(A) Consumer Income  (B) Price of Good

(C)Aand B (D) None of these
(xii) AT BT 8—
(31) Q=f (P) @) P=f(Q)
@) Q=f(L) (?) L~f(Q
Demand function is-
(A) Q=f (P) (B) P=f(Q)
(C) Q=f (L) (D) L=(Q)
(xiii) f=ferRad # 9§ @ MR &7 g% T8 8—
(31) STUBIt T AT (@) TP M AIRTd
() o Rer arTa () o uRacdt arTa
Which of the following is not a ‘U’ Shaped Curve-
(A) Short run average cost (B) Short run marginal cost
(C) Average fixed cost (D) Average variable cost

(xiv) SAEd & ) AreE gRad! 81 g
(o1) <refeprett H OEREISIEE
(@) AfT reudmrad § (S) T I

All factor of production are variable-
(A) In the long run (B) In the short run
(C) In the very short run (D) all these
(xv) AT & RIfT # IR Hva BRfi—
(31) Hge BT & aRIER (@) AT BHT I 31D



() Hger PAd | A ) RerR =]
In case of excess demand, the market price will be-
(A) Equal to the equilibrium price
(B) More than the equilibrium price
(C) Less than the equilibrium price

(D) Will remain stable
2. Raw o= @t gfif iR |
Fill in the blanks.
(i) DT B GRIG TRID oo g |
It is famous book by Keynes ................
(i) TR ASTARTT I B TRI HG oo =
The main item of non-plan expenditure is ............
(iii) AT ST Ygfa qAT WA 99 UgRd BT AT BIT 2 |
It the sum of marginal propensity to consume and marginal propensity to saving is......
(iv) 9% & TGl I BT AT o HEATT B |
Exchange of goods in exchange for goods is called........................
(%) I Held Tl g forfar & A2y Gee &l i © |
.......................... Function shows the relationship between inputs and outputs.
(vi) IRa® AT ah B FeF g W AT BT A @ IRIER Bl B |
The elasticity of demand at the midpoint of the liner demand curve is equal to.............
(vii) of uforagt # avg @ @Ha &1 MR gRT far SIram 2 |
In perfect competition the price of commodity is determined by................
3. 3 TYSTRIHD

Very short answer
=1 o=l & IR 1020 Tkl H QR
Answer the following questions in 10-20 words.
(i) anffe Vore fpsy ®ed &7
What is called economic agent?
(i) faa fata @ 27
What is net export?
(iii) srfauaReT ®F B UH dwld TAT fIRau |
Write any one central problem of the economy.
(iv) gof uforRagt § BH &7 AT a6 Har g1 8?7 (W@ 9918v)
Who is the demand curve of a firm in perfect competition? (Make a Diagram)
(v) AP HXe] ST T &7
What is gross domestic product?
(vi) <o =1e &1 gF oy |
Write the formula of revenue deficit.
(vii) fa<el fafwa IR & <ot &9 81 8° forRau |
Who are the brokers of the foreign exchange market? Write
(viii) STOTR SfeuaReIl &7 Uk IeTexT forlRay?
Write an example of market economy.
(ix) FoTe Y@ w1 87
What is the budget line?
(x) ORPR gRT U1 &1 fag qwor & fhar orar 27
How is the deficit financed by the government?
(@vs—9)
Section-B




THYSTRIHAD T
Short Answer Questions
1 geAl & TR 30—40 Wl # AR
Answer the following question in 20-40 words.
4. fHaer &1 aRIa S |
Define Investment.

5. AHRIHD 3N fageryor qor amefe anfeie Avayo #§ =k I |

Difference between positive economic analysis and normative economic analysis.
6. SR AHA | MY a1 FASK 27
What do you understand by indifference map?

. Yol Ufugl aToR @ 1 IRl &1 Sl B |

Mention two characteristics of perfectly competitive market.
8. AGATRIP bl & UrAffed Hral bl AHSU |

Explain the primary functions of commercial banks.
. TUTH B UfhAT BT WY § FHSISY |
Explain briefly the process of multiplier.

10. 3TCUDBTT TAT STHDTA DI HHeu-T Bl FHMSY |

Explain the concept of short run and long run.
1. 99IR Age ¥ dsd 2° Y@ifes 9l 915 |

What is market equilibrium? Also make a diagram.
12. afq (i). SUINT Bl C =40 + 0.8Y

(ii). 99T B : 1=10
2 ql Fge M A1d BTy |
If (1) Consumption function C=40+0.8Y
(i1) Investment function =10
Find the equilibrium income.

13. YTIR ©Te] JAT TR IR BT TS |

Explain trade deficit and trade surplus.
14. 3fGHA BT URWINT DITY | JqqeIT HR WR faqel A Ha ) ) @r ywrg gsdr 87

Define devaluation. What effect does devaluation have on foreign exchange rates?
15. {NT B PIAT AG B T ST BT ool IR |

Mention two categories of price elasticity of demand.

(CES)
Section-C

~
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CEHSTRIEAS 797
Long Answer Questions
1 gei & SR 60—80 Tl H IR |
Answer the following question in 60-80 words.
16. f=feIRaa &1 e HIfvTe—
(i) TP Ud ydrg (i) SUHTeRTT U Td YoiliTd g%y
Explain the following.
(1) Stock and Flow  (ii) Consumer goods and Capita goods
IJAI(OR)
f=forRad 3ffaprsl | HRE ANTT IR et IS A ST BIRTY |
(i) FPHA BT SHUTE = 1000 TS
(i) faer & fad ®R® 3T = 150 RIS
(iii) et eTcueT B = 200 TR




(iv) JeI & =50 RIS

From the following data find national income at net factors cost.
(1) Gross Domestic Product = 1000Cer.

(i1) Net Factors Income from Abroad = 150Ccr.

(ii1) Net Indirect Tax = 200Cer.

(iv) Depreciation= 50 Cr.

17. JTSRG TITIT T YSIRTd UIiqai &l |H9eisy |
Explain revenue receipts and capital receipts.
31dI(OR)
e # Hekil & [9ug 3 wEre Sifo |

Discuss the issue of deficit reduction.

18. 3T IWTE TAT AAT ST Bl F&T H FASTEY |
Briefly explain average product and marginal product.
3TAI(OR)

e RO # 3T ScUTE T HHNT SeaTE ®F IO HIRTT |

Calculate average product and marginal product in the following table.

%9 DI ghISAl HA SAE | A IAQ HHr S
Units of Labour Total Average Product Marginal Product
Product

0 0 - -

1 5 - -

2 15 - -

3 30 - -

4 40 - -

19. Ueb A% I DA 10% Td Yfcl 100 ShISTT 8 | HIFT d¢PR 12 0. B WR Yfdd dGdR 150
gHISAT 81 Wl 2 al g & dra s1a BTy |
The Price of a commodity is Rs. 10 and the supply is 100 units. If the price increase to Rs.
12 and supply increase to 150 units, Calculate the price elasticity of supply.
31UCI(OR)

TP BH & Y 9% B FERSDT BT qOE BTG | (18 <)
Explain the factor determining the supply curve of a form (Any Two)

(@Ts—3)

Section-D

IRCRCIRE R

Essay type Questions

=1 gedl & SR 100—150 Teat # Q|
Answer the following question in 100-150 words.

20. YRT & Gy ¥ R R9d §6 & raf &1 avie9 Sy |

Describe the function of reserve Bank of India in the context of India.

31TdI(OR)
9] faf T gomell @& <11 &7 Seoid IS | T $91 aIN1 & 5 UhR R PRl 87
e T |

Mention the disadvantages of the barter system. How does currency remove these defects?




Discuss.
21. SUYIGTT & $SCdq I I 3T R JHST 82 Fofc T dAT JARHN I &1 Ferddl A

I DHITI—

What do you understand by optimal choice of consumer? Explain with the help of budget

line and indifference curve-
3TAI(OR)

HAT g6 H fR1de aem | 9% & fe9m | i &1 IHsnsy |

Explain the shift in demand curve and movement in the direction of demand curve.

22, OREd U M @7 NETRE & Gl | ArRAT I |

Explain the low of variable proportions with the help of diagram.
31YdI(OR)
ErEPTeld T T T <redhlel WHIRT oTd 8§ Fr &l s W BT |

Explain graphically the relationship between long run average cost and long run marginal

cost.



UI9—U Pl ISl 2023—24

et — 12th
favg — womifa fasm=
3@y — 3 gve 15 e quries — 80
1 Igaed B IAPIR —
EoRs SEEta JPHAR gfererd
s 30 37.5
2. | 3@dr 36 45
3. | SH9ART / 3feafad 10 12.5
4. | DA/ HifeTddl 4 5
ART 80 100
2, U3l & THRAR AFIR —
9. = | gfd g (ot o) | i@ | @Y
ES G 15 I 15 18.75 20.41 2
2. | R wm= 7 1 7 8.75 13.72 14
3. | SifceTeRRIHD 10 1 10 12.50 19.61 24
4. | THIRTHD 12 2 24 30.00 2353 40
5. | TESTR 4 3 12 15.00 7.84 40
6. | MaeTcH® 3 4 12 15.00 589 55
T 51 80 100 100 [ 195 e

fdmey o T - @ve g Ug T H @

3. fawg a¥g @1 PR —

Esh fava ag PR | ufcerd
1 | Q—grdRIar &1 3 6 75
2 | gdl & FHGBIH B 6 7.5
3 | FH®GI T gferoT TR 6 7.5
4 | AT HITSH 6 7.5
5 | |HPIoA fdeg H gref 5 6.25
6 | AR 3R UTpld G 5 6.25
7 | IR 6 725
8 | I AT @ Al 5 6.25
9 | TP T & YUY BT aR 4 5
10 | FFrfoTa faerT @Y ot 5 6.25
11 | 9Rd & faewr dee 5 6.25
12 | BIUH YorTell : FAIAT 3R GowRITa=T 5 6.25
13 | AHdIAd FaAT BT Fhe 5 6.25
14 | &A1 3npremy 5 6.25
15 | RO oI : A gl 6 75

IIT 80 100




g4 & U<

HeET — 12 fawg — rorife fa=m quries — 80
.9, I §DIS /U IR EIE| TS S9N / feafa DIere / Aiferdwar AT
% 5 % 5 ; ;
£ £ E E
1 S—dIAdT BT 3id 1) 1(1) 4(1)* 6(3)
2 JdT B AHBIT da 1(1) 21) | 3(1)* 6(3)
3 RECAIRR R KTQPJT 2(2) 2(1) 1(1) 1(1) 6(5)
4 | AT HITSH 1(1) 2(1) 3(1)* 63)
5 RECAIRERCEC R XNET 1(1) 2(1) 1(1) 1(1) 54)
6 | UITAROT 3R UTdpicid FTE 1) 1) 1y | 20 5(4)
7 | dedIHROT 1) 4(1) * 1 603)
8 | g AT B AR (1) a* | 5
9 Udh Qof D Uqcd ol R 1(1) 3(1)* 42)
10 | RS faer &7 o 1\ 1) 1Mo 5(4)
11 TRT & a9 aer 11 | 21) 2(2) 5(4)
12 | S Yoredl : AR 3R " o 1M 0 s
G RITOAT
13 | AIhdIHd TR BT Hhe 2(1) 3(1)* 52)
14 REIR) W&%Tﬁ" 1 | 1y | 1 |20 5(4)
15 | HIRAI IS Y IGeld 11 1 | 4@ 6(4)
AR 88) | 66) | 22) | 105 an | 70 | | s®) | 14 | 62) 6(2) | 41 41) | 80(51)

e &Y Ao -— TUS F' TG T H UAPD H U INdRP [Apcd 8 Hlc— HIod & dI8x I O] Pl &I Tl Iex &I =T ‘U & &dd © |

xR




ATefAh e 9IS ORI, 3SR
Aied U U3 STa Araie uer 2024
CLLENNEIGREEIR] (POLITICAL SCIENCE)

PET— 12
I 3 =02 15 fee quiieh: 80
Wi & foy |m e
GENERAL INSTRUCTION TO THE EXAMINEES :
1. Tereff ey e YR uF WR A AR fod |
Candidate must write first his/her Roll No- on the question paper compulsorily.
2. T U9 R At 7|
All the questions are compulsory.

3. U U Bl IR &l Ty IR GRADT H 8 ford |

Write the answer to each question in the given answer book only.

4. RS9 AT B AR Wus g ST I & IY U AT 8l forg |

For questions having more than one part] the answers to those parts are to be written together in continuity.

5. U9 &1 IR o | gd U= &1 HHId a9y ford |

Write down the serial number of the question before- attempting it.

6. U U & Bl G IS HURY H Bl gbR &1 Ffe /R / RN 89 W
o=y wToT & w2 Bl & TS 7 |

If there is any error/difference/Contradiction in Hindi & English versions of the question paper, the question
of Hindi version should be treated valid.

7. U3 AP 16 W 22 H AR Ahey 2|

There are internal choices in Question No. 16 to 22 .
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Section - A

Sgfdbedia e :
Multiple Choice Questions :

ffaRed uedl @ SR &1 F81 f[Aded &1 999 IR S JRaer # foRkad —

1.

Choose the correct option to answer the following questions and write it in the

answer book -
w9 &I HIfd B9 gg —
3. 1917 9. 1920 N, 1927 <. 1817

When did the Russian Revolution happen -
a. 1917 b. 1920 c. 1927 d. 1817

R HG D RAYAT BT TS —
31. 1882 9. 1992 |, 1907 T, 1857

European Union was established
b. 1882 b. 1992 c. 1907 d. 1857

gferof ofdrar o Ie ger <9 B —
3. IR 9. T g, e T 9Rd

The largest country in Southern Asia is -
a. bangladesh b. Nepal c. Sri Lanka d. India

W g feas AR S 8-
31, 24 YA 9. 20 IR . 14 AACH

United Nations Day is celebrated on.
a. 24 October b. 20 October c. 14 October

Sifds sRRIR Y P9 83 ?
31. 1972 g 1980 A, 1967 T, 1897

When was the Biological Weapons Treaty signed?
a. 1972 b. 1980 c. 1967 d. 1897

(1)

(1)

T 28 3R

d. 28 October

(1)



Vi.

Vii.

viii.

Xi.

Xii.

'3TeR BT TR’ UYE qcets RUlC USRI 85 —
31. 1957 9. 1987 |, 1907 T 1917

The Bertland Report titted Our Common Future was published -
a. 1957 b. 1987 d. 1907 d. 1917

"I AT BRA' Bl YUH I8P g —
31. 2010 g, 2006 . 2004 T, 2001

The first meeting of the World Social Forum was held -
a. 2010 b. 2006 c. 2004 d. 2001

Rl AT P9 g ?

3. 1972 d. 1974

. 1976 <. 1978
When was Shimla agreement signed ?

a. 1972 b. 1974
c. 1976 d. 1978

YR & 53T 158 ¥ Ay IR HIUUT WRPR BT TS Gl ?

31, ufeerT §ITer 9. ORI . dArg & BRe

In which state of India was the first non-Congress government formed?
a. west bengal b. Rajasthan c¢. Tamil Nadu d. Kerala

T STINT B WY B TS —
31. 2015 9. 1950 g, 2007 T 2017

NITI Aayog was established -
a. 2015 b. 1950 c. 2007 d. 2017

IRA — U & e HRATA Fey gam —

3. 1971 q. 1999 . 1947 <. 1962

Kargil conflict took place between India and Pakistan -
a. 1971 b. 1999 c. 1947 d. 1962

TR BTl BT AR b faar ?
3. e faer arerudl 9. olTeT 98IgR A



Xiii.

Xiv.

XV.

|, sfexy e ESRNCIECIC IS ESS
Who gave slogan to eliminate poverty

a. Atal Bihari Vajpayee  c. Lal Bahadur Shastri
d. Indira Gandhi d.Jawaharlal Nehru

IRIR & 9 o fhd ST oI ® °? (1)
3. .41 YFRER @R 9. ¥l G

A, TG 3fegell T, ARCR dRIRE

Who is Known as Periyar?
a. E.V. Ramaswamy Naykar b. C. Annadur
c. Sheikh Abdullah d. Master Tarasingh

Hed JART & 3egel I— (1)

A PRIRM 9 AL GRG 9. fdeveN gare ¥ WReR Ued

The Chairman of the Mandal Commission was —
a. Kashiram b. V.D. Savarkar c. Bindeshwari Prasad d. Sardar Patel

GOTTET A9 &) Arfefeas gf3ier AT &1 HuresedT a— (1)
SMIES IECED 9. 3T WaH ARSI S S R U G C )

The editor of Punjabi language literary magazine Nagmani is -
a. Mirza Ahmed b. Amrita Pritam  c. Dr. Ambedkar d. Syed Khan

Rexr worri @t gfcf diforr —

Fill in the blanks.

I H A Herardl IEd B | (1)
A native named .................... lives in Chele.
YIH UATYT ATSTAT oo ERCEIERIES (1)



Vi, 'SITREM & R BT HET T ¥ & |
'Operation Blue Star' belongs to the state...................

vii. axcelg Tedud (Seven party alliance) &7 G ..o TAH T
Seven party alliance is related to the country of..........................

3. JAfTAYRIAS U (1 U=l & SR (& U= IT U Ufda o i)

Very Short Answer Type Questions :
(Answer the following questions in one word or one line)

i gfol T IR fhasT udie ot ?
What did the Berlin Wall symbolize?

i.  foee @1 o Am faRay |
Write the full name of LTTE.

iii.  gRem @1 giarar aref w®r B ?
What is the basic meaning of security?
iv. WRA ¥ T e GURT B Y[AT B gy 7
When did the new economic reforms start in India?
V.  W1Eh §UST ¥ 7Y 97 HHeId ©§ 7
What do you understand by common property?
Vi.  YRA—A gg P 83T 7
When did India China War happen?

vii. o 9 e & 9Esd § 7

What do you understand by planning?

viii. ST, T I &1 G e § 2
What is the phrase Aaya-Ram, Gaya-Ram related to?
iX. 'Y BT U A R®IT 7 ?

What is the full name of AASU?



X. 1984 @ AHHAT Al H HIUF 9ISt Bl fha=1 A Fell ? (1)

How many seats did the Congress Party get in the 1984 Lok Sabha elections?

Es — ¢

Section - B

WW—W@WWWW

ShortAnswer Type Questions : (Answer Limit About 50 Words)

4. 9Rd — 9 WA & B <1 fig folay | (2)
Write any two points of India-China cooperation.
5, I & ATHAATDHRT H HIFA—DIF Al HfoARdl § 2 2)

What are the difficulties in democratization of Pakistan?
6. fdeg MUR Fred W wHlerd el Ry | )
Write a short note on World Trade Organization.

7. IR® w7 & favenfd 59 | @7 3Ry § 2 2)

What is meant by internally displaced people?

8. Yo Yodl WG B 83T Tl SHBT 4 Igaed T AT ? @)

When did the first Earth Summit take place and what was its main objective?

9. e ey N & Hare &1 WdaIdr &7 e JifHard dAdbde w Jd o ?

PIg G BRI gy | 2)

Why did Nehru regard conduct of foreign relations as an essential indicator of
independence? Give any two reasons.

10. f=faRad & 7 & — 2)
®. RO RE i, SICINIEA|
g e {RaA i, IS SN & U 3fede
T UL HereHed iii.  feam

9. NEIREIEEGERS) iv. TEBNT ST



11.

12.

13.

14.

15.

Match the following-

A. Charan Singh I. industrialization

B. Verghese Kurien ii. First Chairman of Planning Commission
C. P.C. Mahalanobis iii.Farmer

D. Jawahar lal Nehru iv. Cooperative Dairy

IR — HRFaE A MY R F9d © 2 )

What do you understand by non-congressism?

qre 1974 H [I8R & B §RT WRPR & RIATh b ATQIe Bl YA DI | BIHI
ERT UE TSI FT TATIT AT ? HRUT W BN | 2)

In March 1974, a movement was started against the government by the students of Bihar.
Why was this movement launched by the students? Explain the reasons.

JAFER AIfed UK & fdarews 8 & T SR o ? Pl &l DR Bl Ieold
BITY | ()

What were the reasons for the Anandpur Sahib proposal being controversial? Mention
any two reasons.

1980 & TP B IR B ATl H ARG IS H I 8 9d I | 579 I
forgl 1 gearal & IR # forRau | (2)

Five major changes took place in Indian palitics in the late 1980s. Write about any two of
these changes.

RIT AURTRAGAT T SR TSI 9 <2 BT STs @RIl 8% © | Ale 8 aT BIg &l
a® AR | @)

The roots of the country have been hollowed out by communalism and caste politics. If
yes then give any two arguments.

TS — 9

Section - C

STEINT U9 — Ieq AT 100 IS

Long Answer Type Questions: (Answer Limit About 100 Words)

16.

faeg o Ifa @ QR4 9 @ e R fewel faRkay | (3)
Write a note on the role of European Union in world politics.

arerar
Or
<ferll gd oRrms gl &1 Sire @) wR fewoh faRay |

Write a note on Association of Southeast Asian Nations (ASEAN).




17.

18.

19.

U gy [avg 9 Sgad g FY DI BT BT ool BT | (3)
Mention the role of United Nations in a unipolar world.
AT

Or

YT g B [IHTH $H T IFDT RATYAT BT G HIFT |

Describe the development and establishment of the United Nations.

R YD AATTIR ATATET & FAI T BIUF Udh Ao AFISTD TSa8T Dl L]
IReTIR IR g oAt | I & O TB DRI (3)

In your opinion, by the time of independence, Congress had assumed the mantle of a
colorful social alliance. If yes then give reason.

31TdT
Or

MY AATIHR WA= g F9eT gAd dam g IRA gA1d SR §RT DIA—DIA I B
5 S 2 |

According to you what work is done by the election commission of India to conduct free
and fair elections?

FIT S 1975 H HINT 3MuTddbiel A 84 Blg Addb o= A2y | Al &1 I U+ fa=m
T BT | (3)

Should we learn a lesson from the emergency declared in June 1975. If yes then express
your views.

31TdT
Or

ST UTIE 1977 # WTE AN & e fHar or| 39 A @ fygfad &t @ g ?
3TUe IR @ad BTy |

The Janata Party had appointed the Shad Commission in 1977. Why was this
commission appointed? Express your opinion.



s — ©

Section - D

fdeTd U9 — Ieg AT 250 I

Essay Type Questions : (Answer Limit About 250 Words)
20.  WfdTd |g & faEed & ygE HRUT BT guiH B | (4)
Describe the main reasons for the disintegration of the Soviet Union.
AT
Or

TRT O <9 & fory Aifdud 99 & faged & gRUmAl R Yabrer <Ifery |

Throw light on the consequences of the disintegration of the Soviet Union for countries
like India.

21. JYIIROT & YHRG HRON BT [TIR | 90 HIY | (4)

Describe in detail the main reasons for globalization.

AT
Or
ITRHROT B FHTAT BT fIRIR | qui BIRTY |
Describe the effects of globalization in detail.
22. WRAd @ IoMad dEE | A el @ sifed Pty — (4)
i, BaNTETa i. SETTE il R iV, SRR
Mark the following places on the political map of India -
i. Hyderabad ii. Junagarh iii. Mysore iv. Jammu & Kashmir
31dr Or

IRA & Xofad AHRE § = et @ sifed PR —
i. IR i, e il 3R iv. 93 (I8)

Mark the following places on the political map of India -
i. Banaras ii. Gwalior iii. Ajmer iv. Bombay (Mumbai)



U935 Pl IIoT]

FeI— STIATIHD:
fava—awpaaieaq  ( SS12)

rafer—3gve15 e (FUTGER=IN) [T:—80
1. ST dFIR: —
%9 S| SEIRe gfareray
1. | SR 17 21.25%
PREECEICE 33 41.25%
3. | SFGART: 21 26.25%
4. | Prered 09 11.25%
IT: 80 100%
2. JeATIIBRITARH AHIR: —
$. | UYL WHT Erfﬁl‘w:m EASICa) H_I”d%lcw\ gAY | FRTfdd—:
el G | 3T : BT SINE | TH:
1. | RITS—UET: 15 1 15 18.75 30.00% | 20 AT
2 | Ry 07 1 07 08.75 14.00 15 foremT:
3 |SR3| 17 1 17 21.25 20.00% | 20fHST:
4 | TERITH—UET: 9 2 18 22.50 22.00% | 48fFHIT:
5 | SreSTRT U 3 3 9 11.25 08.00% | 4ofHuT:
6 | FauTEHE—IT 3 5,54 14 17.50 06.00% | 52fHHT:
AT: 20/54 80 100 100% | 195 f=AWT:
3. fawgaegm™ sipuR: —
sl [EERIEES PR | Tfaerd
1 | gfed—ergdieq 30 37.50
2 | AepadieicET I aRw: 10 12.50
3 | DISHBRT 10 12.50
4 | Smufea—aradrH 08 10.00
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Section - A

gfdeedl ged : 1 Ul & SR @1 8! fdbed o9 R ITR—gRAD1 A
forfa |

Multiple Choice Questions: Answer the following questions by selecting the

correct option and write them in the answer sheet.

i) Ry Iwaar &1 oI, diadRT = 5 9 5| o o Rerg € 2 (1)
) XTI §) ORI
q) HENTY ]) SR UQE
Dhaulavira, the site of the Indus Civilization is located in which of the following
states?
A)  Rajasthan B)  Gujarat
C) Maharashtra D)  Uttar Pradesh
i) gwTecl I fhdent g off ? (1)
&) s | 9 \gsId
| e 11 T) oW
Whose daughter was Prabhavati Gupta?
A)  Chandragupta | B)  Samudragupta
C)  Chandragupta II D) Skandgupta

i) far ¥ g fh i, guiE &I G Ry foa ke & dgd ferdi 2 27 (1)
) wfearadr q)  ATgaRTeHd
|) et 7)) T A PIg A=l
Under which system property is passed from father to son and then to grandson
and great grandson?
A)  Conservatism B)  Matrilineal

C)  Patrilineal D)  None of these



iv) 71§ 9 {5 98’ Bl g1 99T H 9RA H A9 97 AR g (1)

3  faeel q)  cldaEg
|) S q)  T@IfeRR
Which of the following cities was described as the biggest city in India by Ibn
Batuta?
A)  Delhi B)  Daultabad
C) Agra D)  Gwalior
v) Fromed ohiferr & fRrer &1 o ? ()
3) IR G 9)  HoiH forec
F) SIS ST 3) UG TH®GaH RFT U—<gdd!
Who was the disciple of Nizammuddin Auliya?
A)  Amir Khusaro B)  Salim Chishti
C) Dataganj Baksh D)  Shekh Naseeruddin Chirag - E -
Dehlavi
vi) W] & IurEs 71 § 9 B o ? (1)
)  3IfeldN q) TR
|  dle T) dr9g
Who among the following were worshipers of Vishnu?
A)  Aalavar B) Nayanar
C) Buddhist D)  Veerashaiva
vil) ISR AT &1 @MU fod & off ? (1)
)  PURHRE q) TR
d) 8RR 9 gDl 3) TR

Who founded the Vijaynagara Empire?
A)  Krishna Dev Rai B) Devrail
C)  Harihar and Bukka D) Devraill

vili) “TaRISRATUATAR &1 IS fhae gRor @ off — (1)



) IR §)  BReY 9 gDl

d) RURERE ) TR

Who held the title of "Yavanrajsthapanacharya" -
A) Ramrai B)  Harihar and Bukka
C) Krishandevarai D) Devrail

ix) {9 el o o T, IR Eal o o P

3  APR q) SR

|)  wmEeisl 3)  3iRoE
Which Mughal emperor banned tobacco?

A)  Akbar B)  Jahangir

C)  Shahjahan D)  Aurangzeb

x) A Bl G Hd 8 —

3) 1857 d) 1856

) 1860 T) 1861
When did Shahmal die?

A) 1857 B) 1856

C) 1860 D) 1861
xi) IRl §QIw BT Db DI o7 ?

3 AT €S C) I G|

d)  FHEdred ) O R
Who was the father of Permanent Settlement?

A)  Martin Bird B) Munero

C) Corn Wallis D)  John Shore
xii) grEdr Rure fafeer d9e § &9 Uy o 73 oY ?

) 1801 H §) 1808 H

d) 1813 H ) 1857 H



2)

When was the fifth report presented in the British parliament?
A) In 1801 B) In 1808
C) Inl813 D) In 1857

xiii) Uerq faea gg # MU BT AT <4 & HRON TSI DI DI Al UM T

T ?

)  I¥TES g W

d) AT R 3)  HAR-T-I2g
Which title was given to Gandhiji because he supported the British in the
First World War?

A)  Knighthood B) Sir

C) Nobel Prize D) Kesar-E-Hind

xiv) AR Higer fbd fafer & o] gar ?

31) 26 SITART 1949 d) 26 SIFERI 1950
) 26 SN 1951 ) 26 SR 1952
On which date did the Indian constitution come into force?
A) 26 January 1949 B) 26 January 1950
C) 26 January 1951 D) 26 January 1952
Raa o=l &) gfid Sifvme:
Fill in the blanks:
1) TITT TR DT T oo o @r o |
Prayag Prashasti was composed by..........ccceeenn.eee.
i) HETMRT @ AT o 9T H g% |
Mahabharat was created in.............ccuee..e... language.
iif) AR H o UHR & fadrsl &1 Ieoid fhar a1 2 |

(1)



V) <l FYST H <Al B SURIAT o I OId MY UReR & w9 H DI STl
off | (1)

In the Goddess cults the Goddess was worshiped in the form of a stone smeared

with............

vi) AT BT G T oo H ST AT | (1)
The battle of Talikota was fought in the year................

Vii) SMSA—T—3[Ha] & ATHAR qH Bl ... AR ¥ 9ieT 7 & | (1)
According to Ain-A-Akbari the land has been divided into.............. Parts

TG RIHS Ued : 7 Ul & IR U Teq AT Yo Gfdd H IR |

Very short answer type questions : Answer the following question in one word

or one line.

i) TSWT ARIAT § Tferdl 9 Aedl I (v Ugfa 9 a=rr a7 o1 ? (1)
By what method were the streets and roads built in the Harappan Civilization?
ii) 31efe ¥ gH o favy @ SFer e g ? (1)

What subject do we get information from Arthshastra?

iii) sfzfdare ugfa fod wer e & ? (1)

What is called Exogamy system?

iv) fbd 91 § AT TS B qaeerr off ? (1)
In which dynasty there was a system of matriarchal society?

V) S W R aeRd @ ? (1)
What 1s meant by women wealth?

Vi) ST & gderdl b o & fory fey Frgad fasam o ? (1)
Who was appointed to write the dictations of Ibnbatoota?

vii) ‘Tell’ g | |7 qy 7 2 (1)

What is meant by the word 'Wali'?

viii) fASTI R 9Hsg § RIS $IF Bl o 7 (1)

Who were the 'Amarnayak' in Vijaynagara Empire?



10)

11)

ix) frt offEle™d @& SR Wdd IRGRI DI RATIAT & 79 of ? (1)

During Which movement were independent governments established?

X) GG 9T & FH Iqaed UKATd hd UK fbar ar ? (1)
When was the objective resolution presented before the constituent assembly?

Yrg — ¢
Section-B

ATRIHD U : (STR IR AT eI 50 IR

Short answer type questions: (Answer word limit approx: 50 words)

WU R 99 ST o ? (2)

Why were 'Stupas' created?

Hifices @1 g ? 398 M fakay ? (1+1=2)
What is Tripitakas ? Write their names?

et forae dig SR s @ g ? @)
How many Buddhist councils were organized in total?

YRA ¥ 37 qret fb=gl e a2l & =4 fofay | 7))
Write the names of any three travellers coming to India.

IRIEdTE fhd sl STl off ? 2)
What was called Tarababad?

ISR AETsg § AEHaHT fear @y o ? 2)
What Was ' Mahanavami Dibba' in Vijayanagra Empire?

RT=A—T—hIHe I 3T R T3 82 2)

What do you understand by Jins-E-kamil?
HTABIAT B & TPl TAT aGHAM DY & TADI H ATT T FAFAN T2AT

f=rad T@d § ?

(1+1=2) What similarities and differences do you see between the methods of

agriculture during the Mughal Period and the methods of present agriculture?

12)

TIAF—C—PIE &7 o ? (2)
What was 'Daamin-E-Koh'?



13)

14)

15)

16)

17)

18)

Rgqare! el fdd wEr ST off ? 2)

What was called 'Raiyatwari' System?

1857 3. ® fdGIg T AHIfeTd HIROT FIT T ? (2)

What was the immediate cause of the rebellion of 18577
TSI 7 1922 3. # NAANT fcred arad @i forar ? 2)

Why did Gandhiji withdraw the non- cooperation movement in 19227

Ylg — ¥
Section-C

<Y IR U : (STR Ieq AT S THIT 100 1)
Long answer type questions: (Answer word limit approx: 100 words)

A AT B g @1 fasiadit 1 9ot #IRig | (3)
Describe the features of administration of the Maurya Period.
3ear / OR

G siel IR Yo fewoft forfg |
Write a note on 'Sudarshan Lake'.
ARMEE & fawa # oMy @7 SiHd 87 derd ¥ gl $ifvg | (3)
What do you know about Mirabai? Describe briefly.

3fefar / OR
HACH B dIRYT IRFERT BT &Y H 9o HIg |

Describe briefly the veershaiva tradition of Karnataka.

“Ig e % (cherry) Tob fad R &1 48 4 ofdx RINT|” SeIgloll & 39
ool & foar & aHssy | (3)
'One day this cherry will fall into our mouth' explain this comment of Dalhousie

in detail.

3121t / OR
1857 & fAGIE BT Bl B BRI Bl Iooikd DI |

Mention the reasons for the failure of the rebellion of 1857.




19) 9 W e fewforar forRau—
1) AT IE=T ATcTeA
Write short notes on the following-
1) Civil disobedience movement
31efar / OR
e o) wfere fewforar ferfygy ?

1) YR Bll 3Malel

Write short notes on the following?
1) Quit India movement
Yrs — §
Section-D

faeTeTe Ue— (STR U8 AT o4 250 915 )

2) Jfelc gae

2) Rowlatt Act

2) RgcTha Tclel

2) Khilafat Movement

Essay type Questions (Answer word limit approximate: 250 words)

20) g ol & Farfdl & afife fdeardl vad Afa—Rarai o yqa faeradrei &

o= wIfvTT |

(4)

Discuss the main features of the religious beliefs and customs of the inhabitants

of the Indus Valley.

a7eraT / OR

g 91T I @ wRg faRydrel #1 fAdaEr S |

Discuss the main features of Indus Valley Civilization.

21) WG AT & BB FaR 7 U Folqd dvs ARDR DI ATTeIHl R gl FI

fear ?

(4)

Why did some members of the Constituent Assembly emphasize the need for a

strong central government?

3rerar / OR

Gfaem @91 = 9197 & fJdre & {69 UbR g fhar ? R S |

How did the Constituent Assembly seek to resolve the language controversy?

Explain.



22) \RA & @1 A # FHferlRad Ufaeiie el &1 ifed divig—  (5x1=5)

31) ARI—TART ) AT
W) AR <) degR
) IraEl

Mark the following Historical places in the outline map of India -

A) Chauri chaura B) Amaravati
C) Mysore D) Bijapur
E) Avadh
3fe1ar / OR
RA & &1 A | EfoiRad Ulaeiyed w@rdl @l sifdd Hifoig—
3) R §) Tarferay
) e q) AR
RSINER
Mark the following Historical places in the outline may of India-
A) Surat B) Gwalior
C) Goa D) Sarnath

D) Nagpur
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hemT — 12
fovg — Tﬁa
3rafer — 3:15 HUC QUi — 56
1, I 7Y PR —
.4 SEGD 3[HHAR FIGN]
1. Sk 23.5 41.96
2. REEIC! 21.5 38.39
3. | SO / et 7 12.5
4. | P /HifThd 4 7.14
T 56 100
2. U9l & JHRIN fHIR —
. Yl Pl bR U Bl | b Bl b gfcrerd gfderd | |wifdd
9. = | ufd g @@ ®) | Geien) | 9
1. ER@ v§IE 16 0.5 14.29 32 24
2. | Rad = 10 0.5 8.93 20 15
3. | AfTTERRIAD 7 1 125 14 14
4. W 10 1.5 15 26.79 20 45
5. élagflé J 3 3 16.07 6 39
6. | FdeTH® 4 14.28 4 48
7. | A= 2 714 4 10
I 50 56 100% 100% | 195 fA9c
fhed AT : @Wove §' Ug T H T |
3. v a8 &1 SIHAR —
9. [ERRIER! PR | yfeerd
1. | 9FT—1 #1979 P & Jd |
gPIg—1 3 5.36
Thle—2 5 8.93
I3 18 32.14
AR 2 3.57
2. | YT—2 YRT: o AR Irlegd=en
ShIE—1 3 5.36
ShIg—2 2 3.57
TPhIe—3 14 25
SHIS—4 4 7.14
ShIE—5 3 5.36
A 2 3.57
56 100%
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Hisel U3 UA Uien—2024
T (HerT—12)
Yus— 3
Part-A
(Geography)

|HY: 3 gUe 15 e quTieh: 56

wenfet & forv wm= Al —
GENERAL INSTRUCTION TO THE EXAMINEES:
1. el gy 319w Uv o WX A Sffrardd: forg |

Candidate must write first his/her Roll No. on the question paper compulsorily.

2. g g & Sifard g |

All the questions are compulasory.
3. YAP U BT IR al g IR GRADT 7 & ford |
Write the answer to each question in the given answer book only.
4. R gl # dRe @ve € 99 Al & SR U A1 & ford |
For questions having more than one part the answers to those parts are to be written

together in continuity.






(@vs—3)
Section-A

70 1 R A T sgipaia uAl & w81 Reed &1 999 e~ SR gRaaer 7 fafey |

Write the correct answer to the given multiple choice questions in the answer booklet

() Tafeoare @ o e T A7 V2
(@) Yeord (@) Rrfther <o (@) v A dudd (]) faera—sl—a—ersn

Who introduced the concept of neo-determinism?

(A) Ratzel (B) Griffith Taylor (C) Ellen C. Semple (D) Vidal de la Blache

(i) ST @ UIGfad gfg & T B

: 1,
(31) STH—Y (@) ST +ATIAT

@) TG-S IA™  (]) STH—HG+ YIRS

The formula for natural growth of population is-

(A) Birth-Deaths
©)

(B) Birth-Deaths+ In migration

Birth-Deaths-out migration (D) Birth-Deaths + In migration-out migration

(iii) Fr=ferRad & 9 fa U™ &1 e U0 W 99 9 B— 1
@) &|dT UM () I SURTH

(F) doIor IUNTH  (]) AR MITIDhAT SUNH

Which of the following approaches is related to prof. Amartya Sen -
(A) Capability approach  (B) Income approach

(C) Welfare Approach (D) Basic Needs Approach

(iv) I sima el fhamd &— Y
(e1) Ao HHEU—RY @) T

(%) TEARU—ETT (8) A HUBU—3AEE
The oldest known economic activities are-
(A) Gathering-Agriculture (B) Mining-Agriculture
(C) Pastoralism-mining (D) Gathering-Hunting
(v) T § | PN TP sreferaRen § SR @1 AT Ffdad BT 87

1
(31) Ustrare @) fafra () FHorae () BIg W A8l

In which one of the following economies, production is individually owned?

(A) Capitalist (B) Mixed (C) Socialist (D) None



(vi) FefeiRad @ &1 uRagd & UeR 81 o— b
@) wsd (@) 9o (W) AT () arg
Which of the following is not a type of transport-
(A)Road  (B)Water (C) Mobile (D) Air
(vii) oot 18R fpa <31 § Rerd 87 L)
@) (@ wE @)W Ra (@) e
In which country is the Suez Canal located?

(A) Panama (B) Russia (C) India (D) Egypt

(viii) PITRTaT e fbd T R Rerg 87 b
@) gTelt (@) W G)SEEY () T
Kolkata port is situated on which river?
(A) Hoogli (B)Rhine (C) Narmada (D) Godavari

(ix) B & AR WRA # ARl & G off— Y

(@) 179 (@) 544 (@) 22 (=) 169
According to Grierson the number of languages in India was-
(A) 179 (B)544 (C)22 (D) 169
(x) fFr=forRaa & & waffere ST gad arelt ST 27 b7
@) ffer (@) uf¥=H (F) SR U= (T) B
Which of the following is the state with highest population density ?
(A) Bihar  (B) West Bengal (C) Uttar Pradesh (D) Kerala

(xi) “F—HIR" BRIPH B Heel b 57 A & 1
(31) ToReT (&) dTTe SRS (®) 3|
“Neeru-Meeru” program is related to which state-

(A) Rajasthan  (B)Punjab (C) Andhra Pradesh (D) Assam
(xii) TEAT & B T IR > 7w SIfd Ugfid B Y2
(@1 facell & M1 (@) facell & WA (W) fdeell & Se@r (]) fioell 9 gem

Between which two cities is the Yamuna river most polluted-

(A) Delhi to Agra (B) Delhi to Prayag (C) Delhi to Etawah (D) Delhi to Patna

(xiii) ITATSE fHadT IR & ? b7



Whose ore is Bauxite ?
(A) Aluminium (B) Manganese (C)Mica (D) Copper
(xiv) 9RT ¥ YT HaT BT Y/ Ha gg A1? )
(a1) 1853 (@) 1857 (|) 1911 () 1923

When was the railway service started in India?

(A) 1853 (B)1857 (C) 1911 (D) 1923
(xv) FrAfoIReT § | BI—41 T J—3MEg U o— s
(ar) wfeea @) 99 (@) == (<) faememreH
Which one of the following is a land —locked harbour-
(A) Haldia (B)Mumbai  (C) Chennai (D) Vishakhapatnam
(xvi) F=faIRad & & BI9—1 37T I9T BT Uh HRIT &— L)

(31) STel T (@) 4 gguoT () @R yguO (<) d1g Uguor

Which one of the following is a cause of acid rain-

(A) Water Pollution (B) Land Pollution (C) Noise Pollution (D) Air Pollution
50 2 Raa w=! &1 gt iy |
Fill in the blanks.

(i) 21t S=a AFE B Gadid arel <9 9 & @I WhR.... 4 W T |

Countries with very high human development index are those which have a score of over....

(i) Ff3a BY 5 Bae IUET T ... Sl BT AN He Qa1 ST & |

(i) D ASH S QT ATST B TSU B FHEATN T |

Every road that joins two nodes is called a.........

() I ¥ fagg &1 AEATH YT I AT S0 R |

.................... has one of the most dense rail networks in the world.
(v) faea SR TS BT A ... # Rera 21

WTO headquarters are located in ...........................
(vi) TS5 ar T BRERY H AR BT TS T

The National youth policy has been launched in February.............
(vil) TRT H TRI BT GET oo HTel A 3l T |

Towns flourished since..................... Time in India.

(viii) AR BT IffehaH TTAEIT BT T AT ... 2 |

........ is a staple food for the overwhelming majority of population in India.

Y2

Y2

Y2

Y2

Y2

Y2

Y2



Indira Gandhi canal originates from.......... dam in Punjab.

3. 31 STERRIHS U
Very Short Answer Type Questions:

(i) “AFE IS AT GG 3R ERIOA @ 419 Aael $H AT eddq 2 |7 AFa e Bl
g8 gRATYT fe <17 1

“Human geography is the synthetic study of relationship between human societies and earth's
Surface” Who gave this definition of human geography?

(i) ST gRadd & <1 gcdl & W fofay | 1

Name two components of population change.

(iii) T far Ufddes 2020 & STHR 9IRA BT HIA—AT WA 57 1
Which position of India according to the Human Development Report 2020?

(iv) fafsmfor @1 enfegs aref forRay | 1
Write the literal meaning of manufacturing.

(v) WTO &1 RT <14 o1l | 1
Write the full name of WTO.

(vi) fava & STa1 Gl &1 fhas gferd 9T YRa 7 87? 1
What percentage of the world's water resources is in India?

(vii) &It UguOT & MY FAT FHSIA 27 1

What do you understand by noise pollution?
Section-B
(@vs—)

oTYRIHD U :

Short answer Type Questions:

Y04 HIFG A & &3 D A 8T | 1%

Name the fields of human geography.
U05 3MU% FTHR Udh [AHRad I & oy SHifhd i FhavT Rigid o1 SUART qarsy | 1%

According to you, explain the use of demographic transition theory for a developed nation.

U06 “HREM B’ FT 57 1%
What is factory farming?

H07 SIEIAH [HY PEd ©7 1%
What is outsourcing?

[08 T UTH ¥ Y R HSI © 7 1%
What do you understand by naval port?

H09 SRl gfg Bl URHING BIfTY | 1%

Define population growth.



9010

J011

e R e & Sew 918U |

Explain the objectives of Smart Cities mission.

@ Tyt aRareHT R feweft foaRay |

Write a short note on the golden quadrilateral project.

1%

Y012 3AGIEl & 95 9Rd & JMATT—FHST & dgold UTed bl Geg H 9SSV |
Briefly explain the changing pattern of India’s import composition after independence.
9013 STcl UGHUT & UHE Al &1 quiF BHIfT |
Describe the major sources of water pollution.
Section-C
(@vs—)
el ST geE—

Long Answer Type Questions:-
yo14 f=feIRad uRHRTE IR XeErT wR fewl forag—

(31) IR—ATIRTT X T (d) TR—DASIT NI
Write a note on the following transcontinental railway routes-
(A) Trans-siberian railways (B) Trans-Canadian railways

FUdT (OR)

FrfoRae wqe) A1 oY fewy feray—

(31) ST cdifed  (9) AT AR—EHSNNRI

Write a note on the following sea route-

(A) The Northern Atlantic  (B) The Mediterranean-Indian Ocean

Y015 YR H $Holl & WRERFT Sl bl gui S |

Describe the conventional sources of energy in India.

JUEI(OR)

RA H $Holl B JURURNT Sl BT guid BITSTT |
Describe the non-conventional sources of energy in India.

9016 G & fIBTT BTRIHH BT S YT a9 D SURT G |

Suggest ways to make the hill area development program more effective.

JAT(OR)

(1% + 1% =3)

ST TRA TR FHis e # Jad el e @1 gerar o @ oy Surg gel |

Suggest the measures of promotion of sustainability in Indira Gandhi Canal command

arca.



Section-D

(@rs—)

g ue —
Essay Type Questions:-
T017 TN BT IARAMT BT THIAT B dTel BRI BT GBIV BINTY | (PTS TR)  (1+1+1+1=4)

Classify the factors influencing the location of industries. (Any Four)

3TRTaT(OR)
Hed AT TR IR S BT I ThRT HITOTT |

Classify the industries based on raw materials.

90 18 WRA H §HfY & fdHd &1 quiF B |

Describe the development of agriculture in India?

JUEI(OR)

R ¥ e waal R [Iwga o foify |

Write a detailed article on oilseed crops in India.

90 19 AU Y fIvg & Y@—amHres H FrfeiRad arorsy Uy ured dTel TS &I 3ifda

PIRTI— (4 X%=2)
(31) =oiefes (@) Mo (W) aroiers T (]) IMRa®T

Mark the following commercial livestock rearing countries on the given outline map of the

world-
(A)New zealand (B) Australia (C) Argentina (D) America

70 20 faT U 9RT & NG—AFRF § fFEfoRad iR garg =1 &l ifed dIfsTu—
(4 X %=2)

(@) feeeht @) sAeTae @) FTqE (<) Plerdr
Mark the following international airports on the given outline map of India-
(A)Delhi (B) Ahmedabad (C) Bengaluru (D) Kolkata
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.. SEGEu KN gferer
1. |99 24 30
2. | 3r@Ew 20 25
3. | SFUART / srfveafad 24 30
4. | i /Hiferpan 12 15
I 80 100
2, T B YHRAR JPIR —
4. =T | ufd gee E@i @) | GEie) | 99
1. | TS 15 1 15 18.75 29.41 30
2. | Reg = 7 1 7 08.75 13.73 15
3. | SfdeTgRIeA® 10 1 10 12.50 19.61 35
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3. fawg a¥g &7 PR —
.. v g PR | Ufcrerd
1 | G U9 Bl 3 03.75
2 | gfoe®m raomfada e 4 05.00
3 | SlgE 5 06.25
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5 | FIadr U4 STadb el Iad] 8 10.00
6 | 3fadberoll B IIUINT 6 07.50
7| XAHTR 12 15.00
8 | AHIHA & SITUAN 4 05.00
9 | dhHd FHIHR] 6 07.50
10 | gfesr dorrforg 7 08.75
11 | Bfoda sofafe 9 11.25
12 | XRa® g™+ 4 5.00
13 | UTlrehdr 7 8.75
IT 80 100.00
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AA: 3702 15 fire quTid: 80
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GENERAL INSTRUCTION TO THE EXAMINEES :

1. GRIereff e e yed UF R AWie ifaria: ford |
Candidate must write first his/her Roll No- on the question paper compulsorily.
2. O U9 A Mfart 2|

All the questions are compulsory.

3. U U Pl IR & Mg IR JRAD1 A B ford |

Write the answer to each question in the given answer book only.

4. 51 g9=1 & 3IR% Woe 8 89 99 & SN T a1 B ford |

For questions having more than one part] the answers to those parts are to be written together in
continuity.

5. U &1 IR fore ¥ gd U &1 HHid 31aeg ford |

Write down the serial number of the question before- attempting it.

6. U UF & 2=l G Ul ®Ur=RY H BT gpR &1 Ffe /3R / faRemrg 8F w)R
e AT & T Bl B AS A |

If there is any error/difference/Contradiction in Hindi & English versions of the question paper, the
question of Hindi version should be treated valid.

7. U3 B 16 W 22 ¥ IR Ahey 2 |

There are internal choices in Question No. 16 to 22 .



(i)

(iii)

qgfdeedld e —
Multiple choice question

9 R 5 f:R = R, f(x)= (x)’gRT uRwifya & a1 981 Ry &1 a9 B |

. f BB MREEH & 9. f 9gUDI IMTBEE &

. f Thdl § UR IMWIEH el & & f7 Al Thd! g 3R AT 8 msIed 5(1)
Let f:R—> R, be defined as f(x)= (x)* chose the correct answer

(a) fis one - one onto (b) fis many — one onto

(c) fis one - one but not onto (d) f is neither one one nor onto

sin{% — sin‘l(—é)} a1 A R -

3. dq. .

N |~
Wk
NN

Tl (1)

sin {% —sin~1(- % )} is equalto-

1

(a) (b) > €z  (d)1

N |-

A NTT f5 X, ¥,z W T P A9 2XN, 3Xk, 2Xp, N X3TA pX k difear &
Mg e A n=p ar Mg 7X — 5Z @ *ife g —

A px2 g.2xn dnx3 TpXn (1)
Assume X,Y,Z, W and P are matrix of order2xn, 3xk, 2xp,nx3 and pxk
respectively if n = p then the order of the matrix 7Xx — 5Z is .

(@) px2 (b) 2xn (c)nx3 (d)pxn

" | )2(|=|168 é| o X A E -
3.6 96 . -6 30 (1)

if|1X8 )2(| = |168 §| then x is equal to —

(a)6 (b) + 6 (c)-6 (d) O



(v)

Hecos(sinx) &T fadersl a—
3. sin(sinx) 9. sin(cosx) 9. -sin(sinx) g—cosx sin(sinx) (1)
the derivative of function cos(sinx) is

(a) sin(sinx)  (b) sin(cosx)  (c) -sin(sinx) (d) —cosx sin(sinx)

(vi) & gd @ B r = 6cm, W r & AU %o H aRadd @ &% &

3. 10m 9. 12m 9. 11mn T.8m (1)

The rate of change of the area of a circle with respect to it’s radious r at
r=6¢cm is

(a) 10m (b) 121 (c) 11n (d) 8m

(vii) [logx dx @1 79 % —

3. logx-x+c 4. 1+logx+c 4. x(logx-1)+c <Ex(logx+1) +c (1)
The value of [ logx dx is -

(a) logx-x+c (b) 1+logx+c (c) x(logx-1)+c (d) x(logx+1) +c

(viii) sr@det FH@HoT |1 + (d—y)z = a(%)ga% o 8 —

dx

3.1 q. 2 .3 T 4 (1)

1
2 2 N>
The order of differential equation _|1 + (d—y) = a (ﬂ)3

dx dx 2

(a) 1 (b) 2 (c)3 (d) 4

Hﬁaﬁﬁlﬁzﬁa‘rvﬁﬂﬁawﬁwwé%|5’|=3,|B)|=‘/3—§a—sfaxﬁw
A Afer Al 3 dTh @ " T ¥ —

T T T
S q. = N = <.
6 2 4

w3

(1)



- g — g 2 —
Let the vector @ and b be such that [3] = 3, |b| = \g——then axb
ls a unit vector, if the angle between 3 and bis

(@ =b)S(c)>  (d)3

(X) Wx+1:2y—2=3;zzx$ﬁ_®ﬂqﬁ%_

2 4
3. 2,4,3 ¥.2,2,3 9 .2,4,-3 g. 2,2,-3 (1)
Direction ratios of line = = 22 — 372 _ ) js

2 4 3
(a)2,4,3 (b)2,2,3 (c)2,4,3 (d) 2,2,-3

. Cx+1  y-2  z+3 x-1  y+2 z-3 .
(xi) et . =y5 == and - =y2 =_3:F7Hwaﬁw%‘—

a1, 45° g. 30° 4. 60° <. 90° (1)

The angle between the Straight lines

X+1 _ y-2 _ z+43 and x-1 _ y+2 _ z-3 i
2 5 4 1 2 £
(a) 45° (b) 30°(c)60° (d) 90°

(xii) gax? + y? = 4%1 &5% & —

32T g. 161 9 4 T.

1S
—_
H
S

The area enclosed by the circle x? + y? = 4 is

s

(a) 21 (b) 16m(c)4m (d) =

4

(xiii) g% y2 = 4x,y 31&7 vd @1 y=3 ¥ iR &5 &1 eFhe & —

3. 2 q.

(1)

L Ne)
N |

9
. = <.
3

Area of the region bounded by the curve y? = 4x, y axis and the line y=3
is -

(a) 2 (b) = (c)2 ()
(xiv) afe P(A/B) >P(A) @ 1 § & 9@ © —

3. P(B/A) < P(B) 4. P(ANB) < P(A).P(B)



4. P(B/A) > P(B) <. P(B/A) = P(B)

if P(A/B) > P(A) then which of the following is correct

(a) P(B/A) < P(B) (b) P(AN B) < P(A).P(B)
(c)P(B/A) > P(B)(d) P(B/A) = P(B)

(xv) @R P(A)==,P(B) = 0 di P(A/B) & -

3. 0 q. . gRYNT w81 T 1

N |-

IfP(A)== , P(B)=0 then P(A/B) is
(a) 0 (b) S{c)not difine (d) 1
2 Reaw vt @ off AR -
Fill in the blanks
(i) tan 'v3 —sec™1(=2) BT AT coos g (1)

The value of tan 1 V3 — SeC™1(=2) IS veveevrrerreerererernene.
(i) cos™?! (cos%“) Iz 1 A g |
The value of cos™?! (cos %ﬁ) IS treeerreeereeerreesreeereesreennes
(i) tan™' = + tan~12 BT AT oo 2
11 4
The value of tan™ = 4+ tan L 2is ..o,
11 4
(iv) afe y=logx ar %= .....................................

_ dy_
If y=log.x then D s

(v) afe f(x) = -1 x+11 + 3 a7 f(X) BT AABTH AT oo =

If f(x) = - I x+11 + 3 then the maximum value of f(x) is .......ccecveurnee.

(vi) eradmd WWUT%+ ysecx = tanx &1 |HIHA qoNd & —

(1)

(1)

(1)

(1)

(1)

(1)

(1)



. . ... d
The integrating factor of equation is d—i’(+ YySeCX = tanX ..ccceevveerneeennnns

(vii) afesr T+ Jor afeer 1 — [oR 9819 2| (1)

(iii)

(v)

(vii)

The projection of the vector 1 + J on the vector 1 — Jis ..............

JAfTeTgeRIHD UeT —

Very short answer types questions

2
WX_X+1 X_l‘wrm?rsnﬁaﬁﬁm 1
x+1  x+1 | (1)

X2 —x+1 x—-1

Find the value of determinate
x+1 x+1

xan e o B A |2 =% Y (1)
Find the value of x if

|2 4 :|2x 4|

5 1 6 X

3faRTel S BT fH f(x) = cosx & Ued werd f q€= 2, 81 0<x<2m | (1)

Find the interval in which the function f given by f(x) = cosx, where
0<x<L2m is increasing function.

frdl SUTE @1 X SHISAT & f[AFT & U w1 3 R(x) oAl § R(x) =
13x°+26x+15 9 Ted & | WM o S SR oid X=7 2 | (1)

The total revenue in rupees received from the sale of x units of a product
is given by R(x) = 13x°+26x+15 .Find the marginal revenue when x=7

1 S
fx+xlo dx T A1 =Tt ! (1)
Find the value of [ ——dx
x+xlo
x -1 1
[ e*(tan x+1+x2)dxav‘r‘~‘ﬂ?r§ﬂ’craﬁﬁ1¥| (1)
Find the value of [e*(tan™?x+ L ~) dx
1+x

IR BIfe aTol T 3TdheT THHRUT b ATYh Bl H ISURYT B IR| Bl G
1T BT | (1)



Find the number of arbitratry constants in the general solutions of a
differential equation of fourth order.

(viii) afer @ = 21 + 3] + k& srfew W wfew sia @ik | (1)
Find unit vector in the direction of vector
a=21+3]+k
(ix) x@my & A4 s Hifrg aife afew 21+ 3] sk xi+y] | &) (1)
Find the value of x and y so that the vectors 21 + 3] and xi + yT are equal .

(x) < wfeei aqer bd gRo B 1 @R 2 9o 3.b=1| 37 AR & FEF B S
DI | (1)

Find the angle between two vector a and bwith magnitudes 1 and 2
respectively and when 3.b=1
TS — ¢
Section — B

TSR U —
Short answer type question —

4. Sita ST 6 arafds et & wzaa R+ R* = {(a,b);a < b?, g1
R wide R* 9 a1 Wded, 7 99Hd iR 7 & J&ma 2| (2)
Show that tha relation R* in the set R of real numbers defined as
R* = {(a, b); a < b? is neither reflexive, nor symmetric nor transitive.

4 g AL cosa Sina]%’raﬁwﬁﬁaﬁﬁlﬁﬁul/l‘:l

l—sina cosa
[ cosa  sina
If A=

) ] thenverify AA™ =1
l—sina  cosa

3 =2 0 g
6. ?:rf%{A—_4 5 FMTI—[O 1]@/1 =KA—-2] srdr K &1 99 91
P | (2)

B -2 10 . 2 wa
fa=[, “5|and1 =[5 7|ThenFindK, sothat4? = KA 2.




10.

11.

12.

13.

14.

15.

?T%Azﬁ _‘1] HQJTB=[_11 _?)Z]H#Wfﬁ?raé‘rﬁﬁﬁsmg)—lz
B4t (2)
IfA = ﬁ _i] and B = [_11 _32], then prove that (AB)™1 = B71471

_(kx+1, x<5
Kfﬁrﬂﬁamaﬁﬁiﬁtﬁ%{f(x)—{gx_s’ Sl L5 wEWAQ)
, _(kx+1, x<5 . :
Find the value of K so that, f(x) = {Sx _5 x>5 is continuous at
x = 5.
TS & f(x) = |cosx| &R URING Bed Ud Aad B & | (2)
Show that tha function defined by f(x) = |cosx| is a continuous
function.
R | 1—X2 d_y
Ifg y = sin Pkl danﬁaﬁaﬁiﬁﬁl (2)
.2
Ify = sin~12 ~ then Find .
1+x dx
feargy f& Ued ®weld f,R W (& e %o § — (2)

f(x) =x3—3x%+ 4x,xeR
Show that the function given by f(x) = x3 — 3x2 + 4x, x€R is increasing

on R.
1 .
f1+cot dx 1 A Fd | (2)
Find the value of [ ——dx
1+cot
qB Yy = x2 T ATy = 4 A R &5 3T &b od IRA | (2)

Find the area of the region bounded by the curve y = x? and line y = 4.

Rig SR f < wfRei d @ b & o) wda |d. b| < |dl|b| (2)

d.b| < al|p|

Prove that for two vector d and79),

g faar T 2 f <) Tl B U T B WR UTd dn) e e 2 ) Qe
RN BT AN 4 BF BT UTRGaT od divia | (2)

Given that the two numbers appearing on throwing two dice are
different. find tha probability of the event “ the sum of number on the
dice is 4”



TS — 9
Section—-C

BRI DR L

Long answer type question —

16.

17.

18.

[ Vx2+4x—5 dx & 79 51d ARA | (3)

Evaluate- [ Vx2+4x—5 dx
arerar

Or

1. 1 2x
[ sin™! dx &1 A9 99 P |
0 1+x2

1 . 1 2x
Evaluate [ sin™ —— dx

g (—2,3) & oRA aret U 9% BT FHIGR0T S By e fadr g (x, y)
TR T GT B YgorT % = (3)
Findthe equation of a curve passing through the point (-2,3) given that the
slope of the tangent to the curve at any point (x, y)isi—f :

RIDGH)

Or

ff d& # o @ gfg r% a1f¥fe @ X F B 21 I 100 TR 10 9§ H SR
B O & ar & 41 =i s |(log, 2 = 0.6931)
In a bank, principle increases continuously at the rate r% per year. Find
the value of r if Rs 100 double itself in 10 year. (log, 2 = 0.6931)

YRl ;9 1, & 91 3 =gEad 0 91d ey fSee |t aHieR g -
P=14++3QiI—j+k)RR #=20+j—k+u@Bi-5+k) (3)

Find the shortest distance between the lines [; and l,whose vector
equations are —

F=i+j+3Qi—j+k)andF =21+ j—k+u3i—5j+k)

3141
Or



7

T X g & HeF DIT ST DI —

— 574+ k+3@31+ 2]+ 6k)aix

— 6k + u(@ + 2j + 2k) (3)
he angle between the pair of lines given by -
i—5/+k+331i+2j+6k)and

#=71—6k+u(+2j+ 2k)

19. U®H Il H 4 oA 3R 4 Bleh 7S B U 39 Il § 2 Tl Ud 6 Prail g & | G
Il H A T Irgesd] AT Sl & Ud U Tie Malell Sl € Sl {6 el § | 3
1 T T WRGar 2, b g ggel gl A Hdrel T 2 (3)
In one bag, there are 4 red and 4 black balls. In another bag, there are 2
red and 6 black balls. One bag is randomly chosen, and a ball is drawn
from it, which happens to be red. What is the probability that the ball was
drawn from the first bag?
SIDEH]
Or
A R 9 e aﬁuﬁ%—cﬂ%%lwﬁwmw%awA ERISIRRED
fore ueRRid gorm 2| arad W fa usRa 89 @1 a1 wiiedr 2|
The probability of telling the truth by A is %’ A coin is tossed, and it
indicates that the face is showing. What is the actual probability of the
face being shown?
Ts — T
Section—D
IRECIR G I
Essay type question —
e — s Y (4)
"J0 a2cosZx+b?sin?x
T x dx
Evaluate fO a%cos?x+bZsin?x
IDEH)
Or

[Vcotx +tanx dx@r 71 =T B |

Find out [ +vcotx ++tanx dx



21. @R e Jfe FaRe 4 § @ 9 <gAad g3 91d IR — (4)

F=0-01+ (t—2)]+ (3 —2t)ksi
F=(S+1i+ 2S—1j—(2S+ 1Dk

Find the shortest distance between the lines whose vector equations are

F=0-t1i+ (t—2)]+ 3 —2t)kand
F=(S+1i+ (25—1)]—0(2S + Dk

J1erar
Or
. 1-x 7y—14 z-3 7—=7x -5 6—z

p ® AN S SIS difds Y@ =X = 3R ===

3 2p 2 3p 1 5
RER Aqqd & |
: . 1-x _ 7y-14 _ z-3
Find the value of p Show that lines T = yzp == and
7-7x y-5

6— .
= = SZ are at right angle.

22, fr=faRed @aRmEl & ofdiid z = —3x + 4y &1 M@y A | *gawiaor
AR | (4)
x+2y <8,3x+2y <12,x=0,y=0

Minimize z = —3x + 4y subject to constraints x + 2y < 8,3x + 2y <
12,x = 0, y = 0 by using graphical method.

et
Or
TR Rl & fad z = X + Y &I Meid Al & St iR SR |

x—y < -1, —-x+y <0,x=0,y=0
Maximize z = x + y subject to constraintsx—y < -1, —x+y <0,x >0,

y = 0 by using graphical method.
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e — 12
vy — g
gy — 3 g 15 e quiis — 24
1. I5eYT TG IAPIR —
.. SECR JPHR yfererd
1. Skl 6% 26.04
2. | 3raqr 7 29.16
3. | rfyeafad 6 25.00
4. Hiforehd 43 19.80
IRT 24 100
2. U9l b UBNIR JPIN —
3. =T EC] I SEG] U1 BT T
1. | TS 06 L 3 12.50 18.18 24
2. | Raa = 06 A 3 12.50 18.18 24
3. GHI?IEIQ?IQ Hb 07 v, 3.5 14.58 21.22 35
4. | TYONIHD 10 3 7.5 31.25 30.30 60
5. | SN U 02 1% 3 12.50 06.06 24
6. | ferdemc® 02 2 4 16.67 06.06 28
IRT 33 24 100 100 195
Rrped AoHTr : @ve ' T € H 2
3. fawg avg &1 PIR —
Eaksl [EERICES PR | Tfrerd
1. | URYTYIY, G Ugiordl 04 16.67
2. | Tt BT sremEE, 9y Rrerd 04 16.67
3. YXTH, didd CIUH C1|"Ig‘<l 04 16.66
4. | IET @1 Yol 9, IET gEA 04 16.67
5. | dre uRerd (g Wfed) af-asn &1 ferfidg o 04 16.67
6. | GIMAs BT Silad U< 04 16.66
IJRT 24 100%




ge—ud =g fu<

PET —12 fowg .— g — 24
$.| ¥ ghR /U TP Elul Jaare SEITART / et PIeIe / Hiferehdr BE
9.

RN 5L
E & E € |E £ |p g% |p
1. | gRYTYY, i ugfoT (1) | (1) 4(1) %4(1) 1Y% 3%4(
(D*

2. | TeeIl &1 IEETH, g (1) | (1) Ya(1) (1) 12(1)* 3%4(

Rigra
3. | TR, aTel quie dTgRT (1) | Y(1) 4(1) (1) | %(2) 35
4. | IMT T QT 90, 0T g | Y4(1) | VA1) %4(2) (1) Y5(1) 3Y(
5. | a1l uR=d (S A=) va(1) | Y4(1) %4(1) 2(1)*3%4(«

gfvaan &1 forfieg o=
6. |Gids &1 Siad uRe (1) (1) va(1) | (1) | %(1) 2(1)* 4(1) 5%4(

3(6) | 2%(5) Y1) %) | 1%3) | 34) 2(1) 1%3) |34 |1%Q) AVIEZAO Y YY)
€Y
6% 709) 6(8) 4 24(3
T (12) 0)
famedl BT AT = UE oo ¥ U aR® fdbey 8| Alc— DIod ¥ d8Y P T 3dl & g2 o) Il & s 2 |

BN



Afee U3 U9 URIE—2024
faTa— Ffa —ma (|rT—a)
Part-A

(Music —Vocal)
- 03 HUR 15 fAFe qUTichi— 24
R & forg | A

GENERAL INSTRUCTION TO THE EXAMINEES :

1. TReTeff AU e ued uF R AT Sifarid: fordd |
Candidate must write first his/her Roll No- on the question paper compulsorily.
2. 91 oo AR a2 |

All the questions are compulsory.

3. U U Pl IR &l Ty IR GRADT H 8 ford |

Write the answer to each question in the given answer book only.

4. RO weAl 9 aRe @re 8 S 9l & IR U A1 &l ford |
For questions having more than one part] the answers to those parts are to be written together in continuity.
5. T &1 IR o ¥ g4 U &7 HHiS a9y ford |

Write down the serial number of the question before- attempting it.

6. U U & fE=al G fUSH HURYT H Bl gbR &1 Ffe /R / RN 89 W
o= wTT & W BT B TS 7+ |

If there is any error/difference/Contradiction in Hindi & English versions of the question paper, the question
of Hindi version should be treated valid.

7. U3 HHIPB 14 W 17 ¥ <R fdheq 2 |

There are internal choices in Question No. 16 to 22 .



Section-A (TUS—3)
%0 1 9 3 A sgfaecda el & |8 fAeey &1 == ) SR gRas ¥ foaRay |

Write the correct answer to the given multiple choice question in the answer booklet

(i) T fdeTa AR @ ST @ g? 1/2
(@) sfrsa—sfed  (3) aireg wwgel (%) wrgoi—weet (3) gl STed

What is the “Jati” of Raag Vrindavni Sarang.

(A) Audav-Audav (B) Audav -Sampurn (C) Sampun-Sampun (D)Sampun-Shadhav

(ii) #RT 915 BT ST FHal IAT? 1/2
(31) SR (@) Hsar (@) 3R (<) fab=rem
Where Meera Bai was born?
(A) Jaipur (B) Merta (C) Agara (D) Kirana
(iii) BAR TG BT ol AT AT AT? 1/2
(s1) TG @ sy (@) Raga (3) g
What is the original name of Kumar Gandharav
(A) Ramputra (B) Hanuman Putra  (C) Shiv putra(D) Krishna Putra
(iv) ST ggee— A T, A g g W, o 1/2
(67) ~qorent @ @t (@) faem (@) Ao
Identify the Raag:- Ma Ga, Ma Dha Ni Dha, Ma Ga Sa
(A) Bhupali (B) Khamaj (C) Bihag (D) Maalkaus
(v) TR # @RS BT dR 69 IR & dad 82 1/2
(1) ggell R (@) TRRT AR (@) DT AR (8) TAT AR

In Tanpur Kharaj Taar is Called?
(A) First String (B) Third String (C) Fourth String (D) Second String
(vi) Fre=rforRaa & &1 19 a1 af{y gbTer JT 27 1/2
@) WG @ fEm @) wES (Q) el
Which is the following Raag is SandhiPrakash?
(A) Bhairavi(B)Bihag (C) Khamaj (D) Bhupali

70 2 Raa wI=i o gfd @S9 (TR U4 X 6= 3)
Fill in the blanks.

() vRT a9 H =T FTH ..o JHR B Fd gghoar gaferd g? 1/2
InIndiaMain ............ccooiiiiiiiin.. type Music System is follow.




(i) AT TR & DD RIE—INAUE B oo Ped &7

Seven Swara Continue Ascending- Descending order.............. Called
(i) ¥R 3R AT & AR SR ARAT I D oo T 87

According to time and Swara Hindustani (North Indian) Rag........ type.
(iv) TATTTIR BRI @ TTTHGTAT oo AN ST 27

The founder of Gwalior Gharana......................co.
(V) T FQBTT .o offc | AT ST 27

Raag Bihagis .....ccoviviiiii e Thath
RIS R ATATY Bl 87
Punjabi Taal have............coooiiiiiiii beats

70 3 3T AHARIAD I (TAD UTT%% X 7= 3%)
Very Short Type question

(i) aof fobet ypR B 82

How many types of “Varna”?

(i) arer drarel # fhas faeT 81 87
How many “Vibhag” in Chautaal.

(i) AR # fraw IR B 27

How many string in “Tanpura”?

(iv) arears’ foa UeeT &l ded 87
Which text called “Saptaadhai”

(v) S3reatriedl @i fod ax= & |afdd ?
Ustad Alladia khan is related to which Gharana?

(vi) AT AR BT A T forRag?

Write the singing time of Raag “Bhairavi”

(vii) TeT e @ e oty g o Hefed 27

How many Chapter of “NatyaShastra” are releted to music.

Section-B
(@Te—A)

TERRIADHYIE @ SIRfeaq | (TS TTI3/4X 10= 7%)

Y04 UIGIHH H afofd fhdl Ud 7 @1 uds forRay |
Write “Pakad” of any Raag From Syllabus.

405 NI HUTell I ST6, ardl—ddral fofay |
Write the thaat, vadi-samvadi of Raag Bhupali.

Y06 T Udbdlel &Y HIAT, dleil—@Tell forfRay |
Write the beats, Taali-khali of Ek Taal.

1/2

1/2

1/2

1/2

1/2

1/2

1/2

1/2

1/2

1/2

1/2

1/2

3/4

3/4

3/4



[07 SUdTel Bl faumT, drefi—wrell forfay | 3/4
Write the Vibhag, Taali-Khali of Jhaptaal?

J08 SRIYR TR & UM HeAThRI & A9 [aIRay | 3/4
Write the three Artist name from Jaipur Gharana?

909 RN BRM & 09 URig BRI & M faRag | 3/4
Write the three Artist name from Kirana Gharana?

T010 “ITIURNT faary” # f5d FHeATBR HI &8I BT Hheld o7 3/4
Which Artist Creation collection in Anopraag vilas?

9011 Ue IUds B U=eT P FHET Sl &7 3/4
Which text called “Pancham Upved”

9012 Sccted i fooa wieT # 9 fara= reamar # aftfa 87 ey 3/4
Write the language of Shri Malaylakshay Sangeetam, How many chapters in it?

J013 YUS TIH fhd UPHR B Tl B &7 3/4
Which type alap is sing by Dhurpad singer?

Section-C
(EGvs—)

g ge— (1%x2=3)

Long Short Questions:-

9014 “HHNRSATRR T R faR 9 faRag | 1%

Write an easy on “SangeetRatnakar” book?

Jrai(OR)
Ay ARA T R IR 9 iRy |

Write an easy on “ “NatayaShastra” book?

q015 f2gear wifia ugfa &1 qHsIR | 1%
Explain “Hindustani music system
JAAI(OR)
FTced” AMd Tgid B TSy |
Explain Karnataka” music system.
Section-D
(@vs—3)
freeTTee & STRfARag— 2x2=4)

Easy Type Questions:-



9016 UTSIHA H A fBddl o I & WR Arfetdr (A i) falRay |

Write the mention of Swarmalika (SaramGeet) of any one Raag from the syllabus
3Idi(OR)

UehdTel I UR=™, 38, g ferfy |
Write introduction, thah, Dugun of EkTaal?

q017 HRT 9IS BT Sila- IRy g GiId &3 § INTEr qargy? 2
Write the Biography and contribution in the field of music by Meera Bai ?

3UAI(OR)
UfSd SRS &7 Siad IRTy g F3d & § IHTE gdrgu?
Write the Biography and contribution in the field of music by Pandit Jasraj ?




Alfed Y9 UF URIET—2024
fora—afia —=R I (\rT—3)
AR / RR1E / araferd / saxre / faarwar / 9991 / Rier
Part-B

(Music —Melody Instrument)
9T~ 03:15 TS qulich— 24
Section-A (Jvs—37)

50 1 9 A T Sgfaeda el & |l ey &1 997 o) IR GRasT d faRay | (4 Xe=3)

Write the correct answerto the given multiple choice question in the answer booklet

(i) SIS, 3Tell eThax fhdd aTgg & dTed 27 Y

SUREENE] @ far @)W (@) aGga
Which instrument played by Ustad Ali Akabar

(A)  Israj (B) Sitar (C)Sarod (D) Basuri (Flute)

(i) oo &f & Yo & B 97 b3
@1) ST @t (@) Sf. T, oM SIEEIRSEER (8) Sr=Tquri <l
Who is the first Guru of Ustad Vilayat Khan?

(A)  InyatKhan (B) Dr.N. Rajan  (C) Ali Akabar (DAnupurna Devi
(iiii) T @ Tq SR fhw faeiRd ara § fag 8 87 Y

@) Barer @) vearer (@) s (@) i
In which vilambit taal Masit Khani Gat is tired?

(A)  Trital (B) Ektaal (C) Jhaptal (D) Chautaal

(iv) IRT F_Ia B ATE BT AT 7 | b3
(1) EHTSt (@) BT (@) deamor  (]) ANar
Raag Virindavani is belong which thaat
(A)  Khamaj (B)Kafi (C) Kalyan (D) Marwa

(v) RIaR 1 MfashR b faar? 1,
(31) PR &I (q) . }fdeiax (W) faamaa @ (]) gAgIe @i
Who is the founder of Sitar?

(A)  Amir Khusaro (B) Pt. Ravi Shankar (C) Vilayat Khan (D) Imadad Khan



(vi) 31ed g2 TR HIA«T 87
(31) v (§) He| (@) TER

Which Swara is called “Adhav Darshak”

(A) Shadaj (B) Madhayam  (C) Gandhar

w0 2 Raw =t & gt Sy

Fill in the blanks
() I<® H G gferil BT 8°
Saptak have .................. Shuti
(ii) T AT T BT BT HEAT 87
Singing or playing instrument action......... Called.
SRS IC i R— T B
Sangeet Ratnakar ........... Chapter in it.
(iv) 7SR T & JIAD oo 27

Mainhar Baaj founder is ...........

(v) RIaR & ©: areran........ T AR B &7

(Vi) INT TWHIST T 3 ATS........... =

h0 2 AT AGIRIAS UL
Very Short type question

(i) AT 98T &1 ardl w@R fofRay |
Write the Vadi Swara of Raag Bihag?
(i) YTT ATADTT BT TR FHT T -
Write Maal kaus Raag Singing time?

(iii) 1T T aret H fobas faumT B R
How many Vibhag in Ektaal?

(v) USITE a1t § fadr A= gk 87
How many beats in Punjabi Taal?

(v) “_d 7 foam e wR 9d &7

How many “Vikrit Swar” according to Bharat.

(vi) XTT quTelt &7 Sferoft A9 i 27?
What is South name of Raag Bhupali.
(vii) 12 AT @I drat =W oy |

Write name of 12 beats in Taal?

(D) Puncham

Y2

(2% 6=3)

1/2
1/2
1/2
1/2
1/2
1/2
(X7 =3%)
1/2
1/2
1/2
1/2
1/2
1/2

1/2



Section-B

(@ve—a)
TERRIADHYIL @ STRfeIaY |
G04 R BRI # g fAemarg ferfg |
Write main Characteristics of Kirana Gharana
Y05 WfSr UhTIT AT I 3T T FHSIA 87
What do you mean by “Sandhi Prakash” Raag?
b0 T @ gR¥TeT forfay |

o7

yos8

Give definition of Taan

AT GHS BT TRA—T877 fTRau |
Write the Singing time of Raag Khamaj.
31Tt @1 7Y, dreil—@ren forfRau?
Write Trital beats. Taali-khali

909 i Bl qRHTyT ferfay |
Write the definitions of “Kritan”
Y010 3HSIE WM a9 & faeiedmg faRay |
Write Characteristics of Imdad Khani
go11 =il 01 7 @1 ue forRay | (drsassa # afofq)
Write Pakad of any Raag. (Mentuion in Syllabus)
Y012 FORI T 8 ?
What is Sanchari
Y013 HIgT IV BT SFdh (b3 AT ST 87
Who is the Creator of Mohan Veena?
Section-C
(@uvs—a)
del TSR g

Long Short Questions:-

J014

9015

S v gfarfl Wi ugfd @ wRi & A foriag |

Write the name of Swara of North and South Music system.

31T (OR)

g T Feilcd WHd @1 ol fIaa-T diforg?

(IAH UTI3/4X 10= 3%)

3/4
3/4
3/4
3/4
3/4
3/4
3/4
3/4
3/4

3/4

(1%x2=3)

1%

Describe the comparative study of Hindustani and Karnataka music system

HHG GE W Q@NT T SURET B FHIRY?

Explain the “Poorvang” and Uttrang in “Samaya Chakra?

3erdI(OR)

o C
HHY gl BT SEEIER
Explain time theory.

1%



Section-D

(@Ts—z)
fereferTeTe gl @ ST ferfeag— (2x2=4)
Easy Type Questions:-
Y016  3UY UTGIHH &I fhell U M7 A-AIa@ ! Td &7 drel dafed falay | 2
Write down the Mastikhani Gat with two toda of any Raag from your syllabus
3Idi(OR)

frarel &1 ulRer, ore, i+ forfay |

Write tal tritaal with introduction thah, Dugun.

g017 UfSd faeq #red wg &1 Sfia—uR=ay &k &id &3 # anre forfay | 2
Write the Biography and contribution in the filed of music by Pandi Vishva mohan Bhatt

JrEI(OR)

IIMe [Adrad @l &1 Siaa—uR=d iR Wi &3 § drrer faRag |
Write the Biography and contribution in the filed of music by Ustad Vilayat Kha



THAT U
Model Paper 2024
fawa — i (Aret drer / a9t / uEras]) (HT—4)

Sub : Sangeet (Rhythm Instrument, Tabla, Pakhawayj)
WHE ¢ 03 TS 15 fiFe QUi : 24

Yls — 3

Section - A

1) Jgfdeedl Ued : 71 gedl & IR BT FEl [dhed a9+ R ITR—YRIHT |
forfag | (% X6=3)

Multiple Choice Questions: Answer the following questions by selecting the

correct option and write them in the answer sheet.

i) 9Tl BT areqd § ? (%)
) A el §)  9red el
|) T Sl 3)  fHITTe el

What is the meaning of Baaj?
A)  Singing Style B)  Playing Style
C) Dancing Style D)  Kishangarh Style

ii) | ¥ IO dTel dTel R HEA © ? (%)
) dq 9" d)  °d dE
9 giR g 3)  IaAg dIE™

What we called instruments play with wind?
A) Taat Vadhya B)  Ghan Vadhya
C)  Sushir Vadhya D) Avanadh Vadhya

iii) AT @ §I BT 9T e & 7 ()
) od g  guA

) A" YRR



2)

What we call Taal Bol?

A)  Thah B)  Dugun
C) Sam D) Khali
iv) U<l a1 | "9 7 ? (%)
) 10 C)
) 14 3) 16

Taal Deepchandi have beats?

A) 10 B) 12
C) 14 D) 16
v) BT @ 9 & PHH DI T Hed © 2 (4)
3)  UWBR q)  far
q) o g)  fosrs
What we called "Kaal Counting Krim"?
A)  Pashkar B) Kiriya
C) Lay D) Tihai
vi) U. IqRelTeroll &1 ST I 8 ? ()
) [EIAR d) 99R™
9) ol ) HEs
Pt. Chaturlalji born place is?
A)  Udaipur B)  Banaras
C) Delhi D)  Mumbai
Rad Tl a1 gfd s (% X6=3)
Fill in the blanks:
i) AT oo TR g8 Sl & | (%)
Chautal is played on ......................
ii) M BT AUT oo e # fhar S g | ()
Aata is paint ................... instrument.
iii) AT MALDY S o CICGIR (%)



Instrument is ................ types

V) TP ATST H G AT B 8 e FHEATT T | (%)
In one beat two beats Bol called ........................

Vi) 38 TP oo BT THR T | (%)
Aadisoneof ................ types.

JNITIRTHS U & IR U I AAAT Udb Ufdd H AR | (4x7=3%)
Very short answer type questions : Answer the following question in one
word or one line.

i) o T T HEAd § ? ()

What we call so slow lay?

ii) AERT weg BT A} ® ? (%)
Mohara ward similar?

iii) A fbd FEd 8 ? (4)
What is Sam?

iv) USTTeY dret | foraey favmT &7 ()
How many part (Vibhag) in Punjabi Taal?

V)T, XM FE 9 o eRm A 8 ? ()

Pt Ram Sahay Mishr is related to which Gharana?

Vi) BRIE & 9l Bl Il Yele PR IOl FT heeldl © ? (4)
What we called kayade bol Ulat-Palat played?
vil) “RBR&ar M | uRIg deltdR &1 9 forfay & ? ()

Write the name who famous as "Thirakwa"?

Ylg — ¢
Section-B

STEORTHD G @ (I[N Treq HHT T4 50 ITeq) (% X 10 = 7%)

Short answer type questions: (Answer word limit approx: 50 words)

gl fod dEd © ? (3/4)
What is Mukhada?



10)

11)

12)

13)

14)

15)

ey fHd FEd © °?
What is dhyutlay?
UI3hA DI ©: fI9NT B drel &1 = forllaa ?

Write the name of six vibhag Taal, mention in your syllabus?

¥l fbed YR BT 8iar & ? M foRay |
How many types of rela are, write name.
IR Dl gRYTYT EIfSY ?

Define "Jarab"?

“JTOIRTST 19 Uddd &l A9 forfRau ?

Write the name of the founder of Ajrada Baa;j?

®UPG g gl died § FEEA] gdrsy 2

Explain similarites in Rupak and Tivratal?

A AT & SR B A foran ?

Write the name of musician of "Na Dhin Dhin Na"?
g1 Y Ol Ugeid @ Afd a1 dedril & ?

What is called the presentation of Taal by hand?
AR UG BRATS SN fhad Hefdd g ?

"Sadharan and Farmaishi" is type of Which?

Yls — §

Section-C

<Y SR Y99 : (STR Ieq AT ST 100 I161)

(3/4)

(3/4)

(3/4)

(1% X2 =3)

Long answer type questions: (Answer word limit approx: 100 words)

ATl Gd GeIdTel drell Dl gorricad fqaxor foriay ?
Explain comparison between Jhaptal and Sootal Taal

3rerar / OR

AU — SERT BT JATHD eI foRay |

Write the compare study of Deepchandi-Jhoomara Taal.

I fhd ped 27 o1 BT o= § a7 A9 27 gui HIfY |

What is Lay ? what is the place of addiction in life explain

3rerar / OR



16)

17)

T & A= geRT &1 faaR & 9of= g |
Describe in detail the different types of Lay.
Yrs — §
Section - D

[RECIRCARES I
Essay type questions:

qTd 9d BT Td Ua el oIk |

Write Rela and Gat in Taalrupak.
31erdr / OR

UdhdTel BT Sbl Ud DR foTRay |
Write the Ektaal Thaka and Pashkar.

TGS bl I qofa ST |

Describe Pakhawaj with diagram.

312791 / OR

AT &7 A | B |
Describe Tabla with diagram.

(2X2=4)



el A URIET, 2024
Senior Secondary Examination, 2024
THAT URI—-UA
Model Paper
A — PUd JI (|TT—7)

Sub : Kathak Dance (Part - D)

9T : 03 "US 15 fAAe quriep : 24
g —
Section - A
qgfdhedy e —
Multiple Choice Questions:- (4 x6=3)
i) IGIT D 4 AT BT ALl HH BIfCY — (14)

3)  Ug, TR ae, MW 9) ORI US|, Pae

¥) PAacHWHOREL s Q) UG, IR CHTH, BT
Select the Corred Squence of Chaturang 4 Parts -
A)Pad, Taraana, Trivat, Sargum B) Taraana, Pad, Sargum, Trivat

C) Trivat, Sargum, Tarana, Pad D) Pad, Tarana, Sargum, Trivat

i) &1 =1 R ¥ 9l | Jad T Bl o— (1)
) W )RS
) dder 3) UHd

Two different type Bol Mix Creation Called -

A) Bhav B) Ras
C) Tatkar D) Pramelu
iii) SR HYUH RN B fha+l U @ a2 (%4)
) W= q) O
AU q) b

How many Main Branches Jaipur kathak Gharana ?
A)  Five B)  Three
C) Seven D) One



iv) ISThd T Aeal B 9 fbd el | gHIfad © ? (14)

) FARY ¥) SRR
q) AT T) XS

Najakat and Natawari Bol is influenced by which Gharana ?

A) Banaras B) Jaipur
C)  Lakhanau D) Raighad
v) GRS T 59 drd el 9 gq1fad © 2 (4)
) HIEA q)  WrTEd el
) eifdadre 3)  QEedl I3
Kuchipudi dance is inpaired which folk style ?
A)  Kuttattam B) Bhagwat Mela
C)  Ankityanaat D) Devdasi Dance
vi) TTet Usbarel H & BT yANT fhaei R 2 ? (v2)
) 29dR d) 4 9R
9) 6 9R ) 3 §R

How many time "Dhi" is used in Ekataal ?

A) 2 Time B) 4 Time
C) 6Time D) 3 Time
2) Raa ™l & gid BT (4x 6=3)
Fill in the blanks:
i) Tt DI FIRAT T HA AT oo DHEATN B (1)
Taal systematic and original fundamental Creation Called.
i) AN TIBRI & JAd U AT BIA H SD D oo are dref
ST | (2)
In one beat, .......ccvevveennnnne beat bol called in chaugun laykari.
iii) TETET FAFTHAT T T DI ARG gga &l 21 (%)
Gulabo dancer made ............ dance distinguised at international level .
iv) 3MI™ & 9WTd AfERT /oo T BT WRURT ET 7 | A



V) T e oflel T Ry o | (4)

Guru Kundanlal Gangani was disciple of ................ :

vi) I8 9 919 & Jad F AT o HEAT B | (5)
Ras and Bhav Prestion Mix action ................ called
3if STgTRIHD U — (% X 7=3)
Very short type questions :-
1) Wi A1 | NT—uId S¥aR Heell Ug R hyar © | (%)
Spiritual feeling field God Prayer what called .
i) R & gRIg BeTdR &I 19 faRkau | (%)
Write the name of famous Artist of Tarana .
iil) TTURY B AT B A A UgG TIDR o (A
Write the dance partners name, who famous as "Devpari".
iv) 3o HeRIS & far &1 = forRag | (1)
Write the name of Acchan Maharaj Father .
V) BIEHeAl Ud AlfRIRIEA fha—Ucel & IR I3 2 | A
Kathakali and Mohani Attaum classical dance is belong which state.
vi) f=8l 2 Hgaa &Il & A4 foRkay | (V)
Write any 2 sayukat hastakas name
Vii) TGS TR @ gl 2 TIABRI & A fTRay | (14)
Write the name of any 2 dancers of Lucknow Gharana .
YUs — d
Section-B
FLIRIAD Tl & IR QUMY — (% Xx10=7%5)
Short answer type questions:
JATT & 4 M & A4 faRay | *a)
Write the 4 Part name of Abhinay ?
HIA AT ST BT = gRked fafRay | A

Write the introduction of kalbaliya janjati ?



6) Brara @ ANF & IR A, fhae AT H MR ? wwensd | (%)

How many beats are required in four rounds of Chaugun of Trital ? Explain.

7) AT R 7 ? %4)
What is "Natya" ?

8) R Fou & AR ¥ frRav ? %)
Write about Ghair dance?

9) "“HTH! "HSl” g | AT ST STl © 2 A
What is the meaning of the word Kachi Ghodi .

10) O. MAFHST & 7 a1 faivarsii &1 falay ? )

Pt. Gopikrishan dance qualities.
11) XTST =sher (g o 6d UHR BAdh T el d FgA[ Yo fbar| )
How the Raja Chakardhar Singh help to promot kathak dance form .

12) T & UG BeATdRI & A falgy ? %4)
Write the name of famous thumari Artist ?
13) Raeg Irl f5| I 9/ & R 2 | A

Sitendra yogi is famous artist of which classical dance ?

g — 9
Section - C
&Y TIRTHD T (1% X 2 =3)
Long answer type questions:
14)  $HUH I B VARG BN I I T | (1%%)

Write a historical development of kathak dance form .

310dT / OR

SRR 9 oIS ORI & R Bl [RAR o A8y ?

Write difference between jaipur and lucknow Gharana

15) o fd dEd © ? FHsR | (1%%)
Explain 'What is 'Lasya' ?
31erdT / OR



16)

17)

“dreq” fod Ped © ? qHsSy |
Explain "What is tandav' ?

Yls — q

Section-D

BERCIRCR L

Essay Type Questions

(2x2=4)

AT I G Al 1 H AR WK BT | 2)
Explain the different between classical dance and folk dance .

31e1dT / OR
DHABC T el [TR I A |

Explain Kalhakali dance form in detail .

AR I el BT TR ¥ 938 | (2)
Explain Satiya dance form in detail.

310dT / OR
IR &1 R og foalay |

Write the Essay on ' Kalbeliya' dance.



UII—U3 I IS 2024

e — 12
fava —fFe®ar
3afy — 3 g 15 fAAe qurics — 24
1, IR BY HPIUR —
4. SEGD JAHIR gfererd
1. |39 9.5 39.58
2. | SrgaE 8 33.33
3. | SH9ART / 3feafad 45 18.75
4. | P /HifThd 2 8.33
IRT 24 100
2 gedl & UHRAR AHIR —
3. =T ECI 3 pl | geEl B J9g
PIREIG] BT
1. ?R?jﬁﬂ% 7 172 3.5 14.58 | 21.21% 15m
2. | Red wm= 5 12 2.5 1041 | 15.15% 20m
3. | HfdeTgRIHS 7 12 35 | 1458 | 2121% | 25m
4. | TR 10 3/4 75 31.26 | 30.31% 35m
5. | SrdScNT U 2 1% 3 12.5 6.06% 45m
6. | frgerce.| 2 02 4 16.67 | 6.06% 55m
IRT 33 24 100 100 195
fhod JIoHT : @S ' Ud T W B
3. fawg avg &1 FPIR —
B9, [EERICES JHYR | yfaerd
YUe—3 : HHe I U uR<ayg
1 | grogferfy et Bl uReRT 02 8.34
2. | o RIFdolT el 04 16.67
3. | 9IS Plelld oy feradet 03 12.5
4. | <ol AT el 03 12.5
5. | ugTSY faradetr Sl 25 10.41
6. | 9T Whdl 3R ARpIID ISR 03 12.5
7. | AP YRAR Bl 04 16.67
8. | YRA &I SNfAd Holl URFIRTT 2.5 10.41
IRT 24 100




Hel — 12th fovg — @ q:oﬁq; — 24
%9, SeT SPIS /SU DS Elkl EEEIC] AT / At D19 / HifeTehel ART
1| urgferfu fermreber &1 wreR 34 v 26
(@) 6]
2 | ORI fAdeT el 1 Voo | % v 1*
STOMEO! 0 1) AR
3 UK GAIG g BECZS Y (1) E/i) 1(1) (11*) 3(3)
4 | TFH B el 1 Yo |3 v, |34
() 1 [ M | 36)
5 | ugTS! fomda el ) va Az
: : %0 (€)) M | () 2.5(5)
6 | SIS Tt 3R RGOS A 1%
3/4 30)
@) [ @
7 W WRA Bl () | %) (111/)2 ?2/4)‘ ©
8 | MR B SHAd dell URFRTY v (1) gl/;* v (1) ?1/‘)‘ 2.5(4)
wis) | 24) | 24) | 34) 12) 12) | 3@ | 32 () | %) 22/) 202) 2+Q2) | 2433)

el BT AT :— WIS T TG T § UAPF ¥ U NdRd by 2 |

AIc— BISH ® BN B G&T ‘DI DI TAT X B G&T ‘YT ® D B |

xR




Hied U39 U UNI&T—2024
fa— e
HT—12

F9I: 3 gue 15 e qUTieh: 24

e & forv am= e —
GENERAL INSTRUCTION TO THE EXAMINEES:
1. el | 79w U UH X ATED Ifardd: fore |

Candidate must write first his/her Roll No. on the question paper compulsorily.

2. I 93T B A 2 |

All the questions are compulasory.

3. P YT BT IR &l Ty IR JRAST 3§ &1 ford |

Write the answer to each question in the given answer book only.

4. RS gl # aaIR® @vs § 39 991 & IR Db A1 B ford |
For questions having more than one part the answers to those parts are to be written

together in continuity.



(@vs—"31")
SECTION-A

g0 1 ¥ 33 T TgRe oAl & 98 [Aded &1 999 ax SR gRker 7 fofag |

Write the correct answer to the given multiple choice question in the Answer booklet.

(i) ‘FeTdR &1 S fog efera 87
(&) P (@) wfeel g
() PreAPpraid HAT (&) ARGANIRHT
“Birth of Mahaveer” picture is related to-
(A) Kalpsutra (B) Sangrahini Sutra
(C) Kalakacharya Katha (D) Chourpanchashika
(ii) “FT% IR o fos drelt @1 '7
(31) FFTer el (9) weTSt e
() oA et (g) &¥ITeT Bl
What style is Maru Ragini Painting?
(A) Mugal Style (B) Pahari Style
(C) Rajasthani Painting (D) Bengal Style
(iii) ‘<1 Rl & IR o &1 fEeER $F 87

(31) sTaT (@) BTSll AT
(|) aad (®) fagsme
Who is Painter of procession of “Dara Sikhoh” painting.
(A) Basawan (B) Haji Madani
(C) daswant (D) Vihajad
(iv) AR A fHad @fa 27
(37) BgaTE (@) Fromgfes shfern

() srefiemfae wre—II () ganfew faaa
Who is Painter of Nauras Nama?
(A) Kutubshaha (B) Nijamuddin Ouliya
(C) Ali Adil Shah II (D) Ibrahim II
(v) TETEI 3 el & U™ FHal 4 garl?

@) s¥ilEeh  (d) TeR
(&) BTt ({) TR

The Pahari School of Painting is originated from
(A) Basohli  (B) Guler
(C) Kangra (D) Nurpur
(vi) B o &1 T 23—
@) FeuREr (@) oI
(@) TR (q) feeel
Phads-Picture releatd to-
(A) Madhay Pradesh (B) Rajasthan

(C) Gujarat (D) Delhi

V2

V2

V2

V2

V2

V2



(vii) TR el & FoFAHR T
@) g (@) SHad
GIESIES! (]) fave e
Painter of Guler Style is -
(A) Nainsukh (B) Daswant
(C) Basawan (D) Vishan Singh
r=rferRaa arerlt § Rea s @ gl aiforg—

Fill in the blanks in the following sentences-

(i) "D RIerEl” . B3 |
“Chaugan Player” picture is of ................
(i) TSTATHT o BT HRA ITAE 2 |
Rajmnama is a persion translation of ............
(iii) " A ® gig i 2 |

“Bhukha Bangal” is a famous work of ...............
(iv) FIaT UfeT 1 e I A B
Madhubani Painting is related to.......... state.

(v) STARATRET AR EARCERS
Abhisarika Nayika is a painting of.............

frfofaa aift Fgaves ueel & SR U@ dfed 9 fafay |
Answer the following very short type question in one line
(i) Il T 7
What is Baslee?
(i) XR7® fOar ame v fha- ferar or?
Who is writer of Rasik Priya?
(iil) “T=RT I el AMfae 2re 1 fasr =iz faar er?
Who is the painter of the picture "Sultan Adil Shah II Playing Tambura”?
(iv) TR T 2?2
What is Yogini?
(v) TgE 5 IS & SRANT RESR 97
Nainsukh was the court painter of which king?

(vi) U '1890" T TS e fbr TAT?
When was group ‘1890’ formed?

(vii) UETS! el & T AT B 77

Who are the main scholars of Pahari School?

V2

V2

V2

V2

V2

V2

V2

V2

V2

V2

V2

V2

V2



(@vs—"9")
SECTION-B
ffoRed TgoRIe® T & SR A¥eHaq 40 Tl W foRay |

Write the answer of the following short question in maximum 40 words.

4. IR 9RT § 99 e 9 fhaw uRom Ut $1?

From whom did Jain painting get inspiration in western India?

5. foraa = T 27
What is Nimatnama?

6. I A gAT & o & =g fawy forRag |

Write the main subjects of Raja Ravi Verma's painting

7. @ el @ UHE favg w® kR 8

What are the main topics of Company style?

8. Tfdpil el & ol & fawy m 97
What are the Subjects of the Dahkkini Style?

9. afda=1 el # Iz u=eif & M foral?
Write name of the texts depicted in Dakkini Style?

10. "“HHdT g R A feooft forRay |

Write short notes on Calcutta group.

11. A% 1T TR &1 Hell § MY T 93 27
What do you know about Art of Ravindra Nath Tagor?

12. TIBHICT B Jichar ART H fh—dha &= H 918 Sl 572
Where are the Idols of Terakota made in India?
13. "NIFAT" BIF BT 87 ARV |
Who are Bhomiyas? Explain.
(@os—"q")
SECTION-C
frforRea < ST U9l @ SR T 150 IRl | forRag |

Write the answer of the following long answer type questions in approximate 150 words.

14. Tl q1 BT YD ARAII DHell H AN FHASY |

Write the contribution of Nand Lal Bose in modern Indian art.

AT
gl YA TS DI FAHT el vd RE IR UahTer STfer |
High light the paintings and painting style of Abdul Rahman Chugtai

15. RGN HeAT H A Bl & [AH W YT SIfery |

High light the development of abstraction art in Indian Art.
AT

qex o1 o freat @fa 2° 9 o @ faRivarg fafey |

Who is painter of Mother Teresa painting. Give the features of this painting.

3/4

3/4

3/4

3/4

3/4

3/4

3/4

3/4

3/4

3/4

1%

1%



(@vs—"g")
SECTION-D
f=farRaa FemareTes ool @ SR ARSI T 250 Weal # foaifay |

Answer the following essay type questions in approximate 250 words.

16. B Pl Gl Hell DI DRI o ¢ IAD! G fIRIAY Farsy |
Give information of Akbar period Mugal Art, and its specialties?
AT

T Bl B ARAT HeAl H Aol INTEH AT | I BT
‘Mugal period had important contribution in Indian Art’. Explain it.

17. SRR oA el & Iqwa e vd 59! T faRwarsii &1 auie @iforg |
Describe the origin, development and main features of Jaipur style of painting.

eyt
FHTR Uell & IgHd, [IHNT 3R IHD! faevamil &1 aoi= I |

Describe the origin, development and main features of Bikaner style of painting.



UI9—U Pl ISl 2023—24

th
wHeIT — 12
fava — efasm
3@y — 3 |ue 15 fie quiies — 56
1, Igaed B IAPIR —
Eokch SEEta JHAR gfarerd
1. |39 75 13.39
2. | 3raqr 11.5 20.54
3. | SRR / srfaaafaa 21.5 38.39
4. | P /HifThd 155 27.68
I 56 100
2. U9l & JHRIN FHIR —
. Yl Pl bR U Bl | b B b gfcrerd gfderd | |wifdd
9. e | gfd g (ot o) | eie) | @
1. | TS 16 A 14.28 31.37 30
2 | Raa v 10 A 8.92 19.60 20
3. | SAfcreTegTRIcAD 8 1 14.28 15.68 25
4. | THIRTHD 12 1,/ 18 32.14 23.52 60
5. | STISTR 3 3 9 16.07 5.88 25
6. | FdeTHD 2 4 8 14.28 3.92 40
T 51 56 195 fOe
oy o @Woe 9 Ud € H ©
3. fawg avg &1 APIR —
st fawa T PR | gfawrd
1 | AT —1 BRI JATIdRT q2AT SifddhT 4 7.14
2 | JYTI— 2 UINUT W@re s SR e 3 5.35
3 | g — 3 O YU doIT WReg 3 5.35
4 | AT — 4 W GEEHIIT 3R Urenfrar 3 5.35
5 | 3UR — 5 WY YU R Wrel gRa 3 5.35
6 | I — 6 URMID dredaReqT @I 3NN 37T 6 10.71
7 | AR — 7 g, JATAl SR GO b [l AR Hamsil 6 10.71
8 | gy — 895 N URYH 4 7.14
9 | 3T — 9 B fIuigd 3R IR 3 5.35
10 | I — 10 AR & I @Yl 3iN ERET 3 5.35
11 | =A™ — 11 3T ga=e= 4 7.14
12 | AT — 12 SUYTAT 16T 3R FR&To 6 10.71
13 | I — 13 fAdrT IR TAT YFBIRT 4 7.14
14 | I — 14 FRIAG FEUYOT AT STI=ID 4 7.14
N7 56 100




th -
HeTT — 12 favy — Tefasm QUi — 80
B4 SeT SPIS /SU SHIS I SN / e D9 / HifeTehelt AT
1| ™ —1 BRI SATSIdDT do | | 1 1 1
A Ya(1) Va(1) 1%(1) Va(1) 1(1) 4(5)
2 ;;wra— 2 UYoT =T {9 3R o ) " 33)
3 | U™ — 3 9 UIvor g
Y 3()* 3(1)
4 | IR — 4 W TEDRIT IR
A ZOMRZ0) vA(1) 11%(1) 3(4)
> gimggaf el ot S 20 14(1) 1(1) 3(3)
i ?@WIIH_@\?? e . g 1(1) 3(1)* 11%(1) 6(4)
7 am;; é,réﬁﬁ Wm ZO B2 (1) Ya(1) 4()* | 6(5)
8 YR — 89 IR IR va(1) Ya(1) Ya(1) 1(1) 11%(1) 4(5)
9 |3 — 9 BIH AR
ISSIER] 3(1)* 3(1)
10 | I — 10 Gl H a5
; &R (1) 1/4(1) 1(1) 3(3)
11 | U — 11 3T Y=+ ZOBZ20) 1(1) | 17%(1) V(1) 4(5)
12 | AT — 12 SUHIT 8T 3R
i) va(1) Ya(1) 11%(1) Ya(1) 302) 6(6)
13 | 3T — 13 fdBN FaR qol
EEEAINGI ay | 4(1)
14 | 3R — 14 fAfAa FHuwor , 1
o ¢ 12) 1/%4(1) () | 1(1) 4(5)
AT 2/Ys
5(10) ) 12) | 11%03) 9(6) 143) | 12) | 7(7) | 6(4) 6(2) a(1) (1) | 32) | 3(1) | 82) | 56(51)

e &Y Ao -— TUS F' TG T H UAPD W U INdRP [Abcd 8 Hlc— HIod & dI8x I G&T Bl I Tl Iex &I =T ‘U & &idd © |

xR
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1. URIETfT gduerd 379+ U UF UN A Sifaria: ford |

2. FW U B B AfErd T |
3. Ul @ SR al T3 SR gRAHr H & ford |

4. 9 Uzl § <Re WUs B S9d SN Ub 1T &l ford |

5. U3 BT SR forge | qd U &1 HAid aed ford |



g — I
Section - A

gfapedl ue : 9 UeHi & SR &1 HEl f[Jded o9 dR STR—gRAHT H
ferfag |

Multiple Choice Questions: Answer the following questions by selecting the

correct option and write them in the answer sheet.

i) et Rrey ®ef &1 ulig © ? (2)
3)  HACH §) e
d) SR QY S IRSIE!

Where is Shola Shilp Famous?
A) Karnataka B)  Orrisa
C)  Uttar Pradesh D)  Punjab

ii) T1 1 fARME &3 o R & FHI b YU A FRE §, dedldl o— %)
) RERSfChed §) Yo
) ol o T)  HeI® 9o

The specialized area of Nutrition which deals with nutrition during illness is

called-

A)  Nutraceuticals B)  Public Nutrition
C)  Bio Nutrition D)  Clinical Nutrition
iii) © DI 3R Ha AHFIT: BId B— (%)

) R T B BrRIHA q) MY T &1 HRi%A
) UP AWE BT BRHA &) URE [QF BT HrAHH
Day care and Creches are usually programmes-

A)  All day Programme B)  Half Day

C) A Week D) Fifteen Days
iv) 9 BT AR a1 da-iieh 8 ST ded] AFRRT $l dIR AR I TIR
Sarel # gaof ot € ? (*2)
) e fagmE E) IR CI GRCIE|

|) @ g 3) SWEd H 9 B3 T2



What are the methods and techniques used to transform raw ingredients in to
finished and semi finished products?
A)  Food Science B)  Food Processing

C)  Food Technology D) None of them

V) WRAE A€M & BT AT 99 o I [l W SR H
JISHTR &R Fgfaa & |dea Aal 4 @ ARG B AT BT TR

TR ? (4)
&) Irgwss 16() 9 Irgwss 19()
| argess 21() q)  rgess 18()

Which article of constitution of Indian guarantee equality of opportunity for all

citizens in matters relating to employment and appointment to any office under

the state?
A)  Article 16(i) B)  Article 19(1)
C)  Article 21(i) D)  Article 18(i)
vi) YRA H PR & forg urerfiess fafee erar aie«r g 2 A

) fruR = efaf=a| 2000 q) fouR = A 2002
W) feeiR =g erfefa\ 2005 3) fouR = erfafaHm 2007
What is the primary legal framework for Juveniles in India?

A)  Juvenile Justice Act 2000 B)  Juvenile Justice Act 2002

C)  Juvenile Justice Act 2005 D) Juvenile Justice Act 2007
vii) UTIRIBROT UshA Bl fdmiad fhar — A
3)  feeN vWE | §) o UTR
q)  dreliferan q) ged H
Pasteurisation process developed by-
A)  Nicolas Appert B)  Louis Pasteur's
C) Galileo D) Newton
viii) B T & ? VA
) T BT AM q) T BT HH
¥) T BT gedhrad §) AT BT TERUA
What is Hue?
A)  Colour Name B)  Colour Value

C)  Colour lightness D)  Colour darkness



ix) 9= Haeeld &l B T VA

) g=@l BT O IGAT AP ©

9 I UH TR A IR B ©
[)  arearaRe ¥ @ el § g fAer g @
T) gl B R AU Bl ©

Why are Children vulnerable?

A)  Itis necessary to take care of children

B)  Children fight with each other

C)  Childhood is a period of rapid development in all domains
D)  Children have health issues

X) WIfd [ 5 (%)
) 9 B
W) AR q)  Pral
Primary Colour is-
A) Red B)  Green
C) Orange D) Black

xi) I8 WRAT SN BIcd Sl & JdT¢ Y= Bl & A7 B B FHIY UIfhT B

Ffaer A1 use &l & deardl § — A
) @ §)  HAled
q) IrRudrd T)  SWRIGd H | Dl A8

Which services provides services like a hotel and provides parking facility near

the room or room door that open out on to the parking lot.

A)  Lodge B) Motel
C)  Hospital D)  None of them
xii) eTfied =ash BT AfeaH sraverr HIFRT § ? (%)
3) ST d) ST gd
) U 7)) P W AU
Which is the final stage of hospitality cycle?
A)  Arrival B)  Pre-Arrival

C) Departure D)  Occupancy



xiii) 741 % 9 DIAT TG YE NH BT AT <l & — (%)

) EAHD q) JEED
9 Red 719 T) SWRIad 9l
Which of the following labels gives assurance of pure silk-
A)  Hallmark B)  Woolmark
C)  Silkmark D)  All of them
xiv) T SR #§ g feae UeR & ARl ST GIRT g © 7 VA
q) T q) @
) O 3 TR
How many types of communications are used in corporate communication?
A) One ° B) Two
C)  Three D)  Four
xv) Y IUE WISH | Ugel DI AlGY <9 o+l dATfey— (5)
I TS q) 3N TS /TP
|) gD T) U%.Ta.
Which seal should be checked before purchase agricultural product-
A)  Agmark B)  ISI mark
C) Wool mark D) FPO
xvi) Fr=forRaa # 9 o9 R SIS & B— (%)
) TIR HNAT q9) gErYg 990
W) UerRE 3) SWRIgd 9l
Which of the following function of public relation-
A)  Publicity B)  Maintaining Relations
C)  Publications D)  All of them
Rew Tt &7 gt @i
Fill in the blanks:
i) B BT T AATAG oo AR S B TR Ffdd T Faly
fiyerar €1 ()



i) fAPR @Ter uared 4 8 S o fod & @R 8 9 2 VA

Perishable foods are foods that spoil quickly within ................... days

1) FHATS & el $HIS o— VA
................. is the basic unit of society .

1170 N BT A G D Tb 9N BT §AX BT 91T A = 8lal o | (%)
................ Concerns the relation of one part of an object to another.

v) e UGTef ¥ TR & T 8 O TR W BE o I O %,
S B aRS Ay o= &= & | (2)

Some ....coccevvieniiennne produce harmful toxins which are present in food even if

pathogen has been killed.
Vi) TH 3 T H TP gl 2 | VA

SOS home thereis a ................ .
vii) gerd & o o’ @ik R # faf¥re fAfde <o &1 SwanT axad ® R

........................ FEd ¢ | (%)

For washing the make use of specially marked places in towns and cities

called ................ )

viii) VERI U ATAIRD oo =l (%)

Restaurant is a commercial ...................

ix) SYHTEAT AT AFAFTIH SyHTa & fRd H TP AEw@YOl 2 1 (%)

The consumer protection Act is an important ................ in the interest of the

consumer .

x) TR AR U ¥Rl HATSATHD TR BT o axar gl ()
Corporate communication ................ a healthy organizational environment .

SAfTeTgeRIcA® U3 : 7= Ul & <R Ush ¥Teq 3feral e dfde H <o |

Very short answer type questions: Answer the following question in one word or

one line.

i) R g Yol BT qH bt & ? (1)
QWL is related from ?

i) afe fdd d8I9T € A7 SHH! SMER ol H PIs FHRAT & o U ufdd BT 31y

[l UbR Ao <3 7 (1)




If the person is unconscious or if there is a problem with the esophagus

then how  will you give food to such a person ?
iii) 4 (R &) 71 8 ?
What is creche?

iv) @ AF®l & fhd- W) 8 8 7

How many levels of food standards?

v) feose @ fhdwt &R® 8 € ? 19 98y |

How many factors are in designe write names.
vi) gaTs @l 7 & fhae JaR & Afed Iuae T 2

How many types of models of washing machines are available?

vil) IP ST 4T 8 7
What is check out?
viii) TS AR & UE 89 S g7 AW ol |

Write the name of major areas of communication activities.

g — ¢
Section-B

THRIHSD U : (ST Ueg HHT T4 50 ITeq)

Short answer type questions: (Answer word limit approx: 50 words)

31fqut HR ¥ IMY FIT AASIT © ?
What is meant by meaningful work.

TN IER fhd Ped & ? SIEN0 Afed AHssy |

Explain liquid diet with examples ?

BIcldg @re Uarel I 39 ] FHsK © °
What do you understand by formulated food ?

TS T3, 3R Bl H 3R IdTsY |

What is the difference in between codex and ISO?

[T T AT 918 |

Draw colour wheel .

(1)

(1%2)

(1%2)

(1%%)

(1%)

(1%2)

ST UI3Tadl 2005 @ SIJAR URME dedraee)] @4l 3R fRrer & qd

SGaY T B 7
According to NCF- 2005 what are the basic objectives of ECCE?

(1%2)



10)

11)

12)

13)

14)

15)

16)

17)

e WR R galls [Gad qan b Iudoll & Aol 9 & ol & 2 (1)

How and with the help of which equipment is washing done at home ?

3fcred FENT & U fa9mIl &l fera § J9smsy | (1%5)
Briefly explain the major departments of the hospitality Industry.

SUNTAT FReTT JrfSfd =y § 7 (1%%)
What is consumer protection act.
FREAT BT ARTHR FT 8 ? (1%%)
What is right to safety ?
1 G AT T FH § 7 (1%4)
What do you understand by public relations ?
RIS DI WIS FHT YA DI FIT YT B! ¢ | (114)
What are the expectations of the consumer while purchasing goods?

Yls — ¥

Section - C

4Y I T : (STR Feq AT S THT 100 918

Long answer type questions: (Answer word limit approx: 100 words)

IS el fddR (IDD), 9 dig d@ BMARA) @ A I Raadl (IDA) &I

Y | (3)

Explain iodine deficiency disorders (IDD) and Iron deficiency anemia (IDA) .
31e1d1 /OR

AR H OF UINUT §HRIBH A SEF @ fo1g Bl BRIl &1 garT fdan

ST ® 7

What are the strategies can be used to combat public nutrition in India?

URM® Ireurd=ell & ATaid] § B HIgel 8 ATy ? (3)
Which are the skills needs to have an early childhood professionals ?
31dT1 /OR
rforRaa— or dferay | fewoft faRgy ?
1) R <@ b
2) T ThA



Write short notes .
1) Day care centres.

2) Nursery Schools.

18) I @b B WRI Pl THSSY | (3)

Explain stages of fashion cycle .

317d1 /OR

BYF feosT & &3 H 3Md Sifdhl IUA] & by B+ feoiga & fhA
SHfdeTell BT SHfddT & w™T | JUAT Fhd & 2

There are a number of fashion design careers available which popular fashion

design careers can be considered as a career?

19)

20)

Yls — q
Section - D
IEEIPIR G LS i
Essay type questions:
AR H gamwil & fory Farferd fFrefoRad drisHl &l W Bifs— (4)
(1) I FaT W HddD Groil
(2) X <A ATSTT
(3) wpTST 3R TS
(4) \Tefad HrEAT BT UcATET

Explain the following programmes run for youth in India-

(1)  The National service volunteers scheme
(1)  The National service scheme
(111)  Scouts and guides
(iv) Promotion of Adventures
31efa1 / OR
BIC gl DI ATATRS Thell e F Ugel faRy FIuaRe HRIsA Bl

Il ] Bl &7

Why do young children need a special Informal programme before formal
schooling?

AT Ud WRNfTar | M Far FEST § 2 (4)
What do you understand by Information and communication technologies

(ICT)?



3rerdr / OR
FfeRaa v fewo forRed—
(1) fap™ F9R
(2) fa®rT UHBIRAT
Write short notes-
(1)  Development Communication

(1i1)) Development Journalism
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e — 12th
fawg — wfasm
3@y — 3 gve 15 e quiieh — 56
1 I 7Y PR —
EoRs SEEta JPHAR gfererd
1. | 3 13 23.22
2. | 3rgdwEr 30.5 54.46
3. | SRR / srfaaafaa 08.5 15.17
4. | DA/ HifeTddl 4 7.15
AT 56 100
2. g & YHRAR JHIR —
: Y3l Dl bR YAl Dl | 3D Bl b gfcrerd gfderd | |wifdd
9. =g | ufd gee T ®) | i@ | 9T
1. | TS 16 Y 08 14.29 31.38 20
2. | Raea = 10 Y 5 8.92 19.60 20
3. | SfTeTEeRTcH® 08 1 8 14.29 15.68 30
4. | THIRIHD 12 1/% 18 32.14 23.53 40
5. | ATESTRIY 03 3 9 16.07 05.88 40
6. | FagTH® 02 4 8 14.29 03.93 45
IT 51 56 100 100 195 fA9e

fhey AT : Wog ' Ud € H 2

3. fawg avg &1 PR —

sl [EERIERS! PR | faerd
1| FAd=S o ¥ faRean 08 14.29
2 | 3H ud Hfdaa 08 14.29
3 | Slias @1 gANadl &1 AR 07 12.50
K CEISCACE 09 16.05
5 | FRifbcar Surm 08 14.29
6 | AfUglicd Fel= AT Hel 08 14.29
7 | AT yMTd IR WHE U 08 14.29
T 56 100




g0 &g fue

HE — 12 o — wfsm qUli6 — 56
F| O R /TW IR SEE SRR /STt et/ Aferpar T
.
s HiI: EE R
E £ E E

1| NS o A @R ) | ) 1) | 1%(1) o 0569
2 | 3 Ud fddd V(1) | (1) 1) | 1%2) | 3*(1) 08(6)
3| S B AR BT A |5 |y 1(1) r 076)
4 | wAEIS faeR %3) | %) 1%(2) ;‘*(1 09(7)
5 | fafecar s %(3) | %(2) 1) | 1%03) 08(9)
6 | STIST AT AT | | 1402 1) | 1%(1) |37 1%(1) 056
7 | AHIRTd UHIG 3R W8 UhH | %) | %) 1) | 1402 08(9)

AT |6 | s010) 5 1 esan | 62) 1%(1) |3 | 41) 4(1) | ses1)

famedl @1 Ao -— @ve W' TG T H UhD H U IdRed ey 2|
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Yls — A
Section - A
TS U -
Multiple Choice Questions:
(¥ xvi)F = Tl & 98 AP w99 @1 T R 4 TR SuR-gRaeT H
ferfag |
Choose the correct option of following question (i to xvi) and write in given

answer book

i) AFT B AFRAS TAT FIBRURS [ATATAT BT GRS AT A ATID

g 21 °? (V2)
) UeIr §)  HAAASITS gRIET
|)  EehR ) MH—Yfcrde

It is an objective and standardised measure of an individual's mental and /or

behavioural characteristics

A)  Observation B)  Psychological Test
C) Interview D)  Self-Report
ii) -3¢ & RNGT 4 S 1 YdR s 781 § ? (V2)
3  drfbe—r q)  IRIRS—IIfadddl
|) s gig T)  H9ENTd

Which type is not included in theory of multiple intelligence ?
A) Logical Mathematical B)  Bodily Kinesthetic
C)  Experiential Intelligence D)  Linguistic Intelligence

iii) 3MUY IR ®I Ff3d AR IR AT AiFex B D ATl A R Ay
2 | (“2)
3)  AH—HETHAT q) H—rg=or
) H—UgeT <) AT



Our ability to organise and monitor our own behaviour refers to?
A)  Self-Efficacy B)  Self-Control
C)  Self- Reinforcement D)  Self-Regulation

iv) I8 9 Ay PIeral ® 96 gRT Gd1d & I&ToN oIl SRl Si—<d
G Ud g INT, S J9Tdl H HHI B ST Fhdl & | (V)
&)  fasnfa & qoire 9) =g gfehan
d)  FOAD ATTA—TIENDRUT €) SAayfauTied

It is an active skill that reduces symptoms of stress and decreases the

incidence of illness such as high blood pressure and heart disease .
A) Relaxation Technique @ B)  Meditation Procedures
C) Creative Visualisation D)  Biofeedback

V) BT §RT BT MY sMgE stegas 4 e A ek defid axd 21 (V%)

) AR g  fE
q)  gfddgdn T) =™
Kobasa have studied in his Recent study about three 'c' s which refers to .
A)  Challenge B)  Control
C) Commitment D)  Courage
vi) ®IF AT S99 BT YHR T8l ¢ | A
)  Aifaw vd gufaxolt gem@ @) ARASG <919
d) MG <dd §) ISR 4§

Which is not included in type of stress ?
A)  Physical and Environment stress B)  Psychological stress

C)  Social stress D) Behavioural stress



vii) JMEATET—10 BT Bl BIH — (V2)
3)  dFIRAI BT YRA aFfieRer §) fAeRI &7 IR aFfieRor
) dHIRAT BT STORIST aHdRol )  fABRI BT AR aifidRor

ICD-10 full form -
A) Indian Classification of Diseases B)Indian Classification of Disorders
C) International Classification of Diseases D) International Classification of

Disorders

viil) <, e, Sruisi e g wa R day fodl avg & &1 811 & qen
g srferaaamar ok Tefra a=ra grar 2 | (V)
3) faarTs gEar feR 9)  offde faeR
d) AEdgd giedr fder €)  faRme guifa

Prolonged, Vaque, Unexplained and intense tears that have no obiect,

accompanied by hyper vigiliance and motor tension .
A)  Seperation Anxlety Disorder B) Panic Disorder
C)  Geueralised Anxlety Disorder D) Specific Phobia

ix) I8 fha yeR @l fAuifq g, R INR & 3ieR g gfed gq 1 avar 21 (V)
) el fawfa q)  g9aqr fagifa
) ror fagifa 3) ofes fouifa
Which type of hallucinations is this in which a person feels something happening
inside the body .
A)  Tactile Hallucination B)  Gustatory Hallucination
C)  Olfactory Hallucination D) Somatic Hallucination

X) 3Tede UfeTT = I STALROM TIR Y | (V2)
3) AP fAHIGIHR q)  TrHA dawRl
F)  ufaeu 3) 9T d@ fafdc




Albert Ellis formulated the concept of -

A)  Systematic Desensitization B) Token Economy

C) Modelling D) Rational Emotive Therapy
Xi) ICTee T JIaURUN fhdas gIRT & T8 o | (V2)
a)  YRe v q) fagex Yaa
) Bl Ior g) faferw o=
Gestalt therapy concept was given by -
A)  Freiderick Perls B) Victor Frankl
C)  Carl Rogers D)  William James
xii) ARy sraven foa fafecar & siaifa amdl B (V%)

o

3) AT fFHfbcar ) iRdaurs fifdcdl

W) AEHHe FdeR ffee ]) Harefi—afea fafde
Self- Actualisation stage comes under which therapy ?

A)  Humanistic- Existential therapy B) Existential Therapy

C) Cognitive Behaviour Therapy =~ D) Client-Centred Therapy

xiii) IAGRT BT TGN, TcHl H FefHa w2 | (V%)
3)  HIEATHDG—IITa—SICardr 9)  HEHG—[AaR—HST TS

) HAHO—FIERIGR—FHD ) HTAcHDH—FIERID— b sl

A-B-C Components of Attitudes refers to .
A)Affective-Belief-Complexity B) Affective-Belief-Cognitive
C) Affective-Behavioural-Cognitive D) Affective-Behavioral- Centrality

Xiv) HsAS fadarfad o auery fea gfaurfad faar| (1)
31) BIIRHY q)  flheo B8R
V) TE.UAHARRE 3) fordf{ mRER



2)

Who proposed the concept of cognitive Dissonance ?
A) Carlsmith B)  Fritz Hyder
C) S.M. Mohsin D) Leon Festinger

Xv) THHT gRT T8 Ufd [AmracAd Al 9 T[oRdl © | B AT 8l 1A
= (2)
31) ffor, favereq, ufommE, fAsares vd Ao
q) AT, fTeE, wiowe, faweras va |HmA
W) fwres, i, gftme, fdwras v \maE
]) AT, fow, fawereq, e vg /A

Tuckman Suggested group pass through five developmental sequences. Which is

correct sequence ?
A) Forming, Storming, Norming, Performing and Adjourning
B) Forming, Performing, Norming Storming and Adjourning
C) Performing, Forming, Norming, Storming and Adjourning

D) Forming, Norming, Storming, Performing and Adjourning

xvi) faftre @ragR @1 31T wah & S &fdd & T feu v amiiote aed |

fafya a=<ft 2| 98 a1 HEar 2| (2)
31) A a1 9 ® 9) eRmda ar ufost
) qABIY Q) A
The typical behaviour that depicts a person in a given social context. It refers to -
A) Norms B)  Status
C) Roles D)  Cohesiveness
Rat vt @1 gfeh e
Fill in the blanks:
) R &1 31 el aafdd o dierdl & 3roid @ forg sfafifed dwrerar
J R (2)

.......................... Refers to an individual's underlying potential for acquiring

skills .



ii) 59 o0 q@d © & 39 T 1 §YSS & UeT H T AT 39 Ig 31g9d I ©

& I8 gfedIo AT =R Sa1 & g1 defiad AT ST R6T & | I8 Udh UhR
[ 2] = (V2)
When you find others also favouring capital punishment, you feel that this view

is validated by the public . This is sort of ...........ccoeenneee.

1) S fFTAT BT b FHEA AT THATHIIT © %Rﬁ QANT T I AT
Rerfer # wawTaer SuRerd v&d 2| (2)
................ Collection of people who may be present at a place/ situation by
chance .
iv) ARTeted TRIeTvr fhda gRT fAdmRad far a1 81 o (V2)
The Inkblot test was developed by whom ................. ?
V) T91@ H GAS &1 GRT M .o (12)
In Stress, Full form of GAS is............
vi) PTSD &T QT A ..o 2 | (V2)
PTSD full form s ................
e} I H AYY 2 {6 T Ffad & IRUeT 9§ A7 IHD W[ R W Dl
RGP Tl DI FAHT | (V2)

.............. Means understanding things from the other person's perspective. i.e.

putting oneself in the other person's shoes.

Vi) o A gig—aaT disd UK | ()
.............. Proposed the structure of intellect model .
ix) 1Q ®T T oo | (V2)
Formula for "IQ" is ..............
b9 I D e Ifaifed sT‘jﬁmT & agE) gRomq & |1 gaRIg=d drged |
= (V%)

.............. Refers to repeated association of undesired response with an aversive

consequence .



=1 yeal & SR Us ufed | Y|

Give the answer of the following in one line .

i) GIHITOT IT ST AT 7 | (1)
What is Audience ?
ii) Aeerar @ & ? (1)

What is cohesiveness ?
iii) 9T & AT BT JMER T 7 (1)

What is kernel of truth concept ?

iv) IHRIHD Ydeld daT 8 | ? (1)

What is positvie Reinforcement ?

V) I T T 7 (1)

What is Eustress?

vi) cafdda @ 8 ? (1)
What is Personality ?
vil) qRT A §—a ? (1)
E.Q full form ?
viii) 99 UBR & THEI & A gy ? (1)
Name three types of groups ?
Yls — q
Section - B

AITRTHD T : (STR IR AHT ST 50 IR

Short answer type questions: (Answer word limit approx: 50 words)

Ifdd i a9 H affferd 8 & ? 1,/ Y%)
Why do people join groups ?

aIed §RT UlaTiad hiAd [ IhRoT ddbile ®I FHSY ? (/%)
Explain systematic desensitisation technique introduced by wolpe ?

A B B1 ufhar o1 FHssy ? (/%)

Explain the process of psychotherapy ?



10)

11)

12)

13)

14)

15)

16)

qaiyg FRIF SR B U] B AR BN ? (/%)

Explain the strategies for handling prejudice ?

glg—eafeT & AR W AfFTIl & GATHRN DI oI B ? (1/ %)
Describe the classification of people on the basis of 1.Q.?
RrrHe ®ma gr1 fay U faf=1 R & 1 5 &7 9o o ? (/%)

Describe different kinds of defense mechanism given by sigmund freud ?

HISSHT 3R IFTHT & JJAR b GHR & Afdded d ALga.El [Ahiyd g
BT SIRGH HRE AD Bl & AR FAT?

(1/%) According to Friedman and Rosenman, which type of personality has more

riskfactor of developing CHD and why ?
AT DI JATIR DI FHSMSY ? (/%)

Explain the concept of abnormality ?

FIIRI—aregdT fAdR &l ga=1sy ? (1,/ %)
Explain Obsessive-Compulsive disorder ?

Aarefl—fad fafbear o1 wHsmsy ? (/%)
Explain client-centered therapy ?

gl fFHToT @I g9IfaT &R a1l HReb @ A9 darsy ? (1,/ %)

Name some factors that influence attitude formation ?
g AT BIAT © IR SHGT 0T & grar g ? (1,/"%)

What do you mean by group and how group formation ?

Yls — ¥
Section-C

<l ST gl B SR T ¢ (SR 2 AT T 100 I1e1)

Long answer type questions: (Wort limit approx - 100 words)

gfg B IS, ATIF—Hd YaIEe defl Fehlih—ATghAd Aled [WR A
Y ? ©)
Explain planning, Attention-arousal, and simultaneous- successive (pass) model

of intelligence in detail ?



17)

18)

19)

20)

AT

HIaATcHS lGATT IT AIRTD i AR Siiast # e ger qfHer FHrd & ?
REEIFI
How emotional intelligence plays role in an individual life ? discuss .

PRIS & o & R 3R Afdaa—{IdrT $ AR & ARAT B 2 (3)

Explain the freud level of consciousness and stages of personality development ?

AT

bl U UTe— HrISdTE! SUNH DI IR A FHESY ?
Explain any one neo-freudian/ post freudian approaches in detail ?
sfvaf aRad 1 TR B RRAR I ? )
Explain the process of attitude change in detail ?

ST
Jffgicd &1 IR wig faRiydmeil &1 o= &y ?
Describe four significant features of attitudes ?

Yls — q
Section - D
e e U (STIR eeq HIAT N THIT 250 Te])

Essay type questions (word limit approx - 250 words)

UdTe I §NT GAAdREG ® UfhaT & Y A Afed T quid difoig 2 (4)
Describe the General model of the stress process by flow chart?
AT
TG FT 7 3R TG AT GG BT AAAT HRA DI Al qarg ?
What is stress and explain the techniques for coping with stress ?

T gf¥aar faeRi qr S99 dvi @ 9 H fOaR | qa] ? (4)
Explain major anxiety disorders and their symptoms in detail ?

ST
Aed oA ¥ Haed fIeR d&1 g ? IRE IR dleoM Jfdd & fog oy
BIeRS § ? (4)

What is substance related disorders ? how alcohol and cocaine are harmful for
individual .
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GENERAL INSTRUCTIONS TO THE EXAMINEES:
1.Candidate must write first his/her Roll No- on the question paper compulsorily-
2. All the questions are compulsory-

3. Write the answer to each question in the given answer book only-

4. For questions having more than one part the answers to those parts are to be written together in
continuity-

5. Write down the serial number of the question before attempting it.

6. If there is any error/difference/Contradiction in Hindi & English versions of the question paper, the
question of Hindi version should be treated as valid-

7. There are internal choices in Question No. 17 to 20 and 24 to 32



SECTION 'A'
(1-8) Read the passage carefully and answer the questions that follow:

The tests of life are its plus factors. Overcoming illness and suffering is a plus factor for it
moulds character. Steel is iron plus fire, soil is rock plus heat. So let's include the plus factor
in our lives.

Sometimes the plus factor is more readily seen by the simple hearted. Myers tells the story
of a mother who brought into her home as a companion to her own son-a little boy who
happened to have a lunch back. She had warned her son to be careful not to refer to his
disability and to go right on playing with him as if he were like any other boy.

The boys were playing and after a few minutes she overheard her son say to his
companion,"Do you know what have you got on your back?" The little boy was
embarrassed but before he could reply, his playmate Continued "It is the box in which your
wings are and some day God is going to cut it open and then you will fly away and be an
angel."

Often it takes a third eye or a change in focus, to see the plus factors. Walking along the
corridors of a hospital recently where patients were struggling with fear of pain and tests, I
was perturbed. What gave me fresh perspective were the sayings put up everywhere,
intended to uplift. One saying made me conscious of the beauty of the universe in the midst
of pain, suffering and struggle. The other saying assured me that God was with me when I
was in deep water and that no troubles would overwhelm me.

The impact of those sayings also made me aware of the nector springs that flow into
people's lives when they touch rock bottom or are lonely or even deserted. Nector springs
make recovery possible and they bring peace and patience in the midst of pain and distress.

The forces of death and destruction are not so much physical as they are psychic and
psychological. When malice, hate and hardheartedness prevail, they get channelled as forces
of destruction. Where openness, peace and good-heartedness prevail, the forces of life gush
forth to regenerate hope and joy. The life force is triumphant when love overcomes fear.
Both fear and love are deep mysteries, but the effect of love is to build whereas fear tends to
destroy. Love is often the plus factor that helps build character. It helps us to accept and to
overcome suffering. It creates lasting bonds and its reach is infinite.

It is true that there is no shortage of destructive elements, forces and people who seek to
destroy others and in the process, destroy themselves but at the same time there are signs of
love and life everywhere that are constantly enabling us to overcome setbacks. So let's not
look only at gloom and doom, let's seek out positivity and happiness. For it is when you
seek that you will find what is waiting to be discovered.

(1) The tests of life are its plus factors as: 1
(A) illness (B) suffering

(C) both (D) None



(2) what is required to see plus factors:

(A) A third Eye (B) change in focus
(C)Aand B (D) deep water
() IS tells the story of a mother.
(A) Jackson (B) Myers
(O) Bill (A) Karis

(4) What is the impact of saying on the writer?
(5) What are the forces of death and destruction?

(6) What helps us to overcome setbacks?
Find words from the passage which are opposite of:

(7) Unconscious
(8) Relaxed

(9-16) Read the given poem carefully and answer the following questions :

As soon as it's daylight, tomorrow,

You shall go with me to the orchard.

You will see, he has been there & made a great route.
And cracked the branches & strewn them about.

Sometimes he'll hide in the cave of a rock.
Then whistle as shrill as the buzzard cock.
Yet seek him and what

shall you find in the

Place ? Save, in the corner,

a heap of dry leaves.

That he has left for a bed

for beggars or thieves.

Universal powers work their own.
Truth is beauty, beauty is truth.
Life is to live, not to die.

Oh God! He is everywhere.

(C) IR is 'he' in the third line of the given poem? (1)
(A) Teacher (B) Boy

(C) Wind Cock (D) Girl



(10) You shall go with me to the ..................... (1)

(A) School (B) Orchard

(C) Office (D) House
(11) Truth is beauty, beauty is ................ (1)

(A) lie B) temporary

(C) nothing ( (D) truth
(12) What happens when someone tries to find the wind? (1)
(13) What has been done to the orchard by 'he' in the poem? (1)
(14) How does the wind come out of its hiding ? (1)
(15) How does the wind leave a heap of dry leaves in the corner? (1)
(16) Find the similar word of the following from the given poem: (1)

'Pile’
SECTION 'B'

(17) Write an essay in about 150-200 words on the given topic: (8)

Life is a gift of Nature
OR
Advantages and Disadvantages of Internet

(18) Imagine you are Sania/Sanjay of class 12" of Adarsh School, Ajmer. (8)
Write a speech in about 150-200 words to be delivered in the morning assembly.

'Habits and Students'
OR
Imagine you are Achu / Sid of class 12" studying in Convent School, Jaipur. Write an
article in about 150-200 words to the editor of the school magazine of your school on:
'Choosing Friends in Student Life?

SECTION 'C'
(19-20) Write on any two literary terms in about 40-50 words: (2x3=06)
(1) Impressionism
(11) Interior Monologue

(ii1) Indo-Anglian Literature
(iv) Metaphysical Poetry



(21-23) Read the following passage and answer the questions that follow:

At three '0' clock we left her to accompany Neruda to his sacred siesta, which he took in our
house after solemn preparations that in some way recalled the Japanese tea ceremony. Some
windows had to be opened and others closed to achieve the perfect degree of warmth and
there had to be a certain kind of light from a certain direction, and absolute silence. Neruda
fell asleep right away and woke ten minutes later, as children do, when we least expected it.
He appeared in the living room refreshed and with the monogram of the pillowcase
imprinted on his cheek.

(21) What is sacred siesta, write reference here? (2)
(22) Why were some windows opened? (2)
(23) How did Neruda appear after sleep? (2)

Answer the following questions in about 100 words:

(24) What made Tao Ying decide whether to buy a ticket or not when she rode a bus alone?

(6)
OR

What kind of life had Harry lived after he left home?
Answer the following question in about 60 words:

(25) What are the ways in which individual freedom gets restricted? [Freedom] (4)

OR

How, according to Lawrence, is Novel more effective than other genres of Literature?
[ Why the Novel matters]

(26-28) Read the extract of the poem carefully and answer the questions that follow:
[3x2=6]
Fly envious Time, till thou run out thy race,
Call on the lazy leaden-stepping hours,

Whose speed is but the heavy Plummets pace;
And glut thy self with what thy womb devours,

which is no more than what is false and vain,

And merely mortal dross:

(26) why has the poet pitted the flight of Time against the 'lazy leaden-stepping hours'?
(27) What is the reference of 'the heavy Plummets pace?

(28) Write the meaning of 'glut thy self .
OR



To Mercy, Pity, Peace and Love
All pray in their distress.
And to these virtues of delight
Return their thankfulness.
For Mercy, Pity, Peace and Love
Is God our father dear,

And Mercy, Pity, Peace and Love
Is Man, his child and care.

(26) Where has this extract of the poem been chosen from?

(27) Explain the line: "To Mercy, Pity, Peace & Love'.

(28) What are the virtues in the extract?

(29) Answer the following question in about 100 words:
Write the critical appreciation of the poem 'Kubla Khan'.
How do you explain the image of the 'HiI?dIZred flags'?

30. Answer the following question in about 60 words.

The Play 'Broken Images' is called a Monologue. Why is it made to turn dialogic?

OR
Write about the characteristics of Chandalika.
(31) Answer the following question in about 60 words:

Write a note on 'Save Tiger Committee'.

OR
What similarities did the tiger find between him and the captain?

(32) Answer the following question in about 100 words :
Write a character sketch of the Tiger.

OR
Write in detail about the Master of the text 'A Tiger for Malgudi'.
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Rt & forg |\ fAden

GENERAL INSTRUCTION TO THE EXAMINEES :

1. TR¥ereff Fdvem U U U WR AMiG Srfarda: ford |
Candidate must write first his/her Roll No- on the question paper compulsorily-
2. T U A a7 |

All the questions are compulsory-

3. UUh U Pl IR & Mg IR JRADI A 81 ford |

Write the answer to each question in the given answer book only-

4. 9 goAT & odR% Wus & S 9 & SN U A1 &) fored |

For questions having more than one part] the answers to those parts are to be written together in continuity-

5. U &1 IR forea ¥ gd Ue &1 HHie 31aeg ford |

Werite down the serial number of the question before- attempting it-

6. U39 UH & Bl g JUSH WURY H el gpR &I Ffe, 3R AT fRE™MRT 89 R 2=l
99T & 9% DI &1 el 7 |

If there is any error/difference/Contradiction in Hindi & English versions of the question paper, the question of
Hindi version should be treated valid-

7. U3 DB 16 W 22 H R Ahey 2 |

There are internal choices in Question No. 16 to 22 .



Yus — 3

SECTION- A

1. FgfAmedl U2 (¥ xv): 9 el & IR BT Hel [dhed a9 B IR gRaer H forfey |

Choose the correct answer from multiple choice question- (i to xv) and write in given answers book .

() T U= &9 © fRuer 3ift Uigeled Y&id & odd DI & 7 (1)
(31) Pret AT (|) offF¥F J§e
(&) = Rig () dort frfw

Who is the author of the book an essay on the Principal of populate on -
(A) Karl Marks (B) Thomas Robert malthos
(C) Yogendra Singh (D) Anthony Giddins

(i) SR DI | FHEFUT 3T DY T | (1)
(a1) 30, 31 (9) 29, 30
(|) 23, 24 (%) 24, 25

Which is the article related to minorities?

(A) 30,31 (B) 29,30
(C) 23,24 (D) 24, 25
(iii) 3rerTa &1 Rrgra fhaq | (1)
(31) He daR () ®rel AT
(%) geita () et
Who gave the theory of Alienation?
(A) Max Vabur (B) Karl Marks
(c) burkhiem (D) Paratto
(iv) S, <l il & qof &9 R 7 | (1)
(31) dRT® IR dg @) fawa =R |9
(@) fdeg muIRe HTe- (]) fa%a AUR HTeA

What is full form of W.T.O
(A) Global Trade Union (B) World Trade Union
(C) World Commercial Organization (D) World trade Organization



(v) TR afafa aefad 2|
(1) AR W 4

(&) Afzemll &

Sachar Committee related to
(A) Muslim Community
(C) Women

(vi) ATETRI® U= JMETRdT & |
(a1) et
(|) <

Communal Identity based on
(A) Ascribed
(c) Birth

(vii) TTTRIBROT B |
(31) TR # &
(%) TIfa BIT

Urbanization is -
(A) Live in urban
(C) Leave Village

() rgfaa STaTa |
(@) i fofr 4

(B) Schedule Tribe
(D) Third gender

@) arfota

(&) 9a<1 9 ST

(B) Achieved
(D) Ascribed and birth

(@) TR & ST el AT
(@) SURIET & | By 8l

(B) adopt urban life style
(D) None of these

(viii) 3= ATRTATATST 391 ST & oG®h © —

(@1) 3@, THUH. T
() difce

Writer of Urban Sociology In India
(A) Rao. M.S.A.
(C) Kotilya

(@) shfars
(®) Joil Sl

(B) Srinivas
(D) Mukherji D.P.

(ix) ¥RT H =TT LN BT YHATT Hd g °

(@1) 1751
(&) 1750

When In India tea industry began ?
(A) 1751
(c) 1750

(&) 1851

(%) 1850

() 1851
(D) 1850

(x) 1951 H TR ATQTEl B DT i &R AT |

(a1) 31.80

(9) 41.42

@) 17.29

(2) 31.16



In 1951 the decennial growth rate of the urban population was.

(A) 31.80 (B) 17.29
(c) 41.42 (D) 31.16
(xi) ' | ATE Al JId & ol@d B & —
(31) TR T IrEHCEM () SAfCaT et
(&) 4R (@) Mgt T
Who is the author of the book 'The Source of knowledge'
(A) Sir Sayed Ahmed Khan (B) Jotiba Phule
(C) Viresalingam (D) Michal Focoult

(xii) 71 & | DI fdgar gAfdars oI Wgfd UaM &R § 3R IH AR
T A B |

SIS CIRERISINN
() ST AR I (@) Sferad gRId
Who was Proponent of the remarriage of widows and found the Shastric sanction for it.
(A) Ranade (B) Vidya Sagar
(C) Raja Rammohan Roy (D) Julius Huxley

(xiii) STEH AT BT AT HTT g3 7

(o1) dvITeT H OESER

() derdaT H (@) R 4
Brahma Samaj was set up in -

(A) Bangal (B) Punjab

(C) Culcutta (D) Haryana

(xiv) fargeT eeare THfad & —

(a1) Afgensil & (@) =forar &

() ST | (@) gRRefasr &
Chipko andolan related to

(A) Woman's (B) Dalit's

(C) Tribe's (D) Ecology

(xv) ‘3Fd ISR TfHT & —

CREEUR] (@) sfuron #
() "_1ST H (3) ActaTe™ H

'Amrita Bazar Patrika' is
(A) In Hindi (B) In English
(C) In Marathi (D) In Malyalam



2. <6 Il 31 g7 SISy
Fill In the Blanks

i 2000 H o A AT BT ATIAT DT T

In 2000 .......... new states created.

.................. gaves the concept of SansKralization.

Ve e ATEIRTIHROT A ISR dTell Ygell FATST AT Sl a9 Ygel AT

BYIARd BlhY NG <97 47|

................ the first society to undergo industrialization was also the earliest to move from being

rural to a predominantly Urban country- .

v. XI5 Qe SR &1 RUE ... A DI BRIIET DI g |

The Report of the state Reorganization commission (SRC) was implemented on ................ .

Vi, TG e SiaT SR AT & SMUDHR BT qui BT 2 |

Article ..o, recognizing the sight of life and Liberty
vii, XTOTT TTHIRS M T gl AT faRie fohar |

Raja Ram Mohan Roy att acket the practice of.............. Pratha .

3. JffTeTeRNIHSB U

Very Short Answer Question
Short Answer Question =& Ugl B SR Udh uRe A éllﬁQ!

Give the answer of the following question in one line-
() ST faepe w8 ?

What is Population explosion"

(i) 9T H 2011 B STIVET & JFTAR BN GO IJUTd T © 7

What is sex ratio in India according to 2011 Concus.

(iii) <V dMYele Sifh fedT UUs Uil & ol@d $IF &7

Who is the author of the book the populating of India and Pakistan-




(iv) IRIR @& I3 T Wou forlay |
Write any two forms of family
(v)aTRIETRIGT &7 31ef forRay |
Write the meaning of- Communalism
(vi) AINTR® FATST | T 7T T3 & 2
What do you meant by civil society-
(vii) SATpfae fafderdr &1 @ aref 8 2
What is the meaning of cultural Diversity ?
(viii) ISR & AR | AT <1 aca faRau |
While two components have employment opportunities
(ix) SMENFTd FTHIST BT HIAT T B
What is Images of Industrial society
(x) TSR ATAIT — TR fee @ e

What is National Urban Mission.

s — ¢
SECTION-B

STESTRIY YT
4. ST AT HT a7 37k 272

What is the meaning of sex-Ratio ?

5. SUMARAIG & HRUT ST Fal § RI—aaT1 yRadd Ig?
What changes did colonialism bring about in the caste system?

. AIIEY SR AGad H IR forfey |
White the difference between matrilineal and Matriarchy

7. B9 by o1 & Pg Idd 2 fb ‘srgemar fa+ IRiRe & Sd-T g |Amafore oY |

In what Sence can we say that disability is as much a social as a Physical thing?

(o]

8. &FAIE T BIdT 27 SUD Pls &I BRI foIRau |

What is regionalism? Write any two causes

. <dfere fewoft forRay (frg! a1 oR)
(31) S (@) g1 fRUefidRor

[(e]



10.

11.

12.

13.

14.

15

(%) uRReavo () vfex
Write short note (any two)
(A) Caste (B) Secularization

(C) Westernization (D) Gender

Alhdd &l HET TR YhRT STfelv |

What is the Significance of Pressure groups in a democracy.

AGTGRl ®1 BRI ST BioH FT & ?

Why did Laborers have hassle working conditions
SERIGRUT 7 ISR & Uil B fbd TR waifad fear g 2

How has liberalization affected employment patterns in India ?

HYB Ud 9 A A=l & 7L AR gdrsy |
Distinguish between peasant and new farmer's movements
qeur A (e #iifsan) @ar 2
What is prints media
. ATt BT Uil a1 © ?
What is status symbol ?

SECTION-C

HEESNERCES]

Long Answer Questions

16

. SRS FehHuT BT Rigr forRau |

White the Theory of Demographic Transition

OR

YR ST B! 1Y YT Bl Hieed FRAT dIfoiy —

Briefly explain the Age structure of the Indian Population.
17. a1 T TR ATSAIBRY B YA fIRag |
Werite the Impact on of globalization on youth

OR
YATSHR FAR BT Hier quie HIfoTy
Briefly describe the global communication



18. TTRReIIPIT 3T BT FT 31T 8?2 BIs QT IQTERIT SIfoU |

What is meant by ecological movements Give any two example

OR

ST 3Tt IR Afere fewof forRay

Write a short note on Tribal Moment .
19. AT ¥ Jd U4 Wad 9Rd H A HISAT BT qfAaT forRey |

While the role of Mass Media before Independence and Independent Indie

OR
ST T Telifdo # er=R forRay
Write the difference between Radio and Television .
YUs— g
SECTION-D

BRI CES!
Essay Type Question (200 Words)

20. ITOTR 3R Sfcgare & FHIOLET TRYeT & 11T T A9 &7

What do you understand by sociological Perspectives on Markets and the economy
OR
Iufderare iR Y IIRT & AT A T =T FHId © 2
What do you understand by sociological colonialism and emergence of new market-
21. Jrfeardl Hey Wk Fde falay |
Write a essay on Adivasi struggles-
OR
RE@l @1 FAMFr 3R ARNGRI & I Fay &1 9ol S |
Describe The Struggle for women's equality and Rights .
OR
22. ITHIOT 9RA ¥ ST 9 99 9 3R 918y |
Describe the Distinguish between caste and class in Rural India

OR

ERA PIfvd & UTaTd YRA AT § T dSofTd 3T 2 |

What changes took place in Indian society after Green revolution.
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Aied U3 TS ST AAfe UNIeT 2024

fawa: wmiRe frem (PHYSICAL EDUCATION)
Def— 12

9L 36 T ofe: 56
GENERAL INSTRUCTION TO THE EXAMINEES :
1. TRIeTef AU SUe IR UF W AMie AR fod |
Candidate must write first his/her Roll No- on the question paper compulsorily-
2. 91 o AR a2 |
All the questions are compulsory-
3. UUh U Pl IR & Mg IR JRADI H &1 ford |
Write the answer to each question in the given answer book only-

4. 9 9oAT # <dR® Wrs & I 9 & SR U A1 &) fordd |

For questions having more than one part] the answers to those parts are to be written together in
continuity-

5. U &1 IR (oI ¥ gd U &1 SHHid 31aeyg ford |

Write down the serial number of the question before- attempting it-

6. U3 U3 & Rl 9 3T U # &l R &1 Ffe | 3 R 89 W)
a0 99T & U Bl T FE A

If there is any error/difference/Contradiction in Hindi & English versions of the question paper, the
question of Hindi version should be treated valid-

7. U3 hHIP 16 W 20 W <R fdded 2 |

There are internal choices in Question No. 16 to 20 .



gvg — ¥
SECTION-A

1. Sgfapd o= (1 9 xvi): 9 oAl & SR &1 |E f[Adhey T3 HR SR gRaaT o
ferRag |

Choose the correct answer from multiple choice question- (i to xvi) and write in given answers book.

() el "fere frd W & Hefdd 8 ? Y
(1) waEl @ (w) B 4
(@) R ® A (3) dsfiea

Sakshi Makk is Associated with which game
(A) Kabaddi (B) Wrestling
(C) Gymnastics (D) Badminton

(i) "y ugell Yol 2 U8 HUA Ha Pal ? Y
(31) R DS (@) s
(®) T (<) srzg

"Health is first Asset" who said this statement ?
(A) R- Cassidy (B) Hall
(C) Imerson (D) Aristotle

(iii) TR fRrem g B § 7
(31) THH PIeTA BT fAwT (|) S| H1ET &7 fdar
() smcHfIzard &1 A (T) SWRIFd A

Through physical Education
(A) Motor Skill Development (B) Team Spirit Development
(C) Self Confidence Development (D) All of the Above

(iv) T IR TR Hsel Rerd 2 | Va
(31) ufedrer # (@) IFRTEc H

(@) TarferaR # (@) =g faceh &



Hanuman Vyam Prasarn mandal situated at

(A) Patiala (B) Amravati
(C) Gwalior (D) New Delhi
(v) gaTforar et SRINT &1 TS g3l Ya
(1) 1951 (&) 1953
(|) 1955 () 1957
Mudaliyar Education commission established in
(A) 1951 (B) 1953
(c) 1955 (D) 1957

(vi) AFITISITE A9 ATIER U4 A4 @l $T AT & IJg HA (e dar ? Y,

(@) 71 TS (@) R frgre
(%) gead (@) T e A
Psychology is the study of human behavior and Human relation who said this statement .
(A) Crow & Crow (B) William McDougal
(C) Woodworth (D) N.L. Mann
(vii) TRT BT 21t B 7 Y
KIS (@)
(4) eregad (]) FAER
Meaning of Logas is :
(A) souL () Mind
(C) Study (D) Behavior
(viii) Taell Wol © T 3 dTel Wl & ? Z
(31) fshave gedra (@) <9 <f 9, dsffvea
(4) SIS, e (@) Rraiferar, wATA HUST
Indigenious Sports are
(A) Cricket, Football (B) Table Tennis, Badminton

(C) Judo, Golf (D) sitoliya,



(ix) TR Brem I faer sar & 7

(31) UhdT B Hra=T Bl
(|) 1Y 91T &1

Physical Education Develops
(A) Unity

(C) Team Sprit
(x) P, BT T D W 2

(31) JIER &

() v &

Poorak, Kumbhak and rechak are part of .

(A) Pratyaher

(C) Pranayam

(xi) sl UR SR T
31) YU

(
(|) o

Control of senses :-
(A) Pranayam

(C) Dharna
(xii) TNT BT HeT TR &

(1) TR
SIESIGINED
Basis concept of yoga is

(A) Physical

(C) Social

(xiii) 3MEAMICH TITH BT 37ef ® -

(&) i
(|) FETeirerarn

(&) T
(T) SWRIFd A

(B) Nationality

(D) All of the Above

(B) Pratyahaar

(D) Dhyan

(B) Mental

(D) Spiritual

V2

V2

V2

V2

V2



Isometric Exercises are related to :

(A) Speed (B) Strength

(C) Endurance (D) Flexibility
(xiv) 2IfaT T DI & ATIH A ST ST Fhdl & 7

C)RCIRKILIFE (@) emsa®

() IMgAIBISACH (3) SWRIad a4
From which exercise Strength Increases

(A) Speed (B) Strength

(C) Endurance (D) Flexibility

(xv) Fferd HISTH &1 MaeIHAl ©

(37) wfaa urd a=e & forg (@) dIv®s d@r @ forg
(¥) e & ggod1 & ey (T) SR A

Need of Balanced Diet is

(A) Acquire strength (B) For Nutrients

(C) Bones Strength (D) All of the Above
xvi) gifed & &Id &

(37) @/ Hoell () ver /gy

(&) AT/ Jerhell (T) SWRIFd A
Source of Protean

(A) Meat/Fish (B) Egg/Milk

(C) Soya been/Peanut (D) All of the Above

2. Rep <o &1 o HfT

(1 & X) Fill intheblanks (i to X).

Ishwar Pranidhyan means ...........cccc.uuuue. .

(i) AR DI TFBT ARAT oo I B
Pushing of wall is ........... exercise.
(iii) BIEeT® BT 31 o =

Meaning of Fartlek is ................... .

V2

V2

V2

V2

V2

V2



YMCA Established in .......ccccceeeeieennnns year

(v) SFORTSET AT feasd e &1 g9mar ST B
International Yoga Day Celebrates ...... Date.

(vi) ATSD BT oo SR

Meaning of Psyche is ................... .

(vii) "WIRT BT 3T .......... @I A8l dfcds Hedld d A DI MaLIHAT © |

'India need's football ground's not .................
(viii) fdre ufdreor fafer &1 e ... q ofed H foar e

In London Circuit training Developed by ........... .

3 SIS NNREA RS |

Very Short Answer Question

= el @ SRt ufe A Afsw
Give the answer of the following question in one line-

() TR fRrem /7 2 ?

What is Physical Eduaction.

(i) AERfd®s favrad @1 2 ?
What is culture Heritage.

(i) ITIR® e @1 g ST |
Define Physical Education.

(iv) T AR AT B 7

What is Sports Telecast .

(v) eTTaR ufdreror fafer @ & ?
What is Continuous training method .
(vi) gfa 9 &7 7 ?

What is Vegetable protein .

V2

V2

2

V2

V2

V2

V2



(vii) AT JMER DI IRET IRy |
Write Definition of Balanced Diet.
(viii) MRIE a1 © ?

What is Aprigrah .

4. IRIR® e &1 Seey forRkgy ?

Write AIMS of Physical Education.

5. ol TFABIRAT T & ?

What is Sports Journalism .

6. WU & aR ¥ forfy ?

Write about Motivation.

7. 31=aRTST Uf3eror fafey «m g °?

What is Interval Training Method.

8. YR Ufderor & Ix § forRau ?

Write about Weight Training (Method)

9. ol YfIEToT &Y Heeadr fIlRay ?

Write Importance of sport Training.

10. Th=81 UT= gyomamE & A9 forRgu ?

Write Name of any five Pranayam.
11. PEESsCd 9T & ?

What is Carbohydrates.

12. 99T T & ?

What is Fat.

13. f*ro| & df=gr Suim & 9™ forlRgy ?

Write Five Sub parts of Niyama .

14, ITRIRG Rrem & S22y uiftd & =T fIlRau |

SECTION-B

EECEURRES]

Short Answer Question

1'%

1Y%

1'%

1Y%

1'%

1'%

1'%

1'%

1'%

1'%

1Y%



Write steps to gain objective's of physical education.

15, W] Ifdd fdbrIe & IR § gdrgy ?

Write about smran Shkati vikashak.

Yvs— 9
SECTION-C

e TR

Long Answer Question

16. TRIRG e B Ad1 DI AR g Tars |

Explain role of physical education teacher.

31erdT / OR

IRIRG e &1 IRdfdd Wy TS |

Discuss correct concept of physical education.

17. UTOTIITH & O] $I [RARAYdS agy ?

Explain Components of Pranyama ?

372d1 / OR
IERT AN & 3N & [RARYd D FHRY ?
Explain the parts of Ashtang Yoga?

18. IR Rrerd @1 YT &1 fRdRydd forRay ?

Explain role of Physical Education Teacher ?

312747 / OR

IS AR & FfaR ol @Q ?

Explain Social Contribution.

Yurs— ¢
SECTION-D

BERCIREACLS]

Essay Type Question (200 Words)

19. INIR® 6T &1 fAeTerR e & 98 o JHgU ?

Discuss Importance of Physical Education in School Education.

1'%



31erdT / OR

IRIR® B & ufd 9\e gronu forlRgy ?

Write Misconception about Physical Education.
20. Ffda e & [IRYd®d g8y ?

Explain Personality Development
37T / OR

RO &1 Wl H AEaLIHdT bl [TRRYdS a8y ?

Elaborate the need of Motivation in Sports.
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I ATegAe UNIell, 2024

Senior Secondary Examination, 2024
THAT UR1-UA
Model Paper
oy — gaieRor fagm
Sub : Environmental Science
9T @ 03 TS 15 e qulich : 56

General Instructions to the Examinees

1. GRIeTefl FAYeH MU URH—UF S7UAT AR Iffardd: o |
Candidate must write first his/ her Roll no. on the question paper

compulsorily.
2. 1 e SR SIfard B |

All the question are compulsory.
3. U U Bl IR ol g SR—gRAdT H &1 o |
Write the answer to each question in the given answer-book only.
4, UTH—UF & 2= 9 USl ®UIdRl H &l geR & Jfe /R / fREmE g4
R BT 919 & YT &l &1 Fe! A |
If there is any kind of error/difference/contradiction in the hindi
and english vevsions of the question paper, the question of hindi

version should be treated valid.

Yls —



Section - A

1) f=faRed sgfawada gedl & I AR |

Give the answer of the following multiple choice questions.

i) IgHAYSA HT 98 WR TaH Falfde et g8 Sl &— (2)
3)  TRINGRR 9)  SIURBRR
F) HOIRIER T)  IMUARBIAR

The level of the atmosphere in which most water vapour is found-
A)  Exosphere B)  Troposphere
C)  Mesosphere D) Ionosphere

i) F=rferRad o 4 fgciiae arg ugus &— (V2)
3) AcHR ST ITHITSS (So2) §) Iggio S8 Sifass (Nog)

) OReIRI UHIeIsd S (PAN) ) BISsioid Aehlgs (HaS)

Which of the following is a secondary air pollutant ?

A)  Sulphur Dioxide (So2) B)  Nitrogen Dixide (Noz)
C)  Peroxiacetylnitrate (PAN) D) Hydrptgen Sulphide (H.S)
iii) FrefRad # ¥ aFiBRONRT T S— A
) AR Sl §)  gaqd ol
) Sfared g CYRCE|
Which of the following is a non- renewable resource ?
A)  Solar energy B)  Wind energy
C)  Fossil Fuel D)  Forest
iv) NAPCC &1 g&aTd gs— ()
3) A 2005 d) T 2009

) 9 2007 T) |9 2008



NAPCC Started ?

A)  Year 2005 B)  Year 2009
C)  Year 2007 D)  Year 2008
v) FrefoRad & 9§ diel § Saswerd &1 58 SRS o— (V2)

) AR ST JTRIZS (S02) d) PIad ST ATdAZS (COz)

W) TR YARI BIEF (CFC)  ©) A8¢d IiTaITSS(N20)
Which of the following is the main factor of necrosis in plants ?

A)  Sulphur Dioxide(S0,) B) Carbon Dioxide (COz)

C)  Chloro Floro Carban (CFC) D) Nitrous Oxide (N20)

vi) TSI e BT & HRD o— (2)
3)  CFC §)  N20
) €O T)  CHa

The main factor in ozone depletion is -

A)  CFC B) N0
C) cCo: D) CHs
vii) difead Forg feaw d&fa 8 — (V2)
3)  SffieH §) 3N
) Sledry 3) OR Sl
What is the Montreal protocol related to ?
A)  Oxygen B) Ozone
C)  Water Vapour D)  Solar Energy
viii) JATEROT HRETOT STEARIH TN g3l — (V%)
3) I 1986 q) 9 1989

) AT 1991 ) 9T 2000



Environmental Protection Act came into force -

A)  Year 1986 B)  Year 1989
C) Year 1991 D)  Year 2000
ix) 3l a9t AT 8— (V2)

3)  IIA+IIUEHA

) AorIRe FI+ATSICD 3T

) TR TR BrET+ASgo S8 SifRIgs

2|

3) I+ ARSI
Acid rain is a mixture of -
A)  Benzene + Benzopyrene
B)  Sulphuric Acid+ Nitric acid
C)  Chlorofloro Carbon + Nitrogen Dioxide
D)  Methone+Sulphuric Acid

x) FfeRaa & 9 fa Silam] 4 SIfed ATal & Fliaor @F ear ars Il

g7 (V%)
J) SN s q) NI LIl
)  derafue 3)  Sudth 9l

Which of the following bacteria has the ability to degrade complex compounds ?
A)  Pseudomonas Putida B)  Ralstonia Eutropha
C) Klebsiella D) All of the above

xi) frfoRaa & 9 fog Sfary] & oR—a T el SIar g— (V2)
3) e RAfIuRd 9 gSAAN™ s
H)  NSOlfdId YHAARRE §) SR

Which of the following bacteria is called 'Superbug' ?
A)  Bacillus Thuringiensis B) Pseudomonas Putida

C)  Rhizobium Leguminosarum D) Xanthomonas



xii) 9T AR UT BT & (V2)

&) i d) B8l

H) DYl 3)  Hael
Vermicompost is obtained from ?

A) Hen B)  Tortoise

C) Earthworm D) Cattle

Xiii) I~ B dTel WA & AR WR S Hax Bl fdha-il AN F afigd Had

g 7 (2)
&) dH q) TR
§) 9 g O

How many categories solid waste is classified based on the source of generation ?

A)  Five B)  Four
C) Seven D)  Three
xiv) fre=ferRad § | P19 7199 SIfd efuer © °? (V2)
%) P @ g
%) ATy 9 I
Which of the following is a man-made disaster ?
A) Earthquake B)  Tsunami
C) Volcano D) War
xv) FFrefeRad & & fRae! siee™ @& oH @ &€ ? (V2)
31) Wl UIed 9)  gavdrdd ggon
) BHAT TS RGN

Who among the following is the father of "Chipko Movement" ?
A) Medha Patkar B)  Sundarlal Bahuguna
C) Kamla Prasad D) Kalyan Singh



2)

xvi) TR 91’ & 991 B 99 & forg EfaRad srerem g e (V)

) Ufad! fere™ q) g g
SRR RIAEE] T)  ulRRTH °ie 99mRl TG
The following movement was launched to save the forest of western ghats .
A) Appiko movement B)  Chipko Movement
C) Silent Valley Movement D)  Save Western Ghat Movement
Raa et @1 gff Hifme:
Fill in the blanks:
i) TSI R S A S ATl @ gl R ugad | Jaehl o1 (Vo)
The ozone layer prevents ............cceeeneeeee. form the sun from reaching the Earth.
ii) TRA ¥ UEAT SHI—HATD TGRS BT DI oo & forw fem a1 (o)
The first Eco-Mark in India was given to godrej company for............cccccuveeene. :
iii) aIoNg (ARETOT) ST oo DI AN BT | (2)
The Wild life protection Act ................. came into force .
iv) BT R @ JATIATY TTEICH B QR oo T g9t E (V2)
................. gases are formed during decomposition of solid waste.
V) I & A DI .o PHEd T | (V2)
The vibration of earth's crust is called ............
Vi) e & BICI, MeAThid, WUfdhdd A7 DNA &1 Je4 ol dTel!
AT B | (2)

................ is a small, circular, self replicable, double stranded structure of a DNA.

vii) IS R & foTU I WRBR 5T & Bl ... BIEGECEESER])
2 (72)

For wild life conservation, the state govern ment can declare any area as a




viil) TH@ g1 & HROT el AT BT &7l & TR AT Fearar g1 (V%)

Falling of rock material due to the force of gravity is called .............. :

ix) STet | ATSgT @ 3AfSrd A | Adord R # .o % AT B STl
= (2)
Excessive amount of nitrate in water causes a disease called .............. in newborn
babies .
> S &3 dael aafd I & forg €1 uga B 2 | (V2)
Areas like .............. are used only for growing vegetation .

FfeTRET Uedl & SR U weq IT Yo Ufdd # foilRay | (RIfreTgaRrcAsd ue)

Answer the following question in one word or in one a line. (Very short answer

type questions)

0) g Hbed w1 2 ? (1)
What is bioindicators ?

i) 9ae Solt | 3T RIT FHA & 2 (1)
What do you understand by wind energy ?

iii) enid &= / aRers b wgr T 7 ? (1)
What is silence zone ?

iv) STq SUARIGIOT 47 © 7 (1)

What is bioremediation ?

V) JORE | 997 STel Yol &1 IRARS faftrt & 9w faRay | (1)
Write the name of the traditional methods of rain water harvesting in rajasthan.
vi) faea &1 ggenm W 9% el i fehar Tar o ? (1)
Where was the world's first green bank established ?

vii) TIfaRYT Ygue B GRHTRT BT | (1)
Define environment pollutants ?

viii) TR ffaRio AT a1 § 7 (1)

What is biochemical oxygen demand ?



10)

11)

12)

13)

14)

15)

Yls — q

Section-B

THTRIHD Y : (SN Teg HHT T4 30 ITeq)

Short answer type questions: (Answer word limit approx: 30 words)
HY U fd UHR | I & Ui &=d 8 ?

How do agricultural wastes pollute water ?
Aol & A= WR s+ 9Tt B A g¥E fRkay |

Write any three effects of radiation on humans.

repfcre FATEl b1 fafer= Aol & ar H wfere o foffy |

Write briefly about different cate gories of natural resources .

3R- HHUAT T § ?
What is 3R- concept ?
STl AREAYT AT BT DIg A fervd forfey |

Write any three features of water conservation Act?

ST SRIfead T 7 ?

What is xenobiotics ?

S JMMAE | MY T TS © 7

What do you understand by bio- magnification?

I GuR &I WihT Iy & ar # faRag |

Write about the scraping method of land improvement .
TSI UIeidbiedl &1 faemyar foRag |

Write the characteristics of kyoto protocol .

JERIe wUARA Siral & a9 ey |

Write the benefits of geneticaly modified organisms .

T & gUHMET B DA BH [HIT ST FAhaT © 2
How can the ill effects of drought be reduced ?
IR Y & HROT Jd1=Y |

Explain the reasons for barren land .

(1/7%)

(1/7)

(1/72)

(1/72)

(1/72)

(1/7%)

(1/7)

(1/72)

(1/72)

(1/72)

(1/7%)

(1/72)



16)

17)

18)

Yvs — 9

Section-C

e STRIT U9 : (STR g AT TTHT 60 Q)

Long answer type questions: (Answer word limit approx: 60 words)

AR Holl AT 27 $9P Sced dI fharfafdy &1 Warferd gRT 9180 |

(3)

What is solar energy ? Explain the mechanism of its production with a linear

diagram .

arerar
Iy TIfh dabiieh R fewofl forfay |

Write a note on wind power technology .

fewoft forRgu 2
() g () <rarTe
Write a comment :-
(A) Tsunami (B) Wildfire

AT
RIS BT Ude= dH fHar S |Feam 7 2
How can landslide be mangaged ?
=1 i rferfem @ favany faRay |
Write the features of wild life Act .
SAdT

UTERUIR BT DI AR B H DIA—DId1 IR Ml 8 2

What are the obstacles of enforcing environmental laws ?



19)

20)

Ylsg — ¢
Section-D

frdeTHS U ([TR oeq HHT 120 )
Essay type question ( Word limit 120 words)

AT Yyl 7 € ? SHS Feildl IR JT YA USdT & ? 39d IAU B DI
a1 U forRay | @)
What is thermal pollution? What effect does it have on living beings ? Write any
two measures to control it .
SAdT
BRA T8 y9Tg 9T &7 dRqedh HHIA BT IR0 UR oIT YHTd 8 I8 & 7
What is green house effect 7 What are the effects of global warming on

environment ?

JHTheaR ¥ 3T RT FASIT & ¢ dHIGHIRST db-ld aHSE | (4)
What do you understand by vermiculture ? Explain vermicomposting technique .

arerar
YRA H WRAREIG WU 9 Ugad B9 dlell JAURIE Slol— IUaRY ol fafes
ferfRay |

Write the methods of traditional waste water treatment used in India .
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fawa — qeiFemTE
gy — 39gvC 15 fide quris — 80
1. Igaed B IAPIR —
%4 SEGED SICRIN gforera
RES 35 43.75
2. | 3fadE 21 26.25
3. | SHUART / 3rtHetad 16 20
4. | DI /HAifeTddT 8 10
AT 80 100
2 gel & UHRAR ABAR —
4. & | gfd g ot @r) | Geaie) | 9
1. | TS 15 1 15 18.75 29.42 15
2. | Raa = 7 1 7 8.75 13.73 05
3. | SAfTTgRIAD 10 1 10 12.5 19.60 20
4. | TYIRTHAD 12 2 24 30 23.53 85
5. | ATEITRIA 4 3 12 15 7.84 35
6. | MaeTH® 3 4 12 15 5.88 35
AT 51 80 100 100 195 fA+TC
fadhed AT - o8 ¥ U € H B
3. fawg a%g @1 PR —
sl [EERIERS! PR | faerd
1 | 9RO g9 8 10
2 | 3fUiue®s |3 8 10
3 | dlg wd o &3 8 10
4 | AN & U4 I <A 8 10
5 qreaTd <9 8 10
6 | gH B AR AR 8 10
7 | R=s, OF ud dlg g9 Uy 8 10
8 | UgAIZHR Ud ST €H 8 10
9 | URHl Ryag, Ud Rl gq U 8 10
10 | ¥ |IEW[A1, U4 e, qH9Td 8 10
AT 80 100
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A EH R AL ek
E E E E
1| e g 22) |1y | 11 4%(1) | 8(5)
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3 |dlg U@ o9 g3 33) | 1(1) 3%(1) 1(1) 8(6)
4 | IRT S U9 IS g9 22) 1(1) 21) | 3%(1) 8(5)
5 | UreErd <M (1 | 11) 1(1) | 2(1) 3%(1) 8(5)
6 | &H P AR AR 1 |10 231 | 3%(1) 1(1) 8(5)
7 | &=, OF ud dig g9 U 1(1) 1(1) 2(1) 4%(1) | 8(4)
8 | UL Ud SwIM g iy |20 2(1) 1(1) 2(1) 8(6)
9 IR RyeRg, T dreil & F geT 1(1) NONEI 42) 8(5)
10 | e ?T%&{IFIT U AdeH, FHYT 1(1) 1(1) 2(1) 4%(1) 8(4)
AT | 1s(15) | 77) | 565) | 84) 3G) | 8@y [ 6(2) | 4() 22) | 8(4) | 6(2) 8(2) | 80(51)
3531) 21(10) 16(8) 8(2)
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AreafAS R 918 ST, AR
Hiscl U3 U3 STE HEAHG NI 2024
v g9 I (PHILOSOPHY)
PE— 12

|q9g: 3 "¢ 15 fiFe gufe: 80
GENERAL INSTRUCTION TO THE EXAMINEES :
1. TRIeTef AU JUe IR UF W ARG AR fo |
Candidate must write first his/her Roll No- on the question paper compulsorily-

2. Y U9 B AR B

All the questions are compulsory-
3. UId YT BT IR & 5 IR GRADBT H &l o1 |

Write the answer to each question in the given answer book only-

4. 511 U991 & 3TaR® Wos & S 949l & S0} T a1 B ford |

For questions having more than one part] the answers to those parts are to be written together in
continuity-

5. U &1 IR T & gd U &1 i 31aeyg ford |

Write down the serial number of the question before- attempting it-

6. U39 UF & =<l 9 IS HURYT # el TR &1 Ffe | o R 8 R
3= w91 & T Bl E e A |

If there is any error/difference/Contradiction in Hindi & English versions of the question paper, the
guestion of Hindi version should be treated valid-

7. U9 hHIPb 16 W 22 W <R fdbed 2 |

There are internal choices in Question No. 16 to 22 .



Yvs — H
SECTION- A

1. GG 7= (9 xv): 77 UeHl & SR &I \E AP T HY S gRadr A
ferfay |

Choose the correct answer from multiple choice questions (i to xv) and write in given answers book .

() 731 8 — 1
(1) T groft @) difgs uroft (e )
(&) <rorifad yroft (@) 3H & PIs 8!
Manis a -
(A) Social animal (B) rational animal
(C) Political animal (D) None of these
(il) R T3 DY SART BT BT T — 1
(31) 3= () megTicqsd Hany
(¥) 3 (2) =T
It is the reason for the origin of Indian Philosophy.
(A) ignorance (B) spritualness dissatisfaction
(C) sadness (D) disease
(iii) SUMNET ¥ FR{or 989 BT HEl AT 7§ — 1
(a1) 3rUN §gH (|) W §gq
(|) HTPR d8q () 9roT §8H

Nirgun Brahama has been describe in the Upnishads.

(A) Upper Brahama (B) para Brahama
(C) Incarnate Brahama (D) Pran Brahama
(iv) TG BT AEaRIRG deT & 91 U fha der ? 1
SHREEE] (a) rien
(%) fader= (@) oRfa=
Who called Geeta the best book of practical Vedanta.
(A) Tilak (B) gandhi

(C) Vivekananda (D) Aurobindo



() AT G D oEd R —
(o1) g BT

(@) eiter

The writer of Yoga-sutra is
(A) ishwar Krishna

(C) Patanjali

(vi) Ui eI o1 RIgT= © —

(31) S <3+
() derd

The theory of Pratitya samutpad is -
(A) Jainism

(C) vedant

(vii) PRT & emfier 181 & —
(1) W gfte
(@) w=w AR

Not included in Triratna -

(A) Right Vision

(C) Proper Character

(@) fasmfogg

(%) =

(B) Vigyan Bhikshu
(D) Vyas

(@) dig <=

() wrHrat

(B) Buddhism

(D) Mimansa

(@) T=d =

() F=e Fia

(B) proper Knowledge

(D) Proper memory

(viii) TFERTET & TAR AT &I A3 B & 7

(1) <ira
(@) gt

@) A

SER

According to Shankeracharya, who is the shelter of maya ?

(A) Jiva

(C) Intelligence

(ix) aTae SfT I ' —
(31) 3rreel qatw fagm=

(|) arasiRe fa=m=

Western ethics is -
(A) Ideal science

(C) Practical science
(x) AT BT & B —
S)

QTR
(%) 3& BxT

(B) manas

(D) Brahma

(@) Ppor

(€) 379 o PIS T

(B) Arts

(D) none of these

() 2irderar
(€) 379 ¥ BIS T



Religion of fire -
(A) Blazing

(C) muke was

(xi) g &9 ¥ STIR DI AFT AT © —

God is considered in Hindu religion -
(A) Creater

(C) destroyer

(xii) Fea— &T eref ® —
(a1) wifcrep eargRern

o

(&) o

b GIRqT

The meaning of Rita is -
(A) Morul system

(C) Political system
(xiii) R e & % © —
(a1) & D g

(%) T M= Rig
Guru of Sikhism - is
(A) Guru Nanak dev
(C) Guru Govindsing
(xiv) IR €H H $IAR P BT AT B |
(87) sreRRmT

() AT,

In parsi religion it called God
(A) Ahriman

(C) Spenta menyu

(xv) BT Uq b o | FRd g —
(o7) ey e
() s

Sufi pant belong to which religion?
(A) Judaism

(C) Islam

(B) Coolness

(D) None of these

(@) gTetTdhdt
(T) SWRIFT A

(B) Adherent

(D) All of the above

(@) TSI el

(@) 37 | P L

(B) Social system

(D) None of these

(B) Kabir

(D) Shankeracharya

(B) Angra menyu

(D) Ahur mujda

@) surS A
() fo=g o

(B) Christianity

(D) Hindu religion



2. R <Al Y gfil g

Fill In the Blanks

1. PHHTY ATBRET oo HEraT

Karamnye vadhikaraste ................. kadachana

2. T T P IART ... A8 el

The origin of the word religion is from.................. .

5. dig 3 & FLIAR FRIGTD & TAD oo =

.......... is the father of nihilism theory of buddhism.

6. 'T U 3% GGT JID B AGD ..o g |

Platois a.......cccvvveeee. Philosophy

TR U

Very Short Answer Questions
Short Answer Question =1+ gl B SN Udh uRe A éllﬁq:

Give the answer of the following question in one line-
() srfaem = ® ?
What is Ignorance?

(i) =TT & STAR AT H IMUDT T AT 7 7

What do you mean by the concept of moksha according to charvaka philosophy?
(iii) ETTT B AR BT T HIFTT |

Explain the concept of swadhyaya.

(iv) SETH® g d T 8 ?
What is Dialectic method?

(v) RIS fr pea 27

Who is call an atheist?




(vi) TR d&T & AT 1Y |

Write four names of vedas.

(vil) ST &9 H STHIT RT 7 ?

What is ' Jhakat' in islamic religion.

(vii) ‘SR Treq BT T A T ?

What is meaning of the word 'Zharthusastra'

(ix) TR gouef S T 2

Which of four purushurtha ?

(x) STRTP—ATE@IAT ¥ 3MYSHT T dedd & ?

What do you mean by the religious Tolerance?

SECTION-B

TSR e

Short Answer type Questions

4. IIT €I P MRS ARFEl & A forRay |
Write the name of the eight fold means of Yoga Philosophy.

5. W fAdpT< b F=d & 3McHT b FTHT HlI ARAT BT |

Explain nature of soul in the context of Swami Vivekananda.
6. TBII DI AE AR B A |

Explain Descarte's method of doubt.

7. 99 3R U § @7 R T ?

What is the difference between religion and sect ?

8. 99 g9 & TGl H 3R BT Il IO |

Mention the difference in the sects of jainism.

9. 39T3 ¥ @ IR (YW & fdhal UHR & ? FHASEY |

How many types of evil according to Christianity. Explain

10. 19 o # ¥R &7 1 WHY ® 7 A |
What is the nature of God in Sikhsm ? Explain

1. URE! €9 & ol gl & FHssy |

Explain the basic principles of Zoroastrianism.
12. IIEH THATT | 3T T FHA & 2

What do you understand by the Sarvdharam sambhava ?



13. 3EAM & UG W™ BI—HF ¥ 8 ? FHsNed |
What are the five pillars of Islam ? explain

14, TR & # IR G F7 WHY T ? MY |
What is the nature of God in Tao religion ? explain

15. €Tffch AW BT Rl FaTRIDBT & ?

Why is a religious institution needed?

SECTION-C
ST U

Long Answer type Questions

16. dlg T B IATCIRB TR BT goi BT |

Describe the eight fold path of Buddhism.
312141 / OR
SF—-33F & Wgare Ngra &l 98y |

Explain the theory of syadvada according to jain philosophy .

17. WA fdddT< & ATAR A9 BT Hawd THS |

According to Swami Vivekananda the nature of man. explain
3721dT / OR
IRT —STH B AT AEAT B ARAT DIFoTY |

Explain the internal methods of Yoga philosophy.

18. =9 RIEeTd W wicl & faarT &7 fad=a=r Hifu |

Describe Plato's views on theory of knowledge

31219 / OR

GN«'LEI% CARSIN] Rﬁc&l*&‘l Pl ARAT B IGJIQI
Explain Aristole's theory of causation.

19. &9 BT RT3 8 ? g9 P WHY Dl FHASSY |

What is meaning of religion ? explain the nature of religion.
31141 / oR
RO SR # g9 & 3fqy Twffavor o1 wwemsy |

Explain the classification of trividharam in Indian context .



YUs—
SECTION-D
INEACINCARES
20. AT DI AT AHA DI AR qdeh W B |

Explain in detail ethics of Charvak.

312141 / OR
IRAR T2 &1 I3 [y a8y |

Mention main features of Indian Philosophy.
21. dig YA B IR IH—FAl I AT ARAT HIFY |

Exlpain in short the four noble truth of Buddhism.

311dT / OR
fvg &t @1 U faRivarett @) auiF @IfoTg |
Describe the main features of Hinduism.

31T / oR

22. g1ffd JERAT & RIg $I qHSTLY ?

Explain the theory of religious intolerance ?
31141 / OR
T TAGT ] U ATURIT T & 7 T3Sy |

What is the main concept of religious Co-ordination explain.




